LR B+ JRECESfn | Machine tool accessories

Machine tool Accessories

e e
13 = 15
O ERFAEERG EXRuE/ TRRAN e
S = Im
1:':1 s . . . . . . EF‘ =
=  Lathe Chuck Accessories Grinding machine disk / tool Wanli -
*& &
VAN SBS..KQL PFA PFD €7 PGAS GAM WD165 KT50 DF60 AP50 DT100 kv
& NO5 NO5 'L NO5 NO5 NO5 NO5 -‘:l: N06 NO6 <&
- B! ' \ -
by
—\,-1):‘;>L M~ 5 - @e R - _"_,.%
<& AERR AERR BEFR AR SEHFR WREES Witss e 1 2t BREESR 2t WREES 2t 20 WREESR e 1 &
= JRALHF AM =/ % =R =M S8y =M S5 g P S5 3738 BEHTR STRTFRES | EREINTRES T REATHESR | RHATHES | TABREES WREEEESE | DRHEEYESE | HEDE 5
R % R * R R R B R R B R R A R ¢ FE R R R FE R R T
=\ BRI - M E T KA AP25/30/46 BEEHVEI S 1 RHTFATHRR
g M17 MA17 M17 M18 NOG NO7 N
# - ~ - - o o
q Tz = R . .
=5 é g I v e | . Rl %R
NE = i C : ) NE
R - aBFRE FEE TRt FaEm Famt WEEKHF BREEE BERAR HE AR BERAA BERAR HERAR BERAR BERAR HERAR HERAR HERAR BERAEA
=CEE 2 R E 4 6 3 FRiEER T B AR 7 E/I0 S TC NETIE A ARREY | BEEMAERL | ERMKERL B IE 3541 E%HM TARMEERA | BRMEVEA i SRVEL £ MERDOBAR | EHPITER S SHisR
T] e % ARt EREH ERE EREH BRE B RE BRR A BRE BRE BRR B RE BRR A B B RE BRR A R T]
R ET)E R R FLHETIE AEEANE  LEATE-R % R 7D 7] B BAEVE & VRS HRBMNES ; IR R R RN
s 2 M20 M22 NO7 NO7 NO7 NO8 NO8 NO8 NO8- ¥ =
i -~
S g - - N
K e J N S
> k g
N - < = ¢ _
F3 7R EHIIE B ! ST AN | ERNR ) REOR ) ERAR mERAR kA s RERAR R A maia EEA RERA RERA F
_F_E_,_ 75 R B4R T P FE ETIE SRR I AL 2 B 7] R ol 8 TTHF HEEIRIE LRVHETIEE-F5 BV S | SRR TIIE )RR | BURERTIIETIE | BB ZE R TIIE T) B RV & VR & BRI E A 5 840 SEAE A SARNEELRHE| SAMECLHME |EARMEERHE| —KARBEELHME _F.;‘q.
N = REH # R H = REH R R AR HREH R R B R R R R R ¢ B R o
ERTEKAF TV HKEME 7] ok A RRIE-EH ERARL FRARLE BIERRKE AIHEAERL FRAERsL BRRHERL CMSP MSP..SA MTS A v w MCD u uw
T &t M23 M23 M26 NO9 NO9 NO09 N10 N10 N10 N10 N11 N11 T §t
* A i ’\ i . e
& ( . ! L = | £
4 P® & k[ g~/ —_— == b
R .. ] R
o ERIRL FRTIE T FRA R AR FRRK Rk R EHRRK R R 4 R Rk WA WEBHE B WARHE HWEBHE R WA WRBE WA WA BEAA WERHE ot
[ingEs FAEKAT | BRIV LARIE | %R Ok A bl B FRAERNARL | ARMERMARKE | ARERHERRL | AOERER R | AR P Rk = 1L P 3 5 Sk EAMERK BARBEERHA| MARERHA | SERAMRAE |BEASAAMRE BEDAMRE 1 E kR 380k B R WEKHRE | BRAOKHMEARE | BRMAEKHRE | EHEAMRE |MEESHARRE [ingts
% R % RE 2 RE ZRELH # REH % REC %R % R B B * R B35 R R R £ R R R 1 R R R R R R £ R
BE R MR e Sk AL KL ER20-2{f ER20-2i# ER20-3{1 ER20-3i# ER20-43#4{1 [B] 45 TR $t BRI E TR & & RT3 $t Vi VL VSU VSB sV A AS L sv CHM VB BE R
=
E.ﬁ_} M26 m27 m27 m27 m27 m27 M28 m37 M38 M39 N11 N11 N11 N11 N11 N11 N11 N12 N12 N12 N12 o
fith & R - ~ i g‘. : o fith &2
4= ™ 8- - = 5 3 € -4 = B Sl By R
ITE S - e~y : > TE
Yala) ERR K ERME N % E ERMENEE ERMH % B ERMZNEE ERME %R ER#z171 5 1 L L MRERR 8 EISE S B mst MEIRF N REIATN METRRH REIAFSH MEIRSN MEIAFH REIATN WETRAH MEIRFSN REIATN MEIRFH MEIRFSN Yala)
R R B ER20-13% ER20-2fl ER20-2i% ER20-301 ER20-3i% ER20-454{1 [E1 4% T £ E LRI A B TR S 2 R T £ —IFEMIAFH| FHERIAFH (FHEMFHIAFN| VSBIAFH SRTARA BRFN BEEIARN | BREIARH |BERWEERFNH FHEZFH 75 16 R VBILAFK/
R R B R+ *REH B *RE FREH *REH EREH FREH 8 T R £ R R BRELE R ERE R R BRE L R R =
2% E| B3R S E R K i HERBERL SMFEHFE AMFEHFE N\MFHFE 3 77 B 3 P Vs VSD 2% %)
fic 14 M29 M30 M31, M32 M32 M32 M33 N12 N12 [Ty
HLEE g ﬁ : : ' HLEA
TR SHFR FHFa FaER FHFR FHF FaF@ FHFR FHFa FaHF@ FHFi FaER FIhrE METRAFH WETRAFH L&
146 3 S ek 380187 Kk 75 8 W 33k =R Fa3 B B =M Fa SMEN FH | =A% FH | MUK BB oW R =M RETARH FHTIARH
= RE M = REH R L0 = REH ERE = REH = REH ERR = REH R E 0 BRES EREH
i,—;ﬁ =R FE A AEBAZM AFBBHZM RERBRSL RERBEL HERBKL RBRME - " - i,—;ﬁ
M33 M34 M34 M35 M6 M05 M06 x
+&2 . . oy ‘ &2
, ¥ ‘ 5 AE D)
Fatm FaEm FaEm FarEm TR W 8 W R WEER Wire cutti ng tool vise
SR ATER W% | N TER B85 [TARSMEARATHRZMBEHRE| TARMMEAAK| AELBRL eSS e N REE T Stz = =tz
ERE M EREH ERE ERE M EREH ERE EREH EREH EREH ERE ERE M

WPV50 WPV100 WPV150 WPV320

N13 N13 N13 N13 N13 N13
N 1 1" .\ _
- ﬁ @ ; ﬂ T~
%.E ZN nfﬁ/ﬁa A @ = |
H H H H H YR/ BRE N HYIEI/BRE N SR/ BB D YR/ BRE N ZNE/BRT D ZYR/BRE D HYIEI/BRE H
Milling machine vice / index plate B ot CN ankcortutdhl Beniv el B prpipsd YT oy
R FE R ERRH EERER BRRAF R FE R

38 FE 1% it I A 1 S AEXREH AEXEEA AEXEREM FEHER#H WEEER# FHABGE SREHNE EEXEEA FHAXEEA

MmWIA

R R SRR H SRR RS SRR H KR R SRR R R 8 SRR H Mechanical tools
RS R REREH | AEXAXEEMAES AEXERH 60 IR WEEERS | EANBMEEH SRENNAREE MEIAXREEA | GHEEXEER
5K B R B 4 5 ER PR BR ¢ 5 R R 4 R R PR R 5 R B ¢
TR Bk AR AE HEMAHSE

SRR TR ARl PRI SKFREE MR ST = BRI ERVIEHE $tNEREA DREXEs MuXEAd  MNEX FEGIHA FEEXEA

N15 N15 N15 N15 N15 N15 N15 N15 N16 N16 N16
; ﬁ (] G 9 e [}
R sER pER pER sER pER TR ER NRHESR NRHER TR ER e 5 1 B ) wan LT i wmi T
T P HE 18 % RUPA S ER R TREHBER | FEMHIER EATNEAL | GRS | bR SkER AL P A T #2087 BENEREN |PEGDBAEAN DREXEA | WEXEAN | WENEREAT | PEENREMAI |TEEDEEHB
s SRR SRR SRR SRR SRR NRTR TR NmIR NRTR TR NwTR AR TR TR TR MR NRITR

BNl PREXEANYHRREAN SHREX FRAMAN BAFREAMA BAHAFREAMA SHFREAH FANWFEEHNA AEHME  HE#EMEE
N16 N16 N16 N16 N16 N16 N16 N16 N16 N17 N17 N18
“ " iy
W o s S &>
B AL L AN BN R AN R R BT A HitE TR T R
BRABA/I | DREAMAN | SHEREAN | SHREREAN | FRABAN | BATREXEAN | BNTRXAAN | SHFRAGAN | FANKFREAN 5 EMmEE 73 I B REH
MHTR MHT A MWTR MHTA NI R MHTR WA TR MHTR MWT A MWTR MWTA




ERFERMH 5 I - £ o Introduction of

Lathe Chuck Accessories e hydraulic chuck

B
B
B

7 HE 7t Kl
A3 | B | B | BN | BRHD

FE i
S E R AR 1. 7 EEEIL For Safe Operation e & R 110, SHKTHHN, LAMRETL R RERES.
1 > W = THEMEE AP, HKIBIETIHFRE. HERIKBIET, WARNING DANGER 1.10.When machining a long work piece,support it with a center or steady collar.

HydrauIiC ChUCk Assembly Diagram ERIEARAM S RERH BN T, FREEFEAHT. R

Tailstock

Please operation the product according to the instructions carefully and read it carefully. §'&ﬁﬁiﬁﬁ§ﬁ§ﬂ§?ﬁ2]ﬂ*v =

EP We cannot assume responsibility for damage or accidents caused by misuse of the chuck, =4 ik, EF‘ o<
_F through noncompliance with the safety instruction. Danger by fly-out of work _': 75
I~ . S m

; g o s ; - iece,f it is too lon:
L1 R RERDERKR, SUXBFERE, WRAMEERE. Bl do not be supported
1.1.8WITCH OFF power before setting,inspecting,lubricating or
changing the chuck,to ensure operator’s safety.

7 ik
B 2

B
Support col lar Center

IJ i ON ‘
IRF (dhzs) TRIR B SRR ENFEEL
9 - T-Nut y—. m oo s o ease catehing the cperetor 111, THMT NGRS, T hEDREE ER0505LT .
’_=" Hand Ie(HOl |OW) N OFF O 1.11.When chucking components internally,reduce the hydreulic pressure by less than 50%. /_=" =
- S Soft Jaw i R =
+* 9 1 ﬁlm % 1. 2. HEBIEERT T YI7RAETHRIRAN R BT o %f%%%@h%%iﬁigﬁgm TR
- Grease 1.2.Never operate the selector valve and the solenoid valve during the spindle rotation. If have no down the hydraulic
[~al i ) ) th

wF (h0) Nipple o Fopusm ekl &
JAW CLOSED Manual operated valve EE m

Handle(Solid) DANGER

EMF
JAW OPEN

FRHE

Solenoid valve

F K
NE

F R
TE

T 8 HEIZH (thz)

BfERFHek MIH B~ ERK.

Causing fly-out of the workpiece

1.12. AR RE Rk
1.12.Don't attempt to modify the chuck.

1.3. AW EEERE L Y7 BT RSRE. 7] FI

Pl N t H ” 1.3.Don't exceed the recommended speed of the chuck. /‘Q,%‘o\)\ =

+ %% %NB'E unger Nut(Hollow) SIS AT B U DARSIHEA TR A 4 ?\\Y RGBSR LRI +

; j‘_ Coil Spring Steel Ball l ':' SEB T Tl BTN o S S 0. p IEI & Danger by function damaged of chuck. ; :‘j—'a_

- . 2 H Rotary speed and centrifugal force increase at the same time | - @ &5’ o -
_— . You may cause the work piece fly out by decreasing the _—

- N\ RAEIEE (P2 smpsi ; g s ¥ FEO _
F z:j] O e i RINZ 1 So you should choose the suitable speed according to the F z:j]
i D Nut(Hollo [ cutting conditions

& i Law Nu W) | Wedge Plunger 1 &

— H A} —
= : s

T &t [EE 4R 22 \ ENES . 14 REFRETZH, NNBHERTFX. 113, REEMA, =Mz HEEELTIER, SN2 ERURE—H. T §t

— Set SCreW 1.4.Don't start the spindle before closing the machine door. ;c l_ 1.13.When mounting the top jaw on the chuck,the position —
P 2=, shoud be the same,and mass of each jaw is as much as possible N
BIK 3880 T o U6 T Ko Close % & ‘lt i # R

Work piece or jaw may fly out while the door opening

R
B

L
i

R
B

o 71
IR CRCES

A Draw Tube(Solid)
%3

B

HLR
IR

FHFHERIK, HERNERE, HMMIHE.
Unbalanced mass will cause larger vibration of
the machine,thus in poor accuracy.

D N

RS FIRET

Hex.Socket

1.5 FABIRAF B Z R VFHE-

1.5.Don't exceed the max allowable of plunger input force. 114 SBIENSERT, 15 0BTE IR RSN
WA DB BT VFE,

WEERLTR R R B . 1.14.Never attempt to operate machine while under take alcohol or drugs. I 2
=

Head Screw
Sl D
ot o ot e s o Y /P
/ mack may b Gefored o broren. . ’r =y
& : ; Fear |
~ Chuck 3

O‘ BL
1.6 BB OESSIARA LI A, MRS RN, G5 P R R, NOL I
RIFFRE Y REF i bl

~
~
~
~ £

N 1.6.In case of power failure,some cylinders are fitted with check valves and Drugs Alcohol ﬁL f;'ﬁ

pressure relief valves.When power is restored,the solenoid valve resumes IR

‘ its normal function. 115 RN R, ENFRFERAT. =
(Bl L RSN, BiETH CETERRK. 1.15.Never attempt to operate machine with gloves and necktie worn —

P —
0N 2 % If power interruption may cause fly-out of the work piece.

% [
+8&

& 2
Cover EDT ‘@ B
ml X
(E2::) p s O‘
18 E THEERM SR N o
a ﬂ_\ Xy 2= 2 AS F T == INTERRUPTION Set the work piece to th:
the R RS R R e
Through Hole Type Non-Through Hole Type 1.7 GO, e R VSR RIS 116 RATREE Rk, R IeHs2 TH.
1.7. Soﬂja:vl'ﬁ high must in lh:a limit Bk EMEE 1.16.Never hammer chuck, jaws or clamped work piece.
§ § range of the max gripping force. . Special top jaw hight
E#EET sk N s - RS /_\
mig RERER g RAREE s EISALREI .. KRR gy Sansrs somion. . 168
Cylinder Draw Bar Chuck E4E4T Cylinder D B Chuck Chuck '
Adapter Adapter l ; Adapter raw Bar Adapter EF o
l i Cylinder i - ; o<
- ===0 1 - = ERAMBRNR, BRGHEEDRESRE. FEE
S DOWN 11 RS, SLRRERRR.
Ho—Xe = U 1.17 .Have to using eyebolt or lifting belt, when you mounting or dismounting clamp.
= 1. 8. BRI LIE K BRI R AT E Z JIAEHIE - RS
- = 1.8.Secure tightening bolts with specified torque. Top jaw mounting bolt B
SRLL A HENE Lifting belt
. Bolt Size  Tightening Torque NEARTIETERR
J3 EEH R 77 [E3E I E) M6 12.7Nm.(1.3kgf.m) / Without lifting belt will cause danger
— — M8 38.2Nm.(3.9kgf.m) \
Directional Directional Mmi10 72.6Nm.(7.4kgf.m) N—
Control Valve - Control Valve ?ﬁfk’fou‘;m ot
St B
ML s A & it = i P PR
_tiaE | HERE D SHERE B
Drain Hose T - — K % 5 1.18. RIFT AT, HEBETEWREF,
I Flexible Hose L Flexible Hose 9 ﬁﬁ%ﬁw&'ﬁ” . 1.18.When clamping work piece, make sure your hand not to be hurt.
[ *‘Ehfﬁ :I_ “‘Eﬁ 1.9.Don't miss to lubricate chuck.
[ s} St O AR S T E L : i RO L ARE T WE L
HERARS The Discharge Port Of Drain MERBHRE | The Discharge Port Of Drain BT, SRR
Hydraulic Pump UnitShould Be Located Upper The Hydraulic Pump Unit Should Be Located Upper The Lowering gripping force caused \?} <
Oil Level In The Tank Oil Level In The Tank by the shortage of oi / '«’Q&P
SEhE Grease nipple Q’b
Grease gun




FRFEEH i JEFE | Hollow hydraulic chuck

Lathe Chuck Accessories

— St — ]
SBL.. “IMehzSimE+a SB.. ZMebERE+E -
2-Jaw High Speed Hollow Power Chucks 3-Jaw High Speed Hollow Power Chucks —
o L = = < P \_——1 =
vl . = o u e &
? In A Z ® Q1 £ = ‘
3 e < — e
= =| [IES ! © 2 [3 AL T
| L7 | ° TR -
S5 —1g- o i K3
*& Saim Sain *&
N LLL s SBL-204/205 SBL-206/208/210/212/215 N £ 1
e B | 2DTK.. SB-204/205 SB-206/208/210/212/215
N - s | 3DTK.. N
& 1.Itis a center through-hole hydraulic drive chuck,suitable for processing square and 12— OB EmERSFE, EAFMI 1.lt is a center through-hole hydraulic drive chuck, suitable for processing a wide range =
K special-shaped strip material parts, can replace the hard claw. . KEFRETZNEH, EEHRE, £H of parts, such as bar, can replace the hard claw, using flange connection; e
TE 2.in automation applications, the manipulator can quickly load and unload workpieces. %éﬁﬁ*? ; 4 . 2.in automation applications, the manipulator can quickly load and unload workpieces. NE
1R >> Dimensions (mm) 2HEEMUNAFR, MWMETURFENRE T H. >> Dimensions (mm) K
24 Dimensions| 3
L
aw ~ R4 A [B|CHG| H | J K LM NI NJO IO P P IgR S|T U |V|W|X|Z%B
&= Type hé max | min | max | min | max| min Order &
Jz 3L SBL-204 110 59 85 4 - 70.6 26 4-M10X1.5P - 14 23.1 20.1 11.5 6.7 3.5 -6.5 23 10 17.5 2 M32X1.5P 12 24 49.5 701100 SB-204 110 59 85 4 - 70.6 26 3-M10X1.5P - 14 23.1 20.1 11.5 6.7 3.5 -6.5 23 10 17.5 2 M32X1.5P 12 24 49.5 701200 s 3k
SBL-205 135 60 110 4 96 82.6 33 4-M10X1.5P 15 14 26.5 23.8 19 6 1 -9 2510 19 2 M40X1.5P 12 31.5 62 701102 SB-205 135 60 110 4 96 82.6 33 6-M10X1.5P 15 14 26.5 23.8 19 6 1 -9 2510 19 2 M40X1.5P 12 31.5 62 701202
_ SBL-206 168 81 140 5 116 104.8 45 6-M10X1.5P 16 20 32.0 29.25 24 7 1 -1 3112 19 2 M55X2.0P 20 37 73 701104 SB-206 168 81 140 5 116 104.8 45 6-M10X1.5P 16 20 32.0 29.25 24 7 1 -1 3112 19 2 M55X2.0P 20 37 73 701204 _
Ff) SBL-208 210 91 170 5 150 133.4 52 6-M12X1.75P 18 25 38.7 35.0 30 10 14.5 _1 ¢ 36 14 20 2 M60X2.0P 30 39 95 701106 SB-208 210 91 170 5150 133.4 52 6-M12X1.75P 18 25 38.7 35.0 30 10 14.5 __11055 3514 20 2 M60X2.0P 30 39 95 701206 Ff
<& SBL-210 254 100 220 5 190 171.4 75 6-M16X2P 19 30 51.0 46.6 34 12 8.5 ~10.5 40 16 25 2 M85X2.0P 40 43 110 701108 SB-210 254 100 220 5 190 171.4 75 6-M16X2P 19 30 51.0 46.6 34 12 8.5 _1;5 40 16 25 2 M85X2.0P 40 43 110 701208 *&

—_— SBL-212 304 110 220 6 190 171.4 91 6-M16X2P 2530 61.3 56.0 46 12 8 _15 50 21 28 2 M100X2P 50 51 129 701110 SB-212 304 110 220 6 190 171.4 91 6-M16X2P 25 30 61.3 56.0 46 12 8 _15 50 21 28 2 M100X2P 50 51 129 701210 _—

T4t SBL-215 381 133 300 6 260 235.0 117.5 6-M20X2.5P 28 43 82.7 77.4 46 13 8 4z 6222 42.5 5 M130X2P 60 66 165 701112 SB-215 381 133 300 6 260 235.0 117.5 6-M20X2.5P 28 43 82.7 77.4 46 13 8 62 22 42.5 5 M130X2P 60 66 165 701212 Tnst
\\Efme”SiO”S BILER |HETRE| TUTRE-ER FiFsER BN BRRIEN FEBCMEL | FIFEE \\\D\ime”SiO”S BALER |HETE|YTE-ER BiFiER BN BRI FEBCMEL | IFEE FRES .

R L \\ET-" Thru-Hole Plunger | Jaw Stroke Max. Speed Max Pull Force Max Gripping Matching | Gripping Range | Max Pressure Mg R Thru-Hole Plunger | Jaw Stroke Max. Speed Max Pull Force Max Gripping Matching | Gripping Range | Max Pressure R
EiH Type . Dia Stroke Dia r.p.m (min™) kgf (KN) Force kgf (KN) Cylinder kgf/cm?*(Mpa) Type Y Dia Stroke Dia r.p.m (min™) kgf (KN) Force kgf (KN) Cylinder kgf/cm?*(Mpa) EiH
Bic 4 SBL-204 26.0 10 5.4 8000 920 (9) 1930 (19) SH1036 7 110 15.5 (1.5) 3.6 9000 SB-204 26.0 10 5.4 8000 1428 (14) 2850 (28) SH1036 7 110 24(2.3) 3.8 9000 [ingts

SBL-205 33.0 10 5.4 7000 1100 (11) 2430 (23) SH1036 12 135 18.5 (1.8) 6.5 8300 SB-205 33.0 10 5.4 7000 1730 (17) 3550 (35) SH1036 10 135 29(2.8) 6.0 8000 _—
FE;H‘E SBL-206 45.0 12 5.5 6000 1400 (14) 3750 (37) SH1246 14 168 18.5 (1.8) 13.0 9300 SB-206 45.0 12 5,5 6000 2140 (21) 5700 (56) SH1246 13 168 28(2.7) 12.5 9000 FE;H‘E
W SBL-208 52.0 16 7.4 4800 2200 (22) 5700 (56) SH1552 16 210 17.0 (1.7) 22.5 10300 SB-208 52.0 16 7.4 4800 3350 (33) 8350 (82) SH1552 16 210 26(2.5) 22.0 10000 W
4 B SBL-210 75.0 19 8.8 4200 2800 (27) 7420 (73) SH1875 31 254 18.0 (1.8) 35.5 14000 SB-210 75.0 19 8.8 4200 4280 (42) 11000 (108) SH1875 25 254 27(2.6) 33.6 14000 e

SBL-212 91.0 23 10.6 3300 2680 (36) 9680 (95) SH2091 34 304 18.0 (1.8) 52.0 19300 SB-212 91.0 23 10.6 3300 5500 (55) 14300 (140) SH2091 23 304 27(2.6) 55.3 19300
I8 SBL-215 117.5 23 10.6 2500 4700 (46) 12100 (119) SH2511 37 381 17.0 (1.7) 103.5 30000 SB-215 17.5 23 10.6 2500 7200 (71) 18200 (178) SH2511 42 381 25(2.4) 106.8 30000 IR
A A

—_ oia kS o —_ o s —

_fi*lJ 2DTK. . —MNHESKIBFLiGEFRE  2-Jaw Large Thru-Hole Power Chucks >> Dimensions (mm) 3DTK.. =M KBEFLEEFRE 3-Jaw Large Thru-Hole Power Chucks >> Dimensions (mm) -
Zx & imensi Zx &
G G
WL 2DTK-206 168 81 140 5 116 104.8 45 6-M10X1.5P 16 20 32.0 29.25 24 7 1 =i| 3112 19 2 M60X2.0P 20 37 73 701500 3DTK-206 168 140 140 5 116 104.8 45 6-M10X1.5P 15 20 32.0 29.25 19 2 M60X2.0P 20 701510 HLEE
TE 2DTK-208 210 91 170 5150 133.4 52 6-M12X1.75P 18 25 38.7 35.0 30 10 14.5 -1.6 36 14 20 2 M75X2.0P 30 39 95 701502 3DTK-208 210 170 170 5 150 1334 52 6-M12X1.75P 16 25 38.7 350 30 10 14.5 -1.6 3514 20 2 M75X2.0P 30 39 95 701512 TE

z 2DTK-210 254 100 220 5 190 171.4 75 6-M16X2P 1930 51.0 46.6 34 12 8.5 ~—10.5 4016 25 2 M95X2.0P 40 43 110 701504 3DTK-210 254 220 220 5 190 1714 75 6-M16X2P 16 30 51.0 46.6 34 12 85 ~10.5 4016 25 2 M95X2.0P 40 43 110 701514 -
\\"t’jme”Si"”s BLER |HETRE|YTE-ER BiFiER BN FEBLMEL | RIFEE FRED | HETRE | UTE-ER BiFiER BFRL D FEBLMEL SeiE
if?ﬁ L] \\\RT-" Thru-Hole Plunger Jaw Stroke Max. Speed Max Pull Force Max Gripping Matching | Gripping Range | Max Pressure Plunger Jaw Stroke Max. Speed Max Pull Force Max Gripping Matching | Gripping Range | Max Pressure ir;ﬁ
+*& Type ~ Dia Stroke Dia r.p.m (min™ kgf (KN) Force kgf (KN) Cylinder i kgf/cm?(Mpa) Dia Stroke Dia r.p.m (min™) kgf (KN) Force kgf (KN) Cylinder Max | kgflcm*(Mpa) +*&

3DTK-206

2DTK-206 52.0 12 5.5 6000 1400 (14) 3750 (37) SH1246 14 168 18.5 (1.8) 13.0 13800 52.0 12 5.5 6000 2140 (21) 5700 (56) SH1246 13 168 28(2.7) 12.5 13800
2DTK-208 66.0 16 7.4 4800 2200 (22) 5700 (56) SH1552 16 210 17.0 (1.7) 225 15900 3DTK-208 66.0 16 7.4 4800 3350 (33) 8350 (82) SH1552 16 210 26(2.5) 22.0 15900
2DTK-210 85.0 19 8.8 4200 2800 (27) 7420 (73) SH1875 31 254 18.0 (1.8) 35.5 17900 3DTK-210 85.0 19 8.8 4200 4280 (42) 11000 (108) SH1875 25 254 27(2.6) 33.6 17900
— et = — P =
2JDB. . —m EP ika*ﬂiﬂﬂE—Fﬁ G H M . JTooth Distance -—.?- 3JDB. . :m I:Fl fﬁ.kTT?‘:’EI{QE—Eﬁ 6 H w Tooth Distance s
2-Jaw Large Stroke Power Chucks ™ fomm 3-Jaw Large Stroke Power Chucks Uf* I e
) (=T ) A
THRRE - MBARFELE, BKITE. I ; 1HRE - MBARFBALE, BKITRE. - | o]
2 BHMEYRBURBEWE, FHEEE. i 2 BHMEYRBURBEWE, FEEIE. 3 S
3ERI AR ETEE. \ o= =i 3 BRIMEN RS REEE. \ oY= e 0
4 REBBHASHERL—#, BA5Z <l e j e 4 REBELZASHERL—#, BAS5ZHEZ®, 8§ o -1t <|© I
HEXER, FeERRAT, - Th BRI = L
= El 5o
1.crank type 2 jaw super large through hole,super long claw stroke. 1.crank type 3 jaw super large through hole,super long claw stroke.
2.sliding surfaces are hardened and precision lapping 2.sliding surfaces are hardened and precision lapping {=—F ===
and lubricated directly. and lubricated directly. \—t
3.high rigidity structure and high clamping accuracy. 3.high rigidity structure and high clamping accuracy.
4.the way of installation and connection is the same as the hollow 4.the way of installation and connection is the same as the hollow chuck,
chuck, and it can be exchanged with it without changing the pull rod. B and it can be exchanged with it without changing the pull rod. >> Dimensions (mm)

3JDB—206168 97 140 104.78 82.563 116

2JDB-206 168 84 140 104.78 82.563 116 5] 18 45 65 -85 19 45 M55X2.0P 6-M10 15 37 73 20 2575 13.75 701550 ) 18 45 65 -85 19 45 M55X2.0P 6-M10 15 37 73 20 2575 13.75 701560
2JDB-208 210 96 170 133.35 106.375 150 5 23 52 7 -13 20 52 M60X2.0P 6-M12 18 38 95 25 2825 16.25 701552 3JDB-208 210 114 170 133.35 106.375 150 5 23 52 7 -13 20 52 M60X2.0P 6-M12 18 38 95 25 2825 16.25 701562
171.45 139.719 190 5 18 75 8 17 25 75 M85X2.0P 6-M16 22 43 110 30 3525 17.25 701554 3JDB-210 254 123 220 171.45 139.719 190 5 18 75 8 -17 25 75 M85X2.0P 6-M16 22 43 110 30 3525 17.25 701564

2JDB-210 254 110 220

il
hx
Block
Stroke

4748

Jaw
Stroke
Dia

Max
Thrust

Force(kgf)

Gripping
Force(kgf)

VRIES

Pressure
kgf/cm®

BIFER

Max Max. Speed

r.p.m
(min™)

FECHEL | REFEE

Matching
Cylinder

Gripping
Range

2JDB-206

il
1718
Block
Stroke

4748

Jaw

Stroke Thrust
Dia Force(kgf)

Gripping
Force(kgf)

VFRIES

Max

Pressure

kgf/ecm®

BIFER

Ma:

X. Speed

r.p.m
(min™)

Matching
Cylinder

39 27 3112 3-M6 13 26 1600 1760 18 3600 0.061 SH1246 10 168 144 13900 39 27 3112 3-M6 13 26 2400 2650 27 3600 0.063 SH1246 10 168 15,5 13900
2JDB-208 49.25 33.25 35 14 3-M6 16 28 2330 2750 17 3000 0.167 SH1552 10 210 23.1 16000 3JDB-208 49.25 33.25 35 14 3-M6 16 28 3500 4150 26 3000 0.175 SH1552 10 210 25,5 16000
2JDB-210 64.25 45.25 40 16 3-M8 22 32 3240 3800 18 2400 0.338 SH1875 18 254 425 18000 3JDB-210 64.25 45.25 40 16 3-M8 22 32 4870 5700 27 2400 0.347 SH1875 18 254 43.9 18000




R FEEH

Lathe Chuck Accessories Hollow hydraulic chuck

S=de ==
B s mnesaEts SH.. Zs R B AL
e 4-Jaw High Speed Hollow Power Chucks Super High Speed Hollow Rotary Hydraulic Cylinder W U v —
sz RI A B1 oSk
= 6-E1 T F1 _';.;q.
& _\ ] o
_ “ =2l N= —
v £ ﬁf ll - st
*& ] ] e &
T = -
— = P = Sl s -
S5 InHEEEEE 5 EniREEEEEE S5
+& 2 > ] &
———— T ] T i
)8 2_ )8
N 2-81 N
% b 1.2—Fd BT 1.lt is a center through-hole hydraulic drive chuck,suitable for processing F %
g MER R square and special-shaped strip material parts, can replace the hard claw. L J e
7] 2B B S, 2.in automation applications, the manipulator can quickly load and pM a1
unload workpieces. >> Dimensions (mm) n N
7B 7) B
=3 X B —Fh=Hj =R AR This is a high-speed through-hole rotary cylinder equipped with a diagnostic diagnostic valve &=
A XE—MERAFLEEE, BE TSRS s is a high-spee 9 y oy quipp 9 9 %
Jz 3L SBS-205 135 60 110 4 96 82.6 33 4-M10X1.5P 1514 28.5 23.8 19 6 1 -9 2510 19 2 M40X1.5P 12 31.5 62 701298 umm1$%aq&jj¥%‘|t|}§ ’i%% E‘E%]_é@?ﬁ, to prevent sudden power failure.Low weight; light weight; high speed slewing; large through-hole, Fz 3L
SBS-206 168 81 140 5 116 104.8 45 6-M10X1.5P 16 20 32.0 29.3 24 7 11 -1 3112 19 2 M55X2.0P 20 37 73 701300 3 Lj( & E J_._:‘_‘_*éﬁ_’ Ab\%*z:-‘ﬂ ’z‘é%ﬂlﬁlfﬁz‘ wider bar; optional installation.The rotary assembly is behind the cylinder (cooling link ring,
— SBS- 5 _ 1.5 2 BILK, BEEREr 2 , BEIREER f z
- BS-208 210 91 170 5 150 133.4 52 6-M12X1.75P 18 25 38.7 35.0 30 10 14.5 3514 20 2 MB0X2.0P 30 39 95 701302 el it N = LR {d s sensor, rotary assembly, etc.). e
Fah SBS-210 254 100 220 © 190 171.4 75  6-M16X2P 1930 51.0 46.6 34 12 85 195 4016 25 2 M85X2.0P 40 43 110 701304 HHEREISE, WABKER, R, EEENE. o =
<& SBS-212 304 110 220 2190 171.4 91 6-M16X2P 2530 61.3 56.0 46 12 Z45 5021 28 ¢ M100X2P 50 51 129 701306 >> Dimensions (mm) &
—_— SBS-215 381 133 300 ° 260 235.0 117.5 6-M20X2.5P 28 43 82.7 77.5 46 13 8 62 22 42.5 ° M130X2P 60 66 165 701308
T &+ T &+
. \Dimensions @7 iz | HEETRR| UTIR-ER| AR AVFRLS EESSP FERC L WREA SH1036  11.0 120.0 25 M4 12M10 127 88 68 15 38 64 4 M5 5 PT3/8 6 154 M4x15P 42 136 115 100 365 48 M2X15P 36 30 44.6 701402 .
BIK Mg \\\RT-" Thru-Hole Plunger | Jaw Stroke Max. Speed Max Pull Force Max Gripping Matching Max Pressure SH1246 11.5 126.5 30 M6 12-M10 134 98 76 15 50 76 4 M5 6 PT1/2 6 170 M52X15P 50 155 130 100 80 65 MS5X20P 46 36 52.9 701404 BER
R Type ™| Dia Stroke Dia r.p.m (min") kgf (KN) Force kgf (KN) | Cylinder kgf/em’(Mpa) SH1552  12.0 136.5 30 M6 12M10 145 110 87 15 55 85 4 M6 7 PT1/2 6 210 Ms8X15P 56 190 170 130 85 70 MEOX20P 52 36 59.6 701406 I #f
it 14 SBS-205 33.0 10 5.4 7000 1730 (17) 3550 (35) SH1036 10 135  29(2.8) 6.0 9000 SH1875 17.5 154.5 35 M6 12M10 162 155 101 15 80 108 4 M6 7 PT1/2 4 235 M8x20P 81 215 190 160 125 95 MEX20P 75 36 84.6 701408 it 4
—— SBS-206 45.0 12 5.5 6000 1630 (16) 4180 (41) SH1246 22 168  21(2.1) 14.2 10600 SH2091  21.0 168.0 35 M6 12M12 183 165 110 15 95 120 4 M6 7 PT1/2 6 160 M99X20P 96 240 215 180 140 100 MI00X20P 91 36 99.6 701410
BE R SBS-208 52.0 16 7.4 4800 2440 (24) 6000 (59) SH1552 25 210 19(1.9) 245 12000 SH2511  27.0 191.0 45 M6 12:M16 218 206 135 15 125 160 5 M6 7 PT1/2 7 302 Mi34X20P 130 310 275 230 166 140 MI0X20P 117 40 134.6 701412 BE R
oy SBS-210 75.0 19 8.8 4200 3160 (31) 8000 (78) SH1875 26 254  20(2.0) 38.0 16000 — — . — S
i SBS-212 91.0 23 10.6 3300 4080 (40) 10400 (102)  SH2091 35 304  20(2.0) 60.5 21600 ) E i LT T L B/ -
SBS-215  117.5 23 10.6 2500 5400 (53) 13600 (133)  SH2511 63 381  19(1.9) 111.5_ 30000 ion | P NGt = L2 U M0 Eorcs KVt
IA . (k. )| (LUmin) | puon sice| 42 pulSide| ## Push Side | %1 Pull Side I%
Bh SH1036 535 73 78 104 115 1765 -5 10 24 39 5 15 105 8000 0012 3.0 71 68  24.5(2500) 23.5(2400) 40(3.9) 10.0 5600 5
s e ) : | | ! . : !

— ADTK.. M= KBFLIGERE  4-Jaw Large Thru-Hole Power Chucks >> Dimensions (mm) SH1246 64 85 90 116 115 184 -5 10 25 40 5 15 125 7000 0019 3.0 100 89  36.2(3700) 315(3200) 40(3.9) 13.0 6300 —
% E| e SH1552 73 96 102 135 130 196 -5 17 25 47 5 22 155 6200 0053 3.9 160 150 57.0(5800)  54(5500) 40(3.9) 18.5 7300 & E|
~ SH1875 98 121 131 164 160 230 -5 20 25 50 5 25 180 4700 0096 4.2 198 183  71.0(7200)  66(6700) 40(3.9) 26.0 8500

Bic 4
SH2091 108 138 147 180 185 253 -5 25 25 55 5 30 205 3800 0.160 4.5 252 234  91.0(9200) 85(8600) 40(3.9) 37.0 12000
WL ER 4DTK-206 168 81 140 5 116 104.8 45 6-M10X1.5P 16 20 32.0 29.3 24 7 11 -1 3112 19 2 M55X2.0P 20 37 73 701520 SH2511 148 178 184 230 210 304 -5 24 25 55 6 30 250 2800 0500 7.0 348 336 123(12400) 119(12000) 40(3.9) 63.0 16000 WLER
TH 4DTK-208 210 91 170 5 150 133.4 52 6-M12X1.75P 18 25 38.7 35.0 30 10 14.5 -1.5 3514 20 2 M60X2.0P 30 39 95 701522 s _ TE
: 4DTK-210 254 100 220 5190 171.4 75  6-M16X2P 1930 51.0 46.6 34 12 85 ~10.5 40 16 25 2 M85X2.0P 40 43 110 701524 SHS.. FEERAERIETL (55~TED -
: Q1 P L2 6-L1 2-RC3/8
HETE|UTIR-ER | BFSER BN ERESHET Super High Speed Hollow Short 8:X2 —
if?ﬁ Plunger | Jaw Stroke Max. Speed Max Pull Force Max Gripping Matching Max Pressure Rotary Hvdraulic Cvlinder N1 y [ L . ir;ﬁ
—Eﬁ Stroke Dia r.p.m (min™) kgf (KN) Force kgf (KN) Cylinder kgf/cm*(Mpa) y Ay Yy oF——F" _Eﬁj.l
4DTK-206 52.0 12 5.5 6000 1630 (16) 4180 (41) SH1246 22 168  21(2.1) 14.2 15500 = q
4DTK-208 66.0 16 7.4 4800 2440 (24) 6000 (59) SH1552 25 210 19(1.9) 245 17900 [__ )
4DTK-210 85.0 19 8.8 4200 3160 (31) 8000 (78) SH1875 26 254  20(2.0) 38.0 20000 g €b
S R el i 4 S il O Al m ) { /AN I
4JDB.. PUNFZA(TIRREFR 5 o _ Jpeh Disance I SERRE STTTRGEE S 9 2 \ W
l— | . \45:7 4
4-Jaw Large Stroke Power Chucks u | = é; I b N w1 \
S Ak | = 2-RC3/8
— = s 4 v 4= 10 E o bz Qq
THFE - MBARFEILRE, BRTITRE. ~ | - - 2 l®¥la s = -
2. BHEHEBEURBEZRME, HERES. o o 4-Y V]
S ol 2 = ol ~ OEPoN 51N 12-M10X20
3 EAIMEMRERIHEE. . - G2 H G o
4.§%H%?§Fi§5¢ﬁ39§%—$$, AR5z 8| a BICEY J
HEXE, FTULERRT. 2 Q K RC
1.crank type 4 jaw super large through hole,super long claw stroke @ A45° i i
2.sliding surfaces are hardened and precision lapping >> Dimensions (mm)
and lubricated directly.
3.high rigidity structure and high clamping accuracy. —!:/ -
4.the way of installation and connection is the same as the hollow chuck, LJ E 45
and it can be exchanged with it without changing the pull rod. T & SHS428 90 120 96 106 80 44 13 4 33 24 57 89 124 M6X65 14 M33X15P 25 15 M3%X15P 28 30 28 90 1224 32 54 64 90 701420
SHS428B 90 120 100 106 80 44 13 4 33 24 57 89 124 MGX65 14 M3X15P 25 15 WMx15P 28 30 28 90 12 24 32 54 64 90 701422
SHS1036 105 140 115 124 100 48 14 -1 39 24 65 98 136 M8X70 14 MA2X15P 25 15 MX15P 25 42 36 100 12 30 42 65 74 105 701424
SHS1246 125 165 130 144 100 65 14 -1 40 25 70 103 141 MBX75 14 M50X20P 30 15 M52X15 29 50 46 105 12 36 50 76 85 116 701426
g SHS1246B 125 165 130 144 100 65 14 -1 40 25 70 103 141 M8X75 14 MS5X20P 30 15 MEX15 29 50 46 105 12 36 50 76 85 116 701428
4JDB-206 168 84 140 10478 82563 116 5 18 45 65 -85 19 45 M55X2.0P 6-M10 15 37 73 20 2575 13.75 701570 SHS1552 150 185 170 165 130 70 21 -1 42 20 75 111 151 M8X80 14 M§0X20P 30 15 MSBX15P 29 55 52 110 14 36 56 85 96 135 701430
4JDB-208 210 96 170 133.35 106.375 150 5 23 52 7  -13 20 52 M60X2.0P 6-M12 18 38 95 25 2825 1625 701572 SEEHA SRR AHESH
4JDB-210 254 110 220 17145 139.719 190 5 18 75 8  -17 25 75 M85X2.0P 6-M16 22 43 110 30 3525 17.25 701574 Piston A > eiRE AVTIE
- GD? iston Area(cm’) | Total Of Teage Max Pressure
N . B 2
RED | FiFEE | BMEE | BEWHE | FeE | 22 . . # Extend |5 Retract fit/min kgf/cm?(Mpa)
Max Max Max L Matching | CrPPING | oo SHS428 25 60 85 44 M5x6 78  M5X6 9 8500  0.028 50.6 48.3 1.8 45(4.5) 1.8 6000
Famrust | Gribping | Fressure | r.p.m kgme | Cyinder (ko) SHS428B 2.5 60 85 44 Msx6 78 M5x6 9 8500 0028 506 483 18 45(4.5) 18 6000
| oroe(kgf) | Force(kdf) | g Gaft™ SHS1036 25 70 102 54 Ms5X6 90 M5X6 15 8500 0047 67.5 60.5 25 45(4.5) 25 5600
4JDB-206 39 27 3112 3-M6 13 26 2500 2700 27 3600 0.063 SH1246 10 168 152 15500 SHS1246 25 76 120 64 M5x6 100 M5x6 15 8000  0.071 99.1 88.0 3.0 45(4.5) 30 6300
4JDB-208 49.25 33.25 35 14 3-M6 16 28 3600 4200 26 3000 0.175 SH1552 10 210 251 18000 SHS1246B 2.5 76 120 64 M5x6 100 M5x6 15 8000  0.071 99.1 88.0 3.0 45(4.5) 30 7300
4JDB-210  64.25 45.25 40 16 3-M8 22 32 5000 5800 27 2400 0.347 SH1875 18 254 43.9 20000 SHS1552 25 85 130 73 M6X7 110 Mex6 22 6500 0.129 135.3 125.0 3.9 45(4.5) 39 8500




IHR
AN

2 E
Be

HUR
IA

% [
+8&

R FEEH

Lathe Chuck Accessories

1L BT SKTIRE & S
1-JAW Long Stroke Solid Power Chucks = L il iy
T L] ]
Sl Q@ M o <
Z
HE . 5 -
7 1T T
U (JN-04, 05) (U]
1 L
K
()
(UJN-04, 05)
s p A

1T E—MhERSNFE, EFFmNI 1.lt is a solid oil driven chuck, suitable for machining.Special shaped parts can replace
FAUMEMR, BEERE hard jaws.
2HEBEHMUNAS, MIMEBTURENEETH. 2inautomation applications, the manipulator  can quickly load and unload workpieces.

>> Dimensions (mm)

1L-06 165 74 140 5 116 104.8 6-M10X1.5P 14 20 37.8 3355 18 7.5 1015 815 3112 36 4 M16X2.0P 34 39 73 702250
1L-08 210 85 170 5 150 133.4 6-M12X1.75P 18 25 46.3 4190 225 9 127 106 3514 36 5 M20X2.5P 38 42 95 702252
1L-10 254 89 220 5190 1714 6-M16X2P 20 30 51.4 47.00 375 105 158 133 40 16 36 5 M20X2.5P 45 46 110 702254

TiTiE-ERR BIFEEIR BIFERRIFN | SECHEL
Jaw Stroke Max. Speed Max Pull Force Max Gripping Matching Max Pressure
r.p.m (min™) kgf (KN) Force kgf (KN) Cylinder kgf/cm?(Mpa)
1L-06 20 6.5 5000 1220 3460 J-Y1020 22 165 19 (1.9) 13.0 10000
1L-08 21 8.1 4000 1630 4990 J-Y1225 24 210 16 (1.6) 25.0 11400
1L-10 25 9.0 3500 1930 7140 J-Y1530 27 254 19 (1.9) 37.0 14100
3GB. MM XAMERREFE SRanes - -

=

Compensating Power Chucks

ﬁ'i_ti
=
— 7 T —-j ﬁbooN
G Jd] - I__I_J B— \éik

E

sl

[T

1.Special fixture for machining shaft parts.Jaws have the function of pulling back and compensating

1THATHMIERRE, FMMTHEBRUMMIARENINGE, e : 9 Shaft parts. e o DS g Compen

GZERRBNRENTHMAENERN) - b WiMERAsER. G500 HERee (00 Bmone e 0 10 e, o068 (e foraue and puling foree
2. O R EE (EEM) « EREMARMEERMAEAILEEFE.  2.Use this kind of chuck on the axis as the datum (thimble location) and require the axis to have a
EME=ZRE, BAFRN (BITEE) , ZXHE. coaxality requirement

3.Use flange connection, universal jaws (self timming), easy to install.

;Eﬁr‘-f]ﬁ;'\]ﬁ%’r, IH#TR%E

EENAMENFRRE T AN, FIUIE, MuBEHLE,
S HLIRR M, B

MEBHAFAEZRXMBEN S, WeSHIHS
When the workpiece is clamped by a chuck without back pull and compensation,

the Jaw is raised and the shaft is pushed away from the center. If the force of the
tailstock can not overcome this force, the workpiece will bend.

°

The tailstock only needs to support the force of the workpiece, the chuck pulls the workpiece
to the center ejector, the workpiece does not bend, and the axle coaxiality is good; when the
outer diameter of the shaft is different from the axis of the center hole, the center hole is taken

as the reference, the compensation effect of the Jaw is highlighted. >> Dimensions (mm)

3GB-06 168 91 140 104.8 A5 15 27-42 36 60 85) M10 X 95 59) 20 10 702232
3GB-08 210 105 170 133.4 A6 17 30-50 36 70 44 M12X 110 75 25 12 702236
wMATRE | FTE | fyTe | BERNER SR | BVHED K EFRHEL
JawAngle | Jaw Stroke Oblique Cogipttennsatlon Max. Speed M‘?ﬁersutm Max Gripping | Matching
Stroke Ef#Z Dia Stroke sD?Ace r.p.m (min™) Kof Force kgf Cylinder
3GB-06 6 4 5] 5 3500 1500 3800 J-Y1020 0.2 13.0 12100
3GB-08 6 4.5 6 6 3000 2000 5400 J-Y1225 0.5 25.0 14100

PEBEFE

INL. . ZNh SR EF£
2-JAW Solid Power Chucks

1TR—MLOHMERSNFE, ERATMIARM
BN, BEEMB

2EBIHR AT, NS R E S E T .

1.It is a solid oil driven chuck, suitable for machining square andSpecial
shaped parts can replace hard claws.

2.In automation applications, the manipulator can quickly load and
unload workpieces.

Y Ho

Solid hydraulic chuck

w Q Q
— i /:\em
= @ @
o] * PEICINN PlOINN
7/ v 300 4 s 300
Bh T 5 _j,é:- ] - -_;.é:- 5
U ) 30° 30°
(JN-04,05)
s p £ R R
06/08/10/12 JNL-05

JNL-05 135 55 80 7 - 100 4-M8X1.25P 14 14 304 2720 1125 6.75 9
JNL-06 165 74 140 5 116 104.8 6-M10X1.5P 14 20 37.8 3355 18 7.5 101

JNL-08 210 85 170 5 150 133.4 6-M12X1.75P 18 25 46.3 41.90 225 9 127 106 35 14 36
6-M16xX2P 20 30 51.4 47.00 375 105 158 133 40 16 36
6-M16XxX2P 20 30 60.7 5545 47 11 163 133 50 18 36

JNL-10 254 89 220 5 190 171.4
JNL-12 304 106 220 6 190 171.4

>> Dimensions (mm)

6.0 2510 35

T
3 M12X1.75P 28 31 62 702099

5 815 3112 36 4 M16X20P 34 39 73 702100
5
5
5

M20X2.5P 38 42 95 702102
M20X2.5P 45 46 110 702104
M20X2.5P 50 54 130 702106

BHRA
Max Pull Force
kgf (KN )

BIFERRFFN
Max Gripping
Force kgf ( KN )

BIFEER
Max.Speed
r.p.m (min")

HETRE | YTE-EE

Plunger Jaw Stroke
Stroke Dia

=
e A T

Matching R: Max Pressure
Cylinder Sllds kgf/cm*(Mpa)

JNL-05 15 6.4 5500 800(7.8) 2450(24) J-Y0815 16 135 22 (2.2) 6.2 7650
JNL-06 20 8.5 5000 1220 3460 J-Y1020 22 165 19 (1.9) 12.5 8300
JNL-08 21 8.8 4000 1630 4990 J-Y1225 24 210 16 (1.6) 24.0 9000
JNL-10 25 8.8 3500 1930 7140 J-Y1225 27 254 19 (1.9) 355 12000
JNL-12 30 10.5 3000 2750 10300 J-Y1530 33 304 18.5 (1.8) 60.5 17300
2L.. ZINFhsEKITIEREFRE 2-JAW Long Stroke Solid Power Chucks >> Dimensions (mm)

2L-06 165 74 140 5 116 104.8 6-M10X1.5P 14 20 37.8 3355 18 7.5 101

.51 815 3112 36 M16X2.0P 34 39 73 702260

4
2L-08 210 85 170 5 150 1334 6-M12X1.75P 18 25 46.3 41.90 225 9 127 106 3514 36 5 M20X2. 5P 38 42 95 702262
5]

2L-10 254 89 220 5 190 171.4

6-M16XxX2P 20 30 514 47.00 375 105 158 133 40 16 36

M20X2.5P 45 46 110 702264

HETRE | UTIE-ER AVHER BYFRFRITN

FEECHEL FREN

Plunger Jaw Stroke Max.Speed Max Pull Force Max Gripping Matching & 9 Max Pressure

Stroke Dia r.p.m ( min™) kaf (KN ) Force kgf ( KN ) Cylinder kgf/cm?*(Mpa)
2L-06 20 13 5000 1220 3460 J-Y1020 22 165 19 (1.9) 12.5 10000
2L-08 21 16.2 4000 1630 4990 J-Y1225 24 210 16 (1.6) 24.0 11400
2L-10 25 18.1 3500 1930 7140 J-Y1225 27 254 19 (1.9) 8515 14100
2-JAW Long Stroke Solid Power Chucks >> Dimensions (mm)

2JLS. . ZNHF LB RITIEERERE

2JLS-06 165 80 140 5 116 104.8 6-M10X1.5P 14 20 37.8 3355 18 7.5 101

.51 815 3112 36 M16X2.0P 34 39 73 702282

4
2JLS-08 210 92 170 5 150 1334 6-M12X1.75P 18 25 46.3 41.90 225 9 127 106 3514 36 5 M20X2.5P 38 42 95 702284
5

2JLS-10 254 115 220 5 190 171.4

6-M16XxX2P 20 30 51.4 47.00 375 105 158 133 40 16 36

M20X2.5P 45 46 110 702286

=

N HETE | YTE-ER BIFERRFED
R Plunger Jaw Stroke Max.Speed Max Pull Force Max Gripping
. Stroke Dia r.p.m ( min™) kgf (KN ) Force kgf ( KN )
2JLS-06
2JLS-08 25 40 4600 1630 4990
2JLS-10 30 50 4000 1930 7140

shgr | RISEH
R | R

Matching Range Max Pressure

Cylinder kgf/cm*(Mpa)

J-Y1020 27 (2.6)

J-Y1225 23 210 25 (2.5) 24.0 17300
J-Y1530 24 254 29 (2.8) 36.5 20000

2 E
B

HUR
IA

% [k
+8&




FRFEEH R SCi@E R | Solid hydraulic chuck

Lathe Chuck Accessories

thzs — R e s
*8 IN.. =hiREFRE J-Y.. PELEIR M E B EL K P
— | 3-JAW Solid Power Chucks B W, Q Super High Speed Solid Rotary Hydraulic Cylinder L M 6
= 15; N o
g I — = @
T ==m) L e @9 o A: ==
s Q ‘8( MR of < 30°(*IN-21/ ==
JN-24:60° ) 1 B
Lo = ‘ ' J
> i5°
=3 > - . . r—T : T (IN-21/ L - =3
I \ = T [ IN-24:0° ) 17 B i } e w |3 o £
=1 Ul (JN-04/05)(L)E 0 30° Al h e o =
£ K = = - L i H £
EJIIN ®) 10 N EJIIN
(JN-04/05) £
ER S P_—r ER
NE NE
R . .
>> Dimensions (mm)
TIEE ‘ . B o N T B
1 E—MSEhERFE, ERATFMIKEELZT THEY, BEEINEME, EELELKRIGFELIR, KFR/; Aluminum alloy configuration, weight lighter than the traditional _—
& REEERAE N, FERAE=ARKE, EEIREEER, AR MEEERRE E BRI fa s rotary cylinder, small size; in high-speed rotation, can maintain =
] ’ e H . =114 B Be T AE K+ M DIEX o - ’ ’ N B i
sk 2HEBENURBH, NMMEBRTLURFENENT . ’ the stability of performance and reduce mechanical load. 3L
1.1t is a solid hydraulic drive chuck, which is suitable for processing wide —_—
F bar parts.lt can replace hard claw and use flange connection. ) F
8 2.In automation applications, the manipulator can quickly load and unload workpieces. > Dimensions (mm) £
= J-yost5s 80 15 112 90 65 25 165 M16X2.0P 30 175 102 74 119 45 30  6-M8X1.25 164 2-PT3/8 702300 -
JY1020 100 20 135 100 80 30 205 M20X2.5P 35 191 102 89 134 45 25  6-M10X15 179 2-PT3/8 702302
T &+ J-Y1225 125 25 160 130 110 35 250 M24X3.0P 44 198 102 96 141 50 25 12-M12X1.75 186 2-PT3/8 702304 Tist
_ X J-Y1530 150 30 190 130 110 45 310 M30X3.5P 45 207 102 105 150 55 25 12-M12X1.75 195 2-PT3/8 702306 —_—
BEIR JN-04 110 52 60 6 - 80 3-M8X1.25P 12 14 233 201 1125 825 18 30 23 10 25 3 M10X1.5P 26 27 53 702199 J-Y2035 200 35 245 145 120 55 37.0 M36 X 4. 0P 60 232 102 130 175 70 35 12-M16X2.0 220 2-PT1/2 702308 2R
e JN-O5 135 55 80 7 - 100 3-M8X1.25P 14 14 304 272 1125 675 9 -60 25 10 35 3 M12X1.75P 28 31 62 702200 ] ey
s JN-06 165 74 140 5 116 1048 6-M10X1.5P 14 20 37.8 3355 18 75 1015 815 31 12 36 4 M16X2.0P 34 39 73 702202 J o ! e ERER -
B JN-08 210 85 170 5 150 1334 6-M12X1.75P 18 25 463 419 225 9 127 106 35 14 36 5 M20X2.5P 38 42 95 702204 N Rt HEETE BIHEE g oil Lea’kage Rate Piston Area(om) WRESD Bt
—_— JN-10 254 89 220 5 190 1714 6-M16X2P 20 30 514 470 375 105 158 133 40 16 36 5 M20X2.5P 45 46 110 702206 Piston Stroke MAX Speed(min’) |  Inertia Gd" (kg. m) e Max Pressure kgf/cm’(Mpa) —
R JN-12 304 106 220 6 190 1714 6-M16X2P 20 30 60.7 5545 47 11 163 133 50 18 36 5 M20X2. 5P 50 54 130 702208 BK
Wi JN-15 381 114300 6 260 235 6-M20X25P 30 43 77.5 695 4875 2325 104 69 62 255 55 2 M30X3.5P 60 62 165 702210 J-Y0815 15 6000 0.010 0.8 48 43 35(3.4) 3.5 1850 i
JN-18 450 114 300 6 260 235 6-M20X25P 30 43 108 100 4875 2325 92 57 62 255 55 2 M30X3.5P 60 62 165 702212 J-Y1020 20 5500 0.040 0.8 75 68 40(3.9) 5.0 2150
TE JN-21 530 125380 6 330.2 3302 6-M20X25P 31 60 8 78 935 275 97 62 65 25 55 3 M30X3.5P 60 70 180 702214 J-Y1225 25 5500 0.080 0.8 19 110 40(3.9) 6.8 2500 TE
= JN-24 610 125380 6 330.2 3302 6-M20X2.5P 31 60 125 117 935 275 97 62 65 25 55 3 M30X3.5P 60 70 180 702216 J-Y1530 30 4000 0.180 0.8 173 157 40(3.9) 100 2500 =
A A J-Y2035 35 4000 0.380 0.8 310 286 40(3.9) 19.5 3300 Vi
- : HETE | TUTE-EE BYFER BN BUFBIIEH EELHEL | ° WHRESD [N VN G var s .
%%1%2 R+ Plunger Jaw Stroke Max.Speeg Max Pull Force Max Gripping Matching G&fﬁgrelg Max F’rzessure J-YS.. I:P *ﬁﬁlﬁﬂ& @tﬂlzﬁl (mﬂ:ﬁ”ﬂ) K p %%15&2
i p. in kgf ( KN Force kgf ( KN - . . . .
- B r-p-m (min") gf (KN) orce kgf (KN) |~ Cylinder kgffem'(Mpa) Super High Speed Solid Rotary Hydraulic Cylinder i » .
JIN-04 15 6.4 5800 775(7.6) 2325(22.8) J-yos15 8 110 22 (2.2) 4.1 7300 ) N
HLR JN-05 15 6.4 5500 800(7.8) 2450(24) J-yog15 16 135 22 (2.2) 6.2 7400 AR
IR JN-06 20 8.5 5000 1730(17) 5200(51) J-Y1020 19 165 27 (2.6) 13.0 8000 IA
— JN-08 21 8.8 4600 2440(22) 7440(73) J-¥1225 23 210 25 (2.5) 250 9000 —
JIN-10 25 8.8 4000 2850(28) 10810(106) J-Y1225 24 254 29 (2.8) 37.0 12600
R IN-12 30 10.5 3200 4080(40) 15500(152) J-Y1530 26 304 29 (2.8) 57.3 17300 B0 J ZE K
& JIN-15 35 16 2800 8260(81) 25290(248) J-¥2035 72 381 32.5 (3.2) 96.5 26000 — Il S &
JIN-18 35 16 2700 8260(81) 25290(248) J-Y2035 135 450  32.5 (3.2) 124.5 35000 W 68 —5 |T
JN-21 35 16 1900 8260(81) 25290(248) J-Y2035 70 530  32.5 (3.2) 180 46500 _—f—— |£ I
IN-24 35 16 1750 8260(81) 25290(248) J-¥2035 152 610  32.5 (3.2) 223 60000 3/ = %‘ o]
] 0 H
e | 4l )
3L.. =JNPSLKITIERIEFRE  3-JAW Long Stroke Solid Power Chucks >> Dimensions (mm) = :
Dimensions| —130) 2-M5X10 Eﬁ(\
an— 4 A|lBICIF 6 | H LM N/ N|O|O|P|P w0 | a0 [
Type ~_ h6 max | min | max min | max i ‘ Q
3L-06 165 74 140 5 116 104.8 6-M10X1.5P 14 20 37.8 3355 18 7.5 101.5 815 31 12 36 4 M16X2.0P 34 39 73 702270 : ‘
3L-08 210 85 170 5 150 1334 6-M12X1.75P 18 25 463 419 225 9 127 106 35 14 36 5 M20X2.5P 38 42 95 702272 a — =
310 254 89 220 5 190 1714 6-M16X2P 20 30 514 47.0 375 105 158 133 40 16 36 5 M20X2 5P 45 46 110 702274 - %E&%ﬂ}ﬁ;mﬁ%%%‘E’Egﬁgﬁg%ﬁg%d\; Aluminum alloy configuration, weight lighter than the traditional rotary cylinder,
— e = . . . s . =R BT, Al{R¥IFHEERIFEE KRGERHLM T g small size; in high-speed rotation, can maintain the stability of performance and
o HETR | UTR-EE | AR FVFRLN wipgsosn | mmEwE | SRR ppEs EE | & FRE T =R MTR, [hLCRTE AT FSeh RRE &4  reduce mechanical load.
“| Plunger Jaw Stroke Max.Speed Max Pull Force Max Gripping Matching Max Pressure Weight | Price REER, EKENMEESRSATUREFZEE, It is equipped with a high-speed diagnostic valve to prevent sudden drop of
| Stroke Dia r.p.m (- min™ ) kgf (KN') Force kgf (KN ) Cylinder kgfiem*(Mpa) (kg) | (RMB) ’ pressure during power failure, and many devices can be installed in both
3L-06 20 13 5000 1730(17) 5200(51) JY1020 19 165 27 (2.6) 13.0 10000 horizontal and vertical directions. 5> Dimensions (mm)
3L-08 21 16.2 4600 2440(22) 7440(73) J-Y1225 23 210 25 (2.5) 250 11400 Dimens}
3L-10 25 18. 1 4000 2850(28) 10810(106) JY1225 24 254 29 (2.8) 37.0 14100 Typo oy
_ . A
—_ =n / (= R x _ . .
3ULS. . =N LB KITIZRERE  3-JAW Long Stroke Solid Power Chucks >> Dimensions (mm) JYSO715 75 15 104 90 65 30 21  M20X2.5P 32 172 106 66 127 46 31 6-M8X 20 133 702399
J-Y$1020 105 20 135 100 80 30 21  M20X2.5P 35 197 108 89 152 45 25 6-M10% 20 158 702400
ClE & H LimM N| N | O O | P J-YS1225 125 25 160 130 110 35 25  M24X3.0P 44 205 108 97 160 51 26 6-M12X 24 166 702402
h6 max | min | max min | max i J-YS1530 150 30 190 130 110 45 31 M30X3. 5P 45 214 108 106 169 56 26 12-M12X 24 175 702404
3JLS-06 165 80 140 5 116 1048 6-MI10X1.5P 14 20 37.8 3355 18 7.5 101.5 815 31 12 36 4 MI6X20P 34 39 73 702292 S o e e e o T e W e U W O W e T S Lo M
3JLS-08 210 92 170 5 150 1334 6-M12X1.75P 18 25 463 419 225 9 127 106 35 14 36 5 M20X2. 5P 38 42 95 702294 ST . . o :
3JLS-10 254 115220 5 190 1714 6-M16X2P 20 30 514 47.0 375 105 158 133 40 16 36 5 M20X2.5P 45 46 110 702296 DN ¥ R iR e EERR BN HRER
N 1Ttz TR Oil Leakage Rate Piston Area(cm’ Max Pull Force KN(kgf) Max Pressure

Piston Stroke | MAX Speed(min™")

L/min # Extend | £ Retract | 4 Push Side | f Pull Side | kgflem'(Mpa)

Dmenson| pmfTiE | MUTIE-EE | AR YL wpgasn | e | FECOE | ppEn | Em | ag

Plunger | Jaw Stroke Max.Speed b [P (e e ChilaRle Matching | "Range Max Pressure | Weight | Price JYSO715 15 6000 0.003 0.8 44 37 16.6(1693)  13.9(1417)  40.8(4.0) 4.0 2000

Dia rp-m (min”) kg (KN') Force kgf (KN) |~ Cylinder |- Tiax | kofem'Mpa) | (kg) | (RMB) J-YS$1020 20 6000 0.013 0.8 86 79 32(3263)  29(2957)  40.8(4.0) 7.1 2500
3JLS-06 20 28 5000 1730(17) 5200(51) J-Y1020 19 165 27 (2.6) 13.0 16000 J-YS81225 25 6000 0.023 0.8 122 113 46(4691) 41(4183) 40.8(4.0) 10.0 3000
3JLS-08 25 40 4600 2440(22) 7440(73) J-Y1225 23 210 25 (2.5) 25.0 17300 J-YS1530 30 5500 0.048 0.8 176 160 66 (6730) 60 (6118) 40.8(4.0) 13.5 3500
3JLS-10 30 50 4000 2850(28) 10810(106) J-Y1530 24 254 29 (2.8) 37.0 20000 J-YS2035 35 5500 0.098 0.8 314 314 117(11930) 108(11013)  40.8(4.0) 22.0 5000




R FEEH

Lathe Chuck Accessories

thzs . e A —
+#z  SB.KAL AXF=Sz;FE
. Vertical Through-Hole Pneumatic Chucks
P
& A
_— e |
_— L ]
S
*& D|lE
F
£
BN )
cl
i]—?‘ﬁ G T H
NE . SBL..KQL
T EE ZRIFHEINEXNSHRNEH, RASREEWNMR, FEREGELTEREHLE, URESHEMWNAE.
e NEBEEZ, DRBKIE.
B
e sk >> Dimensions (mm)
F T (ER) | RIFES
& Jaw Stroke | Max Pressure
- (Mpa)
Fish SBL-206KQL 168 203 15 97 137 30 11 188 20 M8 47 7.8 0.4-0.8 20 165 703202 10700
N SBL-208KQL 215 255 17 107 148 45 13 238 25 M10 47 9.0 0.4-0.8 25 210 703204 12100
SBL-210KQL 258 297 20 114 160 60 13 278 30 M12 47 10.4 0.4-0.8 27 250 703206 14100
IR SB-205KQL 135 170 15 97 128 26 9 152 14 M6 22 5.4 0.4-0.8 16 135 703210 10000
=4 SB-206KQL 168 203 15 97 137 30 11 188 20 M8 47 7.8 0.4-0.8 20 165 703212 10700
1tk SB-208KQL 215 255 17 107 148 45 13 238 25 M10 47 9.0 0.4-0.8 25 210 703214 12100
SB-210KQL 258 297 20 114 160 60 13 278 30 M12 47 10.4 0.4-0.8 27250 703216 14100
- SBS-206KQL 168 203 15 97 137 30 11 188 20 M8 47 7.8 0.4-0.8 20 165 703222 12100
%H‘ SBS-208KQL 215 255 17 107 148 45 13 238 25 M10 47 9.0 0.4-0.8 25 210 703224 13500
W& SBS-210KQL 258 297 20 114 160 60 13 278 30 M12 47 10.4 0.4-0.8 27 250 703226 15500
o Ny
%i INS. ZRAER S FE
Vertical Built-in Type Pneumatic Chucks
22
G
HUIR
IA
k73
& H
[
B
| L
E j
q ‘ E
i @15
| I
HE Va m——] |
I L D
oC(H7) oA |

JNSL..

MATKR. gERMMI PO T HRESRS, SEERD, ERAAE, &t EK, BEUNRNARSE, REEE.

>> Dimensions (mm)

Dimensions| C %%Fffﬁ

D rippin

R A 7| D|E| F |G[H J G 2ripping
1% Dia kgf(KN Max|k
JNSL-04 148 110 20 15 90 117 27 53 14 130%0.2 M8x1.25 - - 10 5.2 765(7.5) 15 110 ! 0 703232
JNSL-06 203 165 25 15 95 131 36 72 20 185+0.2 M10X1.5 2-M8X1.25 3-M8x1.25 12 5.2  2150(21) 23 165 6(0. 6) 15.0 703234
JNSL-08 248 210 36 15 106 148 42 95 25 230+0.2 M10X1.5 2-M8X1.25 3-M8x1.25 14 6.3  3365(33) 30 210 6(0.6) 26.7 703236
JNSL-10 300 254 50 16 110 156 46 110 30 280+0.2 M12x1.75 2-M10X1.5 3-M10X1.5 16 6.3  2390(24) 50 254 6(0.6) 40.8 703238
JNS-04 148 110 20 15 90 117 27 53 14 130%0.2 M8X1.25 = = 10 52 765(7.5) 15 110 %% 7.5 703242
JNS-06 203 165 25 15 95 131 36 72 20 185:0.2 M10x1.5 3-M8X125 3-M8x1.25 12 52  2150(21) 23 165 70.7) 16.0 703244
JNS-08 248 210 36 15 106 148 42 95 25 23010.2 M10x1.5 3-M8X1.25 3-M8X1.25 14 6.3  3365(33) 30 210 70.7 27.8 703246
JNS-10 300 254 50 16 110 156 46 110 30 280%0.2 M12x1.75 3-M10X1.5 3-MI0X1.5 16 6.3  2390(24) 50 254 42.5 703248

JYS. A= REFRE
Vertical Hollow Hydraulic Chuck

BIATFE6 R BEPR AN T Aol i T4 R GE
BARE. ATRMRZ HEREEHA;
HERE: BRI RERESEERL.

77

funn g

A

B

E

|

‘ I

| I o
| i
C

k¥F, MEERZ;

Vertical chuck

>> Dimensions (mm)

Dimensions C Ymhg
Type T 4
168 140 218 15 52 6 45 1048 195
18 58 45

JYL-06 72 M55X2.0 6-M10X1.5 1 12-M10X1.5 PT1/4 22 703252
JYL-08 210 170 258 81 M60X2.0 6 133.4 234 6-M12X1.75 13 12-M12X1.75 PT1/4 22 703254
JYL-10 254 220 306 91 M85Xx20 20 72 6 70 1714 280 6-M12X1.75 17 12-M16X2.0 PT1/4 22 703256
JYS-06 168 140 218 72 M55X2.0 15 52 6 45 1048 195 6-M10X1.5 11 12-M10X1.5 PT1/4 22 703262
JYS-08 210 170 258 81 M60X2.0 18 58 6 45 1334 234 6-M12X1.75 13 12-M12X1.75 PT1/4 22 703264
JYS-10 254 220 306 91 M85X2.0 20 72 6 70 1714 280 6-M12X1.75 17 12-M16X2.0 PT1/4 22 703266
JY-06 168 140 218 72  M55X2.0 15 52 6 45 1048 195 6-M10X1.5 1" 12-M10X1.5 PT1/4 22 703272
JY-08 210 170 258 81 M60X2.0 18 58 6 45 1334 234 6-M12X1.75 13 12-M12X1.75 PT1/4 22 703274
JY-10 254 220 306 91 M85X2.0 20 72 6 70 1714 280 6-M12X1.75 17 12-M16X2.0 PT1/4 22 703276
~ e Semy=zn per —
\Q'mens,'@i? R | U7 RIHE(RD 7 JEEER Piston Area cm’ RVFHERES
Type S\ Piston | Dia Jaw|  Max.Push(Pull) Force kgf(KN) Max Pressure kgf/cm¥(Mpa)
A~ | Stoke | Stroke
2500(24.5) 2400(23.5) 7 68 40(3.9) 23 165 245 12600
3700 (36) 3200(31.5) 100 89 40(3.9) 30 210 43 14300
5800 (57) 5500 (54) 160 150 40(3.9) 50 254 69.1 19000
2500(24.5) 2400(23. 5) 71 68 40(3.9) 23 165 24.5 12300
3700(36) 3200(31.5) 100 89 40(3.9) 30 210 43 14000
5800 (57) 5500 (54) 160 150 40(3.9) 50 254 69.1 19000
2500(24.5) 2400(23.5) 71 68 40(3.9) 23 165 245 14000
3700 (36) 3200(31.5) 100 89 40(3.9) 30 210 43 16000
5800 (57) 5500 (54) 160 150 40(3.9) 50 254 69.1 21000

% E|

B

HLR
IR

% [k
+8&




R FEEH

Lathe Chuck Accessories Pneumatic chuck

e =
& SB.KQ Sz~ &E-Fi@fl ] XZQ. f&M2E GhEETUEE R EERED &
s Half-Through-Hole Pneumatic Chucks R ' Gripper(Chucks Jaw Trimming And Forming Fixing Ring) st
& - &
- MBS N -
ey i 1 ERGEFNGE, R TEEE, BOEFHEE, f127% ey
- BINCRE ORE), SRR . —
= 2. 9I\"‘M€ﬁ&l’~]ﬂ?&§i’]—ﬁiﬁi AMESEEMERST, #IER =3
3. IEE‘J%%EFHJ&&!IEE, ALURS ﬁlﬁﬁﬂiﬁﬁ, ek E R
AR AR/

R, REREEEEEELLE,

VLR & 45 B i A B

The characteristics of the claw device are:
1. The grip force is enhanced after use, the accuracy of roundness and centricity is improved, and the trumpet
centrifugal vibration is not produced, which affects the accuracy.

S| e
w® | =3
S 4t
057

>> Dimensions (mm)

71 EE TypeDmensuons Yrhg 2. External clamping and inner hole bracing can be used,and the required size can be adjusted arbitrarily. The 7] EE
h6 Order operation is quick and simple, saving the dressing time and permanent use.
BE SBL 206KQ 168 130 142 154 M8X 1. 25 M8 X 1.25 M6X1.0 M8X1.25 703602 3. After the old chuck uses the molding ring, it can improve the precision and grip force, and restore the same w5
Jz 3L SBL-208KQ 215 110 185 165 180 196 M10X1.5 M10X1.5 M8X1.25 5 M10X1.5 703604 qua“ty as the new one. ek
SBL-210KQ 258 117 220 206 226 238 60 76 30 M10X1.5  M12x1.75 M8 X 1.25 5 M10X1.5 703606
e SB-205KQ 135 100 - 95 108 - 26 67 14  M8X1.25 - M6 1.0 4  M6X1.0 703610 e
pey SB-206KQ 168 100 140 130 142 154 30 67 20  M8X1.25 M8X 1. 25 M6x 1.0 4  M8X1.25 703612 f . iy
& SB-208KQ 215 110 180 165 180 196 45 74 25  M10X1.5 M10X1.5 M8X 1. 25 5 M10X1.5 703614 AR : &
T4 SBe200KG 165 100 140 90 a8 ao b by 90 Mixizh MEXi2o Wbxio 4 Mx1Zs 70330 I ERRLE, TEEUESIR, AR SHERDIHTANRE, MIRETHEDHRERORSERY, FUE
I -. X1. X1. X1. X1. Dl
SBS208KQ 215 110 180 165 180 196 45 74 25  M10%X1.5  M10X1.5 M8X1.25 5 M10X1.5 703624 &z, LEHWHIEF. ( Fig.1,Fig.2,Fig.3)
SBS-210KQ 258 117 220 . X1. X1. X1. g T :
i a 206226 238 MAOX1S  MI2X175  MBX125 5 MI0X1.5 703626 2 ERRBINISSN, EMETFRSSEMIDR, BEATRSSEEURE, PIEE, RIS (Figd) i
% “\.Dimensions 432 ; ' gt A JeXIEE EEBE = A , S = = == R
< 1772 HREAN 1R PREZ IR RS E K 8 b SL— JJ: 5 il =t
i 14 Type\\\R Jaw Stroke Max Pressure Max. Spe§q1 Matching Gripping Range Extend Range Weight | Price 3. 1%%5?.%&%]; 5;%9: EEJZ&H'L %IL.\#E?%E)LQ, TE*EijI%a W#Eﬁ*ﬁgo ( Flg-5 ) fic 14
M | o N G S v o T TP I [ Instructions:
AR . . . . . . . EEY
éfé ngﬁggﬁg 0.4-0.8 3600 JS1315 2 170 180 13.0 11000 1. By using the forming ring, not only can the outer clamping, the inner stretching and the through forming be éfﬁ
&= - 0.4-0.8 3200 JS1720 5 210 20 240 25.0 12500 i i i i i ; &=
Lo 104 0aos 2500 52295 o 60 o 550 S refllzed, b;ttﬁlso Fhe worklng olee'ct can bg fol:rme?/lg/tge same state when clamped.Therefore, the core vibration
TE  SB205KQ 5.4 0.4-0.8 4000 Js1315 2 130 20 150 62 10000 is less, and the grip power is also improved. (Fig. 3) , I8
5h SB-206KQ 78 0.4-0.8 3600 JS1315 2 170 20 180 13.0 11000 2. When gripping with hard claws, bad contact surface will produce horn-shaped, poor grasp force will produce F
SB-208KQ 9.0 0.4-0.8 3200 JS1720 5 210 20 240 25.0 12500 centrifugal vibration, affecting accuracy, high risk.(Fig.4)
%3 SB=210KQ 0 04-0.8 2800 JS2225 10 260 30 280 37.0 14500 3. When the forming ring is used and the clamp is formed together, there is no core oscillating pendulum phenomenon. 23
X & SBS-206KQ 7.8 0.4-0.8 3600 JS1315 2 170 20 180 13.0 12500 The holding f is reliabl d th Iy be i d. (Fia.5 X &
i 4 SBS-208KQ 9.0 0.4-0.8 3200 Js1720 5 210 20 240 250 13800 e holding force is reliable and the precision can be improved. (Fig.5) i 4
[ SBS-210KQ 10.4 0.4-0.8 2800 JS2225 10 260 30 280 37.0 15900 _
HLEE " VTR HLER
Ta TS.. ERSFNEIFEL 96 H G Fig2 [| / Bl 4 Fig.3 T ‘/ﬁgf;fg BIU\ 4R [ Fig.5 TE
— High Speed Solid Rotary Air Cylinder M2 Fixed Pin Ring Bell ¥ —
j— J RAIETR i T " &~ Mouthform
i ﬁ A=EL1Z 38 Eli%ﬁ i ﬁ
'Eﬁ"l Cylinder Forming Ring Fixed Pin 1\ ] OO _En;_;;.l
diameter| Lb—H{—"on-—1 | /1>~ N I=x= 14de®s) & | | B &AM T R T
ﬂ o=@ I I
H L I F4 F{E|D|B 'ECZ%H/M J
38| © ©
A%l 8 H J |
2- RC1/4/ At 2 . " "
s 1 — AR R i, ShFepiE AERE S R EEEREF
60 General Perforating, Inner Bracing Abnormal clamping Normal Clamping
Molding External Clamping
= P.
_____ T o >> Dimensions (mm)
— D Dimens)i%rl? éﬁd@
G <> R rder
e . Number
EIA / =
. @@%@ﬁ %ﬁ%ﬁ%ﬁ%ﬁﬁ%ﬁm‘f%’“ Pt XZQ-04 707460 12 114 34 12 28 9 13 0.9 2000
% E_E XZQ-05 707462 12 140 60 12 28 9 13 1.2 2000
Aluminum alloy configuration, weight lighter than the traditional rotary XZQ-06 707464 12 168 60 12 32 9 16.5 1.5 2100
cylinder, small size; in high-speed rotation, can maintain the stability of SRR LR B XZQ-08 707466 12 218 115 15 36 9 18.5 2.4 2400
performance and reduce mechanical load. Installation example of pneumatic chuck ‘ C ((\ XZQ-10 707468 12 258 150 17 40 9 18.5 3.1 3000
A XZQ-12 707470 15 316 188 21 50 9 22.5 5.4 4000
XZQ-15 707472 20 380 230 23 52 16 31 10.1 5000

TS1315 130 160 90 65 25 17 45 30 70 M16 X 25 6-M6x 18 703652
TS1720 170 200 100 80 25 17 40 20 77 M16 X 30 6-M10x 18 703654
TS2225 220 225 130 110 30 21 50 25 77 M20 % 30 6-M12x18 703656
sy — REER 5 HRSE
P';tﬁggt*!k MAX%;&FLEE i) Piston Area(cm’ Max Pull Force KN(kgf) Max Pressure
ISton Stroke eed(min 2
. M PushSide | D07 PulSide | 000 PushSide | 000 PulSide | kgfem'(Mpa)
TS1315 15 5000 0.05 131.12 127.76 545(9. 25) 920(9) 8.0(0.8) 5.3 3800
TS1720 20 5000 0.13 225.3 219.8 1622 (15. 9) 1582 (15. 5) 8.0(0.8) 8.5 6900
TS2225 25 4000 0.17 378.6 369.3 2254 (22. 1) 2193(21.5) 8.0(0.8) 11.6 10000




ERFTEBEH 55 Chuck raw Claw /

Lathe Chuck Accessories — hard claw

R/ IS i R

Heighten And Standard Soft Jaw For Hydraulic Chucks

TR
T-Nuts

JSA.FEBER
Adaptor Plates

B
B
B
B

AT RESFEMIE, AFEHOHTH. EHEHHT,
REVALUADI, RERME, TETELRMN.

It is used for clamping soft, easily deformed workpieces
The soft jaw and clamping parts can reduce bruise and
improve coaxiality.

7r &
B 4
r &
B 4

VAo VAo
F NATRIRE, T ﬁﬁﬂ‘.ﬁ?ﬁ#ﬁ$§@ﬂﬁlﬂ"‘ i ]2 ENAFEERE: éEWE‘JRT'ﬁ‘FﬁE‘JEﬁﬁVFEEE‘JNﬂ%: * * . * * R 5
& SRpdieh, CREMER, AHUE, TRMTTLM. ERREF AERE CR ) - AR/ 6o N 20 1, &
HEHHR T SFRME R RARHE . \l/ \l/ \ \
’_=\, Z_Kj] Also known as T nut, other connectors can be simply and Fig.1 is used for direct installation: when the size of J J ’_=" Z_Kj]
safely fixed to the tank. the spindle is directly matched with the chuck, 5
'E'ﬁ During the assembly process, it can automatically locate Fig.2 and Fig.3 are for indirect mounting (reduction and increase) A A A 'F'm
and automatically lock,and is mainly used for T groove when the spindle size does not match the chuck diameter. R
Fig.1 Fig.2 Fig.3
45° 45°
) = g
= AL . o, SZ10C.. 105 R/ IS E 4T
Q) - I 7 ! t -~ ‘ - 10 Inch Heighten And Standard Soft Jaw For Hydraulic Chucks
- 1.5P )
% T U %k
2-H | Il [ A
| f")
NE 2-H | o WAVAWA] TNE
E Sp— . - 0. 25.LL Lﬁ $210060 707276
B 1B 5 $210C90 707278
7] EE A | — A | - o — 4| —— —— 607 SZ10C120 707280 7] &
E E D L - Pitch=1 5mm SZ10C120H50 707282
E F D | — i Ich=1. SZ10C120H60 707284
. ! ‘ ! ‘ \ ‘ *—D"‘ [ L SZ10C120H70 707286
W T T i - SZ10C120H80 707288 + 1
*ﬁ = X | } \ 1 u n " I ‘ | $Z10C120H90 707290 *ﬁ =
> I npon G G -— SZ10C120H100 707292 &4 o
;’E 9: u i ! C| L L wyu ! C SZ10C120H110 707293 ;E Jz
0 T 45 7 T m |‘| | $Z10C120H120 707294
; — = by SZ10C120H130 707297
I I ul 4 ‘ ulw T 1 1 R SZ5C. 5#*3‘/&/7]” =] EE!FA)T\ SZ10C120H140 707296
$ ﬁj] T . . . >> Dimensions (mm) SZ10C120H150 707298 $ ﬁj]
Fig.1 | Fig.2 Fig.3 5 Inch Heighten And Standard Soft Jaw For Hydraulic Chucks SZ10C120H180 707300
_': = 9. ] 9. ° $Z10C120H200 707302 _E =8
I~ im
— = 3 g
>> Dimensions (mm) >> Dimensions (mm) SZ1 2C127.'-*7FIE/7]DIEIEE$A”(
Tt R 5 9 5 9 12 Inch Heighten And Standard Soft Jaw For Hydraulic Chucks T4t
Ap;ﬁ‘cﬁ:{ion Connection 75 g g y g
SZ5C120H40 707206 54 25 40 10 5 9 14 31 135 9 21 M8
’fﬁ HE ¥ X IN-04, INS-04 JSA00504 $75C120H50 707208 54 25 50 10 5 9 14 31 135 9 21 M8 ’gﬁ HE
. 1 SBL-205, SB-205, SBS-205 JSA00604 707502 Ad 160 600 gsggg:sg 707210 54 25 sg oo s e 14 3t @5 8 2 M T .
JIN-05 JSA00605 707504 A5 1.00 400 5 7 707212 54 25 7 10 5 9 14 31 13.5 -2 .
J:E' %H 4 SBL-206, SB-206, SBS-206 JSA00606 707506 A6 350 600 S75C120H80 707214 54 25 80 10 5 9 14 31 135 9 21 M8 2KSZ12C90-21 707306 . Fé $H
EE 14._ SB-06. JN-06. JNL-06, JNSL-06 JSA00805 707508 A5 270 400 $75C120H90 707216 54 25 90 10 5 9 14 31 135 9 21 M8 2KSZ12C120-21 707308 . EE 14._
SBL-208, SB-208, SBS-208 JSA00806 707510 AB 150 400 $25C120H100 707218 54 25 100 10 5 9 14 31 135 9 21 Mg 2ZKSZ12C120H60 707310 .
JNL-08, JN-08, JNS-08, JNSL-08 JSA00808 707512 A8 620 600 S25C120H120 707219 54 25 120 10 5 o 14 31 135 9 21 Ms ZKSZ12C120H70 707312
SBL-210, SB~ m sas 210 JSA01006 707514 3 3.00 750 ZKSZ12C120H80 707314
B . JINL-10. IN-10, JI INSL-10 JSA01008 707516 A8 2.70 750 %ﬁgﬁggggmgo ;g;glg Fﬁ r._
. f X . SBL-212, SB- e She 517 JSA01508 707518 A8 850 900 — g = .
B & 20 INL-12, IN-12 USAOISH 707520 A 65 900 SZ6C..6~T /s smERT ZKSZ12C120H120 707320 130 y ol ~
ﬁzé n-}‘?-l . X . SBL-215, SB-215, SBS-215 JSA01515 707522 A5 2200 1100 y ZKSZ12C120H150 707322 130 . L ﬁZﬁ ﬁ
JN-15, JN-18, JNL-15, JNL-18 JSA02108 707524 A8 21.00 1350 i i
IN-21, IN-24, INL-21, INL-24 JSA02111 707526 Al 1800 1200 6 Inch Heighten And Standard Soft Jaw For Hydraulic Chucks A ERTHh=EFEZ. A Used For Hollow Hydraulic Chucks
JSA02115 707528 A15 - - 10.00 1200
JSA02120 707530 A20 3302 . ¥ 5500 1800 Dimensions
I ~~_Dimensions N0 RE : : ! IR
Ah g S d Ah
5a 707220 73 31 36 12 1123 M0 5 o AN 2
N 5 1520 31 17 150 220 255712C90-18 707352 130 5
. YZ;EHE@H\ SZSX r_?j $E$Am S26C90 707222 73 31 36 12 51 15 2 31 17 128 M09 1.50 210 255712C120-18 707354 130 50 50 18 5 39 30 61 23 15 30 M16 23 Fig.3 62 450 .
sz gIJ ~ S26C120 707224 73 31 36 12 5 15 20 31 17 1 23 M0 14 150 200 255Z12C120H60 707356 130 50 (60 18 5 39 30 61 23 15 30 MI6 23 Fig3 75 600 232 gIJ
= H R H SZ6C120H50 707226 73 31 50 12 5 15 20 31 17 1M 28 M0 14 2,00 350 28S712C120H70 707358 130 50 70 18 5 39 30 61 23 15 30 M16 23 Fig3 875 700
EE 14—_ Standard Hardened Jaw For Hydraullc ChUCkS Fan Shaped Hydraullc SOft JaW - —~8 SZ6C120H60 707228 73 31 60 12 5 15 20 31 17 kil 23 M10 14 2.40 400 2SSZ12C120H80 707360 130 50 80 18 5 39 30 61 23 15 30 M16 23  Fig3 10.0 750 EE 14’.
E SZ6C120H70 707280 73 31 70 12 5 15 20 31 17 1 28 M0 14 Fi 280 450 785712C120H90 707362 130 50 90 18 5 39 30 61 23 15 30 MI6 23 Fig3 1125 950
S76C120H80 707232 73 31 80 12 5 15 20 31 47 1 23 M0 14 320 500 2SSZ12C120H100 707364 130 50 100 18 5 39 30 61 23 15 30 Mi6 23 Fig3 125 1100
/ \ SZ6C120H90 707234 73 31 %0 12 5 15 2 31 17 128 M10 14 9. 3.60 550 ZSSZ12C120H120 707366 130 50 120 18 5 39 30 61 23 15 30 MI16 23 Fig3 15.0 1200
- g SZ6C120H100 707236 73 31 100 12 5 15 20 31 17 123 M0 14 - 4.00 600 ZSSZ12C120H150 707368 130 50 150 18 5 39 30 61 23 15 30 M16 23 Fig3 1875 1400
ﬁ[, f;E > > SZ6C120H120 707208 73 31 120 12 5 15 20 31 47 11 23 M0 14 Fig 4.80 800 ﬁl, ff
SZ6C120H130 707240 73 31 130 12 5 15 20 31 17 11 23 MI0 14 520 900 & SEEE&. A Used For Solid Hydraulic Chucks
TE SZ6C120H150 707242 73 31 150 12 5 15 20 31 47 1 23 M0 14 6.00 1000 A ERTRSREFE v T E_
=
Ly S o
S = g NP o
SZ8C..85 Rt/ s E 4T 155FMEHRT
8 Inch Heighten And Standard Soft Jaw For Hydraulic Chucks 15 Inch Heighten And Standard Soft Jaw For Hydraulic Chucks

%5
&

%5
&

SZ8C60 707244 95 35 37 14 5 25 25 46 19 13 22 M2 5 240 270 ZKSZ15C120-22 707112 165 62 62 22 8 37 43 8 3 21 38 M0 - Figd 12.8 1300
57890 707246 95 35 37 14 5 25 25 46 19 13 22 M2 10 240 260 2SS715C120-255 707113 165 62 62 255 5 37 43 85 3 21 38 M20 - Fig3 128 1300
$28C120 707248 95 35 37 14 5 25 25 46 19 13 22 Mi2 16 240 250
SZ8C120H40 707250 95 35 40 14 5 25 25 46 19 13 22 M2 16 250 350
GERATURE, BELF. —RERAGN BF s, AT, EFO%T Shician0 7072 S8 380 445 5 25 4 a1 g Mo Fgs  Sso
23 0 g 5 o= ¢
EzouRzs 1, N o SR, & s SZ8C120H60 707254 95 35 60 14 5 25 25 46 19 13 22 M12 16 : 336 450 3 b .
=Sl THESR o E ., FHAR R, 2ERE AR T SZ8C120H70 707256 95 35 70 14 5 25 25 46 19 13 22 M2 16 392 500 24#/93&5%}“ Pitch=3.0mm
TRFFER, HHR%I# REFRE, REFEHK REHRLURDRLS, REFEME, AIEGEMRT e Ty L L L L oo e
T e I R R T e A 505 S0 24 Inch Heighten And Standard Soft Jaw For Hydraulic Chucks
After hardening treatment, the hardness is higher. Ordinary It is used for clamping soft, easily deformed workpieces. 5780120120 707264 95 35 120 14 5 25 25 46 19 13 22 MI2 16 672 750
lathe with hard claw.It can hold bar material, cylindrical blank The soft jaw and clamping parts can reduce bruise and SZ8C120H130 707266 95 35 130 14 5 25 25 46 19 13 2 M2 16 7.28 800
$28C120H140 707268 95 35 140 14 5 25 25 46 19 13 22 M2 16 780 900
and so on. It has strong clamping force and large clamping force improve coaxiality. SOOI RS SORT 5 C N — 3 2 M1z 18 0] R0
$28C120H180 707272 95 35 180 14 5 25 25 46 19 13 22 Mi2 16 : 1010 1400
- S28C120H200 707274 95 35 200 14 5 25 25 46 19 13 22 M2 16 Fig 120 1650 $224C120 707118 180 65 70 25 9 40 60 80 32 21 45 M20 - Fig2 160 2500
» 1.5P o
. v =
Pitch=1.5mm NN
¥
025 Yy
N
60° o
\_@
{ k Pitch=1.5mm A
|
G . F__G H
Fig.2 I
| A 7 T
K | I [
H F c Lo
|
t r -7
1 — L — el
g o ~
o T te
e s oo J L
ulu 1l
i " L I |
I J |-

Dimensions

707402 M8X1.25 SZSX4C120 707360 495 86 23 10 5 9 14 265 135 9 14 M8 3 1.5 2000
707404 M10X1.5 o SZSX5C120 707362 54 108 30 10 5 9 14 31 135 9 21 M8 5 3.0 2100
707406 18 12 M12X1.75 Fig.1 1.9 2400 $ZSX6C120 707364 73 129 36 12 5 15 20 31 17 11 23 M10 14 5.5 2250
707408 18 13 M12X1.75 Fig.1 2.8 3000 $ZSX8C120 707366 95 173 37 14 5 25 25 46 19 13 22 M12 16 10.5 3600
707410 20 16 M16X2.0 Fig.1 3.5 3700 10C120 707368 110 216 42 16 5 30 30 0 19 13 27 M12 18 16.0 5000
707411 20 16 M16x2.0 Fig.1 3.7 3700
707412 38 20 M20x2.5 Fig.1 9.6 6800

YZ15C-25.5 707413 38 20 M20x2.5 Fig.1 9.5 6800




Lathe tool sleeve

FZRFEBH T FRT]E

Lathe Chuck Accessories

7= N o 7=
EP KB R T E SHB/MEER N S IE 4K E E AT EP
& Sleeve Small diameter side fixed extended connecting rod &
Lathe sleeve
X ‘ : oD 3M X
& - .~/ oa +&
: W & T
& G @ © D : H F&
ad
Ex ) Ex
_?:— ‘ L1 — T pats : [ EE e ] _j'E 5
L % THES o Rst Dimension (mm) ERRR 42 % Screw & FWrench i]'oﬂ?‘ﬁfg % THES 5 R~ Dimension (mm) EmEE ‘ & FWrench ﬂtm;g’a;
i m | = Model No. Stock @D ad L H Assembly Holder ' ﬁ Number = Model No. Stock @D od L M Assembly Holder ﬁ NUmber: i m
: ¢ SHB-1202 | ® | 12 | 2 [ 100 | 11 2mm 708141 C08-SLN03-110L o s 3 [ 110 | M3 3mm 708150
LED]IN FIG-1 = 4 5 . SHB-1203 | ® [ 12 [ 3 [ 100 [ 11 3mm 708142 C08-SLN04-110L | s 4 | 110 | m3 4mm 115 [708151 CI]IN
—_— L - SHB-1204 | ® | 12 | 4 | 100 | 11 4mm M40 L2 [708143 C10-SLN03-150L ® | 10 | 3 [ 150 | M3 3mm 708152] —————
) SHB-1205 | ® | 12 | 5 | 100 | 11 5mm 708144 C10-SLN04-150L ® | 10 | 4 [ 150 | ma4 4mm 708153
'y SHB-1206 | ® | 12 | 6 | 100 | 11 6mm 708145 C10-SLN06-150L ® | 10 | 6 | 150 | ma4 6mm 708154
SHB-1602 | ® | 16 | 2 | 100 | 15 2mm 708100 C12-SLN03-150L ® | 12 | 3 [ 150 | ma 3mm 708155
f— | SHB-1603 [ ] 16 3 100 15 3mm 708102 C12-SLLN04-150L o 12 4 150 M4 4mm 708156 ——
D1d MD D32-T. $};E7]§ Lathe sleeve SHB-1604 | ® | 16 4 100 15 4mm JM40 L2 708104 C12-SLN06-150L ® | 12 6 150 | M4 6mm L2 708157
jj F:l:i Tl SHB-1605 [ ] 16 5 100 15 5mm 708106 C16-SLN04-150L L] 16 4 150 M4 4mm 708158 -
2 Y SHB-1606 [ ] 16 6 100 15 6mm 708108 C16-SLN04-200L [ 16 4 200 M4 4mm 708159 —
¥ H TTIYRAS HIRELS | TR Rt Dimension (mm) § SHB-1607 | ® | 16 7 100 | 15 7mm 708110 C16-SLN06-150L ® | 16 6 150 | M4 6mm 708160 ¥ 5
A ‘ L1 e e | it Fig | StB-1608 | ® 16 [ 8 [ 100 | 15 8mm 708112 ¢ |C16-SLN06-200L ® | 16 | 6 | 200 | M4 6mm 708161 A
Je sk L raer Number odelNo.| Stock| d | D | L | L1/ D1 H | M o [ shB-t610 | @ |16 [ 10 [ 100 | 15 10mm w60 s 708114 & [_c16-SLNo8-150L ® | 16 | 8 | 150 | M6 8mm s |708162 e 3
| 708400 Da2-T04 ° 7 @ | sHB-2004 | ® [ 20 | 4 [ 100 | 18 4mm 708116 @ |_c16-sLNos-200L ® | 16 | 8 | 200 | M 8mm 708163
- SHB-2005 | ® | 20 | 5 | 100 | 18 5mm 708118 C20-SLN06-150L ® | 20 | 6 [ 150 | M4 6mm 2 |708164 -
Faf FIG-2 708402 D32-T05 C 5 SHB2006 | ® | 20 | 6 | 100 | 18 6mm 708120 C20-SLN06-200L ® | 2 | 6 [ 200 | M4 6mm 708165 F
+*& ;83383 323_36 ° g 85|70 M6 SHB-2008 | ® | 20 8 | 100 | 18 8mm 708122 C20-SLN08-150L ® | 2 8 | 150 | M6 8mm 708166 +*
-T07 ° SHB2010 | ® | 20 | 10 | 100 | 18 10mm IMB0 13 [708124 C20-SLN08-200L ® | 20 | 8 [200 | M 8mm 708167
D16-T.ZEKJJE Lathe sleeve 708408 D32-T08 ° 8 SHB-2012 | ® | 20 | 12 | 100 | 18 12mm 708126 C20-SLN10-150L ® [ 2 [ 10 | 150 | me 10mm 708168
il = [ SHB-2204 [ 22 4 100 20 4mm 708128 C20-SLN10-200L [ 20 10 200 M6 10mm 708169 il
To £t 708410 D32-T09 | e 9 To £t
mewm | mnws | wn Rt omensinom | oo oo | 8 | 1o 205 | 1 Seowels [ lo0 i e | we | v fem | Copawsew el [p o lwl ogm |, fmm
R Order Number | ModelNo. | Stock| ¢ | p | | | L1| D1 H | M 708414 DR o | 12 SHB2208 | ® | 22 | 8 | 100 | 20 8mm 708134 C32-SLN06-150L ® 32 | 6 |15 [ e 6mm 708172 R
B 708416 D32-T13 o 13 M8 SHB2210 | ® | 22 | 10 | 100 | 20 10mm W60 L,  |708136 C32-SLN08-150L ® | 32 | 8 [ 150 | M6 8mm 708173 B
T 708300 D16-T03 [ ) 3 M4 708418 D32-T14 ° 14 |32 SHB2212 | ® | 22 | 12 | 100 | 20 12mm 708138 C32-SLN10-150L ® | 3 | 10 | 150 | M6 10mm 708174 ot
Fe #+ 708302 D16-T04 [ ] 4 M4 708420 D32-T16 [ 16 SHB-2216 | ® | 22 16 | 100 | 20 16mm 708140 C32-SLN12-150L e[ 3 12 | 150 | M6 12mm 708175] G
S 708304 D16-T05 ® | 5 M5 708422 D32-T18 | e | 18 85| 55 | 38 -
BE R 708306 | D16-T06 | @ | 6 191 145 |ws| 1 7oga24  |Ds2T20 | e | 20 P& PR
o . 708426 D32-T22 ° 22 77 (14| 2 7k
oy 708308 D16-T07 [ ] 7 16|62 55 M6 708428 D32-T25 ° 25 fih 5%
708310 D16-T08 [ ) 8 M6 708430 D32-MTA1 e | MTA1
TR 708312 D16-T10 : 10 214§5 = M4 - 708432 D32-MTA2 | ® |MTA2 - - I8
FH 708314 | D16-T12 12 9 708434 |pse-mas | e |MTA3 A5
22 D20-T..Z[KJ]JE Lathe sleeve D40-T..E K JIE Lathe sleeve SBHAMR 7L 7] & 7 i & ZE PRI 1R T BB %E
[inges SBHA Lathe Quick Center Block Lathe extension tool holder [ingcs
JTI4HED MRS | EE R~t Dimension (mm) - 1T 4B MRS | EflE R~t Dimension (mm) Fig )

WL Order Number | ModelNo. |Stock| 4 ol lwul o1 1 6 Iml > Order Number | ModelNo.| Stock| d | D | L | L1|D1| H | M N 3 _ . E LR
LR 708316 |D20-T02 o > 7831%2 D40-To4 | g U5 *ﬁ % *ﬁ V5] 1: ﬁ =p /5 1: ﬁ LR
— 7 D40-T05 ° —

708318 | D20-T03 ® | 3 B 4
708440 D40-T06 ° 6
708320 D20-T04 o 4
R 708442 D40-TO7 | ® | 7 %
e 708322 | D20-T05 ® 5 708444 D40-T08 | ® | 8 e
—Em 708324 D20-T06 ( ] 6 17.5 |M6 708446 D40-T09 ° 9 —Em
708326  |D20-T07 | @ | 7 1 708448  |D40-T10 | e | 10 38 |M8| 1 @D
708328 D20-T08 o 8 708450 D40-T12 ° 12
= 708452 D40-T13 ° 13
s oo | @15 J20|o7|eo| & AR 3
708334 D20-T12 PS 12 708456 D40-T16 ° 16 | 40 |100| 85 | 46 i CEBRRTEFRATIEM Itis mainly used for lathe cutter
708458 D40-T18 | ® 18 L1 RETFHKEFEER . bed and The length compensation
708336 D20-T13 : 13 708460 D40-T20 ° 20 -~ of inner diameter cutter bar is used.
708338 D20-T14 14 708462 D40-T22 ° 22
708340  |D20-T16 ® | 16 40 |13 2 708464 | D40-T25 | e | 25 77 |14 2 L
708342 D20-MTA1 | @ |MTA1 s 708466 D40-T30 | e | 30
708344 |D20-MTA2 | @ |MTA2 708468 | D40-T32 | e | 32 : o
708470 D40-MTA1 | ® |MTA1 1T0'ﬂﬂ§ﬁﬂ misme | s Rt Dimension (mm) A
708472 D40-MTA2 e |MTA2 rder
D25-T.ZE R J]E Lathe sleeve ;833;2 D40-MTA3 | @ Wﬁi - - Number pleeBlNe. | sieds | g L | L1 | H | H2 —
D4O-MTA4 | @
e (sl o e [ ol
[ ]
Order Number Model No. | Stock d DIl L | L1 D1 H M = Lath leev
st o T DSO-T.% 7% Lathe sleeve 708202 | SBHA2020| e | 20 | 65 | 20 | 47 | 20 B D
708348 D25-T05 () 5 1T 4RAY MRS | B Rt Dimension (mm) - 708203 | SBHA 2025 ° 25 | 65 | 25 | 47 | 20
708350 D25-T06 [ } 6 Order Number | Model No.| Stock | ¢ D L] 1] b1 H M & 708204 SBHA 2032 ® 32 80 32 55 20
;ggggi g;gjg; : ; 235 |m6| 1 708478 D50-T08 | @ 8 708205 | SBHA 2040 ° 40 | 90 | 40 65 | 20
708356 D25-T09 o 9 708480 D50-T10 [ ] 10 708206 SBHA 2516 [ ] 16 70 16 42 25
708358 D25-T10 @ | 10 708482 D50-T12 | @ | 12 48 M8l 1 708207 | SBHA 2520 ° 20 | 70 | 16 | 42 | 25
708360 D25-T12 ® | 12 |- lclsgl 35 708484 D50-T16 | @ | 16 708208 | SBHA 2525 ° 25 | 70 | 25 53 | 25
Lbocsrm el : b pusnite JIBED IR L 708209 |SBHA2532| e | 32 | 80 | 32 | 60 | 25
7 D25T16 | @ | 16 708488 |Dso-T2s | @ | 25 | 50 1100] 85 58 708210 | SBHA2540| e | 40 | 90 | 40 | 65 | 25 X ..
08366 5 708490 D50-T32 | @ | 32 1T 4% A5 i = R =t Dimension (mm)
g RS ER
708368 |D25-T18 | @ | 18 2 77 [14] 2 708211 | SBHA3225 e | 25 | 80 | 32 | 66 | 32 Order
51 |12 708492 D50-T40 [ ] 40 Ny Model No. Stock A B c D
708370 D25-T20 ® | 20 708212 | SBHA 3232 ° 32 90 32 66 | 32 LinlotEt
708372 D25-T22 P 2 708494 D50-MTA3 @® |(MTA3
708374  |D25-MTA1 | @ |MTAT 708496  |Dso-MTA4 | @ |MTA4 - - 708213 | SBHA3240| e 40 | 100 | 40 | 83 | 32 708228 |CCYS2020| e 35 | 20 | 90 | 25
708376 D25-MTA2 | @ |MTA2 B ° 708498 D50-MTA5 @® |(MTA5 708214 SBHA 3250 [ 50 | 120 | 50 83 32 708229 CCYS 2525 ° 40 25 90 30




FZRFEBH Lathe tool holder

Lathe Chuck Accessories

in the tool position of lathe tool holder.

|
which solves the problem of latheThe
lack of tool position reduces the tool -
C A[

FE g % # 15 : . \ =
TL  BEREREIERAR Rz % R T] 7] B L8 Z R HE 7D FF O 7] BE-[E i LB Z BRHE 7D FF O 70 BE-75 i
NC lathe tool pressing block Tool holder of CNC lathe L-type lathe slotted cutter holder L-type lathe slotted cutter holder
RS thst
+* +*
hVA-Y hVA-Y
& R 2
RS | HMREE Dimension (mm) .l
=5 Order | Model No. c | A B | M n 55
& | +&
708260 | 3020-10-M8 | 30 |20x20| 10 | M8 L !
708261 | 3025-10-M8 | 30 |25x25] 10 | M8 w #
i 708262 | 3520-09-M8 | 35 [20x20| 9 | M8
708263 | 3520-10-M8 | 35 |20x20| 10 | M8 R~F - Dimen’;;{; ) e Dimen};"i;{] i) N
708264 | 3525-10-M8 | 35 |26x25| 10 | M8 mi5 | #MigAS | Dimension (mm) éﬁﬁr Iﬁﬁgﬁﬁg é@g‘gr I\ﬁtzge%NE _
708265 | 3525-12-M8 | 35 |25x25| 12 | M8 Order | ModelNo. | | | | A ' L|L1|L2 H @d | L L1 L2 H | H1 R
708266 | 3525-08-M8 | 35 |25x25| 8 | M8 NE
c 708267 | 3625-10M8 | 36 |25x25| 10 | M8 708230 | PDDZ3540-25 | 35 | 40 | 25 708295 | L-PDDZ-D20 | 175 | 45 | 25 | 50 | 20 708296 | L-PDDZ-F30 | 175 | 45 | 25 | 30 | 30 e
708268 | 3820-09-M6 | 38 [20x20| 9 | M6 708231 | PDDZ3250-20 | 32 | 50 | 20 -
708269 | 3820-10-M8 | 38 |20x20| 10 | M8 708232 | PDDZ3250-25 | 32 | 50 | 25 St 453 £ T i _—
B 708270 | 4020-08-M6 | 40 [20x20| 8 | M6 708233 | PDDZ3550-20 | 35 | 50 | 20 Bz % R TI 5T e ' A P
o Tool holder of CNC lathe turret 0 A A
e 3 708271 | 4020-09-M6 | 40 [20x20| 9 | M6 708234 | PDDZ3550-25 | 35 | 50 | 25 % L
N 708272 | 4020-10-M8 | 40 [20x20| 10 | M8 708235 | PDDZ4050-20 | 40 | 50 | 20 N
| -t 708273 | 4520-10-M8 | 45 [20x20| 10 | M8 . 7" .| 708236 | PDDZ4050-25 | 40 | 50 | 25 -
F58-G20-D10-A25 F72-G45-D16-A32 F68-G42-D30-A32
+ i] 708274 | 4525-10-M8 | 45 |25x25| 10 | M8 708237 | PDDZ4050-32 | 40 | 50 | 32 F i]
~& 708275 | 4825-10-M8 48 [25x25| 10 M8 708238 | PDDZ4550-20 | 45 50 20 <&
‘ 708276 | 4825-13-M8 | 48 |[25x25| 13 | M8 708239 | PDDZ4550-25 | 45 | 50 | 25
T gt 708277 | 5025-09-M8 | 50 |25x25| 9 | M8 708240 | PDDZ4550-32 | 45 | 50 | 32 T &t
708278 | 5025-09-M10 | 50 |25x25| 9 | M10 Y& TIEE, E&%FL. | 708241 | PDDZ5050-20 | 50 | 50 | 20
R ) BNEE 19\& ﬂﬁﬁ IR 708279 | 5025-10-M8 | 50 [25x25| 10 | M8 KeFERNALITFMI. 708242 | PDDZ5050-25 | 50 50 25 .
=5 %i’% 2, AR E 708280 | 5525-10-M8 | 55 |25x25| 10 | M8 708243 | PDDZ505032 | 50 | 50 | 32 e
L ¢ N ° 708281 | 5525-10-M10 | 55 |25x25| 10 | M10 708244 | PDDZ5550-20 | 55 50 20 . ] w1 : B 4
708282 | 6025-10-M8 | 60 |25x25| 10 | M8 708245 | PDDZ5550-25 | 55 | 50 | 25 F88-G56-D40-A40 F71-G43-D25-A40 F70-G50-[120-A40 : :
o 708283 | 6025-10-M10 60 [25x25| 10 M10 It can save tool changing time | 708246 | PDDZ5550-32 | 55 50 32 i
FE IR The two pressing blocks [ 708284 | 6032-13-M10 | 60 [32x32] 13 | M10 | andis suitable for drillingand | 708247 | PDDZ6050-20 | 60 | 50 | 20 y q i P& IR
M can firmly press the turning | 708085 | 6032-14-M12 | 60 |32x32| 14 | M12 | tapping. 708245 | PDDZ6050-25 | 60 | 50 | 25 ‘ i
tool by using the wedge block| 708286 | 6032-15-M8 | 60 [32x32| 15 | M8 708249 | PDDZ6050-32 | 60 | 50 | 32 ! : oy
IA pressing principle. 708287 | 6532-10-M10 | 65 [32x32| 10 | M10 708250 | PDDZ7050-20 | 70 | 50 | 20 ‘ I I I&
Valva) 708288 | 7032-10-M8 | 70 [32x32| 10 | M8 708251 | PDDZ7050-25 | 70 | 50 | 25 FH
708289 | 8032-10-M8 | 80 [32x32] 10 | M8 708252 | PDDZ7050-32 | 70 | 50 | 32
%%fg F71-G43-D25-F O F62-G31-D20-A32 F72-G46-D20-A40 F75-G48-D20-A32 F75-G56-D20-A40 F76-G43-D20-A40  F76-G35-25M#+7F O %ﬁfé
N
T RUMEERTIE MCHE D5 AT ; Mol
ViINES Tool holder of double tool position lathe entre-anit Hoider Nz
I8 i I8
_— BATERTIETUE LR | B _—
DAER, MR TERRD TN i
%k BIER, B TH®RIIEE, 5 b L . % R
i TIEME X
& ) &
Itis used to install two cutting tools ) B ) f F76-G35-D25M &-A40  F76-G35-M25-A40 F79-G37-D20-A25 F80-G55-D20-A50 F80-G60-D20-A32 F80-G40-D20-A32 F80-G40-D20-A40
ad A

change time and improves the work

@

efficiency. @iﬁ: Pa%;
iTgl?jEfE MiEE e e R~ Dimension (mm) Serew | Wrench
Model No. Stock
— Number go|alB|L|in T | 2
w/EE | MRES Dimension (mm) 708220 MCH2020K-05 5 [ 2020|125 20| FS40 L2 F80-G40-D20+FF O F80-G45% A-A32 F80-G60-[1120-A40 F88-G52-D20-A40 F56-G39-D18-A25 F66-G36-D25-A32 F72-G56-D20-A40
Order | Model No.
AldlBlcl|L 708221| MCH2020K-06 6 | 20| 20125/ 20| Fss0| L25
708222| MCH2020K-08 8 [20]20(125/ 20| FS60 L3

708290 | CCSGW20-20 | 20 20 50 40 150

® o o o o o o o
N
o
N}
o
N}
IS

708291 | CCSGW20-25 | 20 25 55 45 170 708223 MCH2020K-10 125| 20 FS80 L4
708292 | CCSGW25-20 25 20 55 45 170 708224 MCH2525M-05 5 | 25| 25 |150| 25 FS40 L2
708293 | CCSGW25-25| 25 | 25 | 55 | 45 | 170 708225 MCH2525M-06 6 | 25| 25|150| 25| Fs50| L2.5
EFRATZRBRIIE 708226| MCH2525M-08 8 | 25| 25]150] 25| Fse0| L3
Tool holder of double tool position lathe 708227 MCH2525M-10 10 | 25 | 25 |150| 25 FS80 L4 F58-G20-D10+HH O F72-G45-D16-A40 F68-G42-D30F/ 140/50 F70-G45-D207 O50 F58-G32-D16-A25 F70-G45-D20-A50 F70-G35-[1120-A32

oo Mg 0o A

g Order Model ad A B L Order Model ad A B L

B 708620 | WTD1616-4 4 16 | 16 708634 | WTD2020-5 5 | 20 | 20 | 40

708621 | WTD1616-5 5 16 | 16 708635 | WTD2020-6 6 | 20 | 20 | 45

708622 | WTD1616-6 6 16 | 16 708636 | WTD2020-7 7 | 20 | 20 | 45

708623 | WTD1616-7 7 16 | 16 708637 | WTD2020-8 8 | 20 | 20 | 45

- Loner aqDie168 8 16 18 s D000 022 F79-G56-D40-A40 WHT10F70-G45-A32  F85-G66-D20-A50  # EF72-G67-D20-A32  F70-G52-D16-A40

708626 | WTD1616-12 | 12 | 16 | 16 708640 | WTD2020-14 | 14 | 20 | 20
708627 | WTD2016-4 4 [ 20 [ 16 708641 | WTD2525-6 6 | 25 | 25
708628 | WTD2016-5 5 | 20 | 16 708642 | WTD2525-8 8 | 25 | 25
708629 | WTD2016-6 6 | 20 | 16 708643 | WTD2525-10 | 10 | 25 | 25
BTERABETIREZRAANILTIR. 708630 | WTD2016-7 7 20 | 16 708644 | WTD2525-12 | 12 | 25 | 25
708631 | WTD2016-8 8 | 20 | 16 708645 | WTD2525-14 | 14 | 25 | 25
Itis used for the conversion of lathe 708632 | WTD2016-10 10 20 16 708646 | WTD2525-16 16 25 25
square turret to inner hole turret. 708633 | WTD2020-4 4 20 20 708647 | WTD2525-20 20 25 25




Lathe Chuck Accessories

FRFEEH T 22 ZE R 23k | Precision lathe chuck

iR RIERAT- B EHITE B R KA - E HI S H

CNC lathe extension rod - double side plane cutting FHIRZERRRLEE
_—

L1 Bar Puller For CNC Lathe(Square Handle)
T m— | AT EERKEESEHE, ERRE— S BENNB DR ENE.
¢ 7%4 7 Feature: Bar Puller is great for installing on the turret of CNC Lathes or other Automatic special purpose machines to

- B
- |

CNC lathe extension rod
- single side plane cutting

- B

4
ol A+ K
=3 | | B | B | ERH

7 HE 7Kl
23| B | B | BN BRHE

MmN Frm: RSEEREARIEE S EERSEMBEHNTRIABRBENESE.

P « substitute for automatic bar feeder. For the repetitive pulling length is very accurate; the use of Bar Puller -
5 HIFE Plane ) ; . . ; . : 5
* e BISEE Plane / is a very convenient and effective alternative for automatic machines. *
T i i T i
Order DS B Sl Diension (i) [ B (7S Order aEe =3 Rt Dimension (mm) [ BE B
.. Model No. Stock| |4 D Collet Wrench Price e Model No. Stock| L1 D Collet Wrench Price
708540 | SL12-ER11A-100-DM 100 12 LMERMA BSER11A 300 708560 | SL12-ER11A-100-SM 100 12 LMER11A BSER11A 300 mﬁ%ﬁﬁﬁ —
708541 SL16-ER16A-100-DM 100 16 LMER16A BSER16A 300 708561 | SL16-ER16A-100-SM 100 16 LMER16A BSER16A 300 The a”O |S Inlald[
$ };ﬁ 708542 | SL16-ER20A-100-DM 100 16 LMER20A BSER20A 300 708562 | SL16-ER20A-100-SM 100 16 LMER20A BSER20A 300 y N $ };ﬁ
708543 | SL20-ER16A-100-DM 100 20 LMER16A BSER16A 300 708563 | SL20-ER16A-100-SM 100 20 LMER16A BSER16A 300
]—J ﬁ 708544 | SL20-ER20A-100-DM o 100 20 LMER20A BSER20A 300 708564 | SL20-ER20A-100-SM o 100 20 LMER20A BSER20A 300 j—_] ﬁ
708545 SL20-ER25-100-DM L[] 100 20 LMER25 BSER25 300 708565 | SL20-ER25-100-SM [ ] 100 20 LMER25 BSER25 300 F_{Zm .
708546 | SL25-ER16A-100-DM (] 100 25 LMER16A BSER16A 300 708566 | SL25-ER16A-100-SM (] 100 25 LMER16A BSER16A 300 N , P
708547 | SL25-ER20A-100-DM [ ] 100 25 LMER20A BSER20A 300 708567 | SL25-ER20A-100-SM [ ] 100 25 LMER20A BSER20A 300 ? H%A Z}'{_ J q: 1¢ 'R
JAJA -~ JAJA
jj Jg:— 708548 SL25-ER25-100-DM (] 100 25 LMER25 BSER25 300 708568 SL26-ER25-100-SM (] 100 25 LMER25 BSER25 300 1 Al lL = E{I lLI \ I E{I:a 5 mm° jj El:_
708549 SL32-ER20A-100-DM [ ] 100 32 LMER20A BSER20A 400 708569 SL32-ER20A-100-SM (] 100 32 LMER20A BSER20A 400 1/ At Y4 B —
708550| SL32-ER25-100-DM ° 100 32 LMER25 BSER25 400 708570 SL32-ER25-100-SM . 100 32 LMER25 BSER25 400 2\ 9%??} I 14: [K}EM} REE—%EM‘?ﬁjt 16mmo _ N
708551 SL32-ER32-100-DM o[ 00 32 LMER32 BSER32 400 708571 SL32-ER32-100-SM o[ 00 32 LMER32 BSER32 400 BRI SEHE TR,
708552| SL32-ER40-100-DM Ld 100 32 LMER40 BSER40 500 708572 | SL32-ER40-100-SM Ld 100 32 LMER40 BSER40 500 %ﬁ: . ~ ‘ =] == Py S
3, RFFEHE: 12~48 mm, EEHOZEBEAL.

Faf SRR IR KA ERERIEERTAH (MEHRESAD) ?\.p'rl?rqgac:i[?gr:]ing of bar puller shall be 3~5 mm less than

Note: Faf
+&= Lathe Clamping Handle Collet Holder For Coolant(Side Supply) the diameter of work piece. &
(I — L1 ) ) 2. The gripping length has to be more than 16mm from chuck surface. When You Choose, Please Choose L — |

U ner et. . Gripping range:12~48mm. nse oy Or No Alloy Jaw.
L It is used together with a coolant collet 3. Grippi 12~48 Insert Alloy Or No Alloy J
To £t o L2 A piping screw is in the back or the side of a holder. T &t
—_— Plane FL, >> Dimensions (mm) —_—
. L1
£ L  a £
R R
% it L L2 Dimensions| _ iTHa%k# AEMAS RF A Weight | Price £ §it
w7 . * SR R ET S RC1/8 Plane RC1/8 : L4 FEType Order Number Alloy or No alloy Jaw. Gripping Range (kg) (RMB) B 14
— . ‘ L LLQ1616 707650 #A5% Alloy Jaw 12mm-48mm 400 S
BEpR W max L3 B ) e ttg;g;gN 78725(21 20 20 %@%ﬁNoAHAIIo% Jaw qgmm—igmm 0.3 350 B R
w12 i : o 70765 a oy Jaw mm-48mm 0.4 400 by
- - LLQ2020N 707656 20 20 91_:/5__7% No Alloy Jaw 12mm-48mm 0.4 350 JEE—
TE i s e R B () B | s ‘ LLQ2525 707658 25 25 &% Alloy Jaw 12mm-48mm 0.6 400 TE
7]_ jj Number| lodel No. tocl L L1 L2 |maxL3| L4 c1 D1 D2 olle renct max L3 LLQ2525N 707660 25 25 9.‘5/\3 No A”Oy Jaw 12mm-48mm 0.6 350 7]_ jj
S T TR 1 LLQ3232 707662 32 32 #E5% Alloy Jaw 12mm-48mm 0.9 700
R e A R Bl B Il o - - e | ar HiQa25oN roresa - 32 R {ammAsmm I %)
= 708508 | SSH20-ECH7-105 e 105 129 24 70 " Number Model No. Stock| | 1 12 |maxt3] L4 D3 D1 D2 | Collet | Wrench -
708510| SSH20-ECH10-40 40 63 23 45 = TN
_ER r e v e o] Y e e Lol e Te L e u Lol n Lol o, LRSS S ROl
- - 19 36 1-13 ER20 |BSER20A 708704 |SSH20-ECH100H-70 70 115 45 85 W o 050 ER16 PSER1OA
MR 081 [ SSHSSECHT 62 P 7 T T R I W S 708706 SSH20-ECH130H-70 70 | 1175 | 475 | 85 9 % | 118 ER20_[BSER20A Bar Puller For CNC Lathe(Round Handle) ViINES
- % - - °
TH  Jislsausconois o5 w0 T e 7| 2 |050] To5710]SSras EChibon-105 T | 05 T 150 s 15| 1 050 | ERi6 pserion g B A £ s A s AR LA _ U, I8
i sossonsns A e A e = e R RS S RRENR e FE RS A BT AILRER XL,
708526] SSH32-ECH13-80 80 116 36 75 1 3 =] 708716|SSH32-ECH130H-75 | ® | 75 | 1205 | 475 | 65 9 B [ ER20 [3SER20A j{l T Eg*ﬁﬁ%jEﬁﬁﬁ%H’\] y 1%}% ?ﬁ*?%—f¢ﬂﬁ%ﬁﬁﬁ&‘i H’\] E Eﬂﬁ{tﬁ%*ﬂ%ﬁ °
708530| SSH32-ECH16-80 80 120 40 80 2 4 1-1 32 BSER25 708718 |SSH32-ECH160H-75 ° 75 126 51 85 0 1-1 32 | ER25 |BSER25
$ r* 708532| SSH32-ECH20-80 80 128 48 100 708720 | SSH32-ECH200H-75 L] 75 134 59 90 3 51 2-2 R32 |BSER32 . . . . . . i r*
_F 708534| SSH40-ECH20-80 80 128 48 100 23 51 220 [ 40 | ER32 |BSER32 708722|SSH3/4-ECH100H-105|_ @ | 105 | 150 45 94 e 2 | 0510 205 | crig Bscrion Feature: Bar Puller is great for installing on the turret of CNC Lathes or other Automatic special purpose machines to _';.;g.
. 708536| SSH40-ECH20-110 110 158 48 100 708724 |SSH1-ECH100H-105 L] 105 150 45 94 25.4 S

substitute for automatic bar feeder. For the repetitive pulling length is very accurate; the use of Bar Puller

TSk A 2 R AT EREERIEEREKAT GRESED is a very convenient and effective alternative for automatic machines.

Double Head Clamping Handle Of Lathe Collet Holder For Coolant ) )
L1 It is used together with a coolant collet
A piping screw is in the back or the side of a holder. — g sms
L2 L ErAEEE
L2 L1

The alloy is inlaid!

L4 Plane N L4 . 5

.‘ 7 E ‘ B — - FFHT‘:H%AE?"T“ NMI#HER3~5

bl - v I = T /N T3~ 0 MM
w } ' ﬁ - B 58 2, REFEIHKENTEERZLHAT16mm,

C1
D1
|

D1

fem: M RENEEE,
EEHORERESE.

: 3 3. RKIFEE: 12~48 mm
iU mme % (i (e ) W | 5F H L max L3 ' ’ °
Number el Stock| | L1 L2 c1 L4 D1 pp || G| Wi w f Application:
ross | ssva0E0Tusg ol x| e » I o et Dimenson () x| 1. The opening of bar puller shall be 3~5 mm less than Note:
i i TN e N N S R T R R 2 The gripping lengih has 6 be more than 16mm from chuck surface Den o choose, plese choose
708608 | SSH22-ECHIOWM-70 | @ | 70 122 26 22 18 0.5-10 ER16 [BSER16M ;ggggg zgnggiég::osggﬁﬁo : 28 22 ;2 gg e B 20 17 e 3: Gripping range:12~48mm_ ) insert a”Oy or no a”Oy'
708610 | SSH22-ECH10WM-85 ° 85 137 22 708804| SSH20-ECH10SOH-70] @ | 70 90 22 66 -
708612 | SSH22-ECH7WMS-100 100 | 1425 | 165 | 19 15 | 057 ER11 |BSERIIA 708606] SSH25-ECH10SOR-40] @ | 40 | 63 | 23 | sy ] ' | ® |2%° ER16 BSERTGA
708614 | SSH22-ECH10WMS-100 100 142.5 26 22 18 0.5-10 ER16 |BSER16M 708808| SSH25-ECH10SOH-50| g 50 73 23 47 25 22
708616 | SSH32-ECH13WM-55 55 109 27 28 19 | s | ER2 08810/ SSH25-SOH13SOH-50] @ | 50 | 735 | 235 | 46 9 3 | 113 ER20_[SSERZ0A . .
708618 | SSH32-ECH13WM-85 85 138 27 28 19 ER20 |BSER20M 708812| SSH32-ECH20SOH-80] g | 80 115 35 75 23 50 [ 220 | 32 36 | ER32 |BSER32 >> Dimensions (mm)
TIE H ok §R 18 REAERTIEL, BHHKSEER. ot orNosie = *H‘%‘E‘ )
JE=] A Alloy or No alloy Jaw. ripping Range
Water outlet copper cap of lathe turret Itis installed on the lathe tool holder and A5 Type OrderNumben y pping Rang (RMB)
used to adjust the water outlet direction. _ R% LLQ16 707670 216 HEE Alloy Jaw 12mm-48mm 0.3 400
oD B/ID | ARES Dimension (mm) LLQ16N 707672 @16 %Aﬁ No Alioy Jaw 12mm-48mm 0.3 350
/T /—— @D2 Order | ModelNo. | 4 || 4 |p2 |2 LLQ20 707674 @20 #EE4E Alloy Jaw 12mm-48mm 0.4 400
; \ , LLQ20N 707676 @20 &% NoAlloy Jaw 12mm-48mm 0.4 350
-/~ 5mm e 708580 | CC-CSLM-1 | 12 | 15 - - LLQ25 707678 @25 #EE5%E Alloy Jaw 12mm-48mm 0.6 400
5 -+ 708581 | CC-CSLM2 | 10 | 14 - - LLQ25N 707680 @25 &% NoAlloy Jaw 12mm-48mm 0.6 350
‘ L1 ‘ ‘ L2 ‘ 708582 | CC-CSLM-3 | - - 12 | 12 LLQ32 707682 @32 #EE5% Alloy Jaw 12mm-48mm 0.9 700
o —< 708583 | CC-CSLM-4 | - - 10 | 9 LLQ32N 707684 @32 &% NoAloy Jaw 12mm-48mm 0.9 650




Lathe Chuck Accessories

FIRFEEH T 22 ZE R 23k | Precision lathe chuck

— ot L3 N — -t L3 N —_ RNy A3 S N o
P AmERR sk FofE R Sk PRERTIER KL E i
= 55 © BT Sk E S 0. 005m o
& Standard pull chuck Standard pull shaft head Standard front push clamp - AT ERI S USSR BAL- 38 | A2-4R), A2-6TISH ST Ik AIEE &
¢ 2 c ERTEABITER, BERMERNEANW, ERARLER=RRTEKRE
th 52 BRI, BEAERICSHEESTUR ERARREFABREE, TBRTEX. EEESM
—Eﬁ 1 L * Front push type ferrule with precision of 0.005m —Eﬁ
A * The model specifications of the front push type ferrule are complete with A2-3 type,
IR A2-4 type, A2-6 type and so on. [N
lL:_Et = § * Applicable toallkinds of CNC lathes, grinding machines and all kinds of special machinery, lL:_Et
—Eﬁl 1 | | : the size of the front push type ferrule series products according to the standard The quasi- —Eﬁ
N — = | ool standard design, with the front push chuck can be replaced with the original hydraulic chuck
‘ T l [ ‘ | | A onthe machine, no need to modify the size.
= = h = =
B *ul; L [ ) g
& ety \ 3 , &
&= s D D1 D2 M M1L D3 d L1 L2 L3 G RMB
D11 708645 CCJT-YS28(A2-4) @110 2826 | ©63.51 | M40X1.5/M50X1.5| 110 @83 @30 20 8 23 3-M10X30 D11
ﬁ§ m . s R IMKH B ZE 0. 005mm 708646 CCJT-CK36(A2-5) 2128 2104.8 | @82.56 | M55X2 |M64X1.5 128 2103 @42 22 8 23 4-M10X30 ﬁ§ m
. | BuR A RSB S MARTTEHA2-38, A2-48), A2-6RFRISATLLE M AR
KR ﬁiﬁf’%%igﬁ'i“fﬁlV\]?I‘%Wﬁ(ﬁhﬂl‘?'b\ HiTEREERAME. M5, X ERATEEREER, BRMEXNEANM, NXHELRINmRRTEESH 708647 CCJT-YS46(A2-6) 2165 21334 | ©106.38 | M60X2 |[M80X1.5/ 148 @130 @52 26 8 31 4-M12X30 =473
ES HEERRK. JRERBHBEFREERRE, TRRTEK TE
* juat Sl S e e B A28R) | 35/358), 45/468, 52RISE R 2 e AT Ik AR 708648 CCJT-CK52(A2-8) @220 | @171.4| @1397 | M85X2 |M112X2| 174 | @158 | @80 32 11 34 6-M16X35
= CERTEXBIEER, J%E%ﬂ%iﬁ?ﬁimﬁi, iﬁiﬁ?&%%ﬂf*%&#ﬁﬁﬂﬁ}ﬁ 045 AR AT H R 3T
T EE Miggit, BRARMXESNFEENREFEBRRE, RRRTER Ul haft head with precision 61 0.005mm 7] B
—— . « Models of CNC pull type chucks are available inA2-3 type, A2-4 type, A2-6 type, etc. . 7 ot M s S et e
_App\icableto all kinds of CNC lathes, grinding machines and all kinds of special *%HQ §$ 'l‘i ;%9; *%H)L §$ |‘$ ;%J:E 'EJ
. . machinery, pull shaft head series products size and machineThe original hydraulic ) Rubber elastic collet sleeve
» Pull chuck mainly for domestic and foreign CNC machining centers, CNC lathes chuck on the bed is replaced and installed without dimensional modification. Rubber elastic chuck
. usedinthe round, square, six Special chuck for square, etc. —_—
iﬁj] Pull chuck model specifications are complete 28, 35/35, 45/46, 52 and other TR iﬁj]
_F_,g,, types of chuck can be used with _F;s,,
o Applicable to all kinds of CNC lathes, grinders and all kinds of special machinery, e A= D D1 D2 D3 L D4 H D5 G RMB o
pull chuck series products size in accordance with the standardSpecification Order Model
T §t design, with pull-type shaft head can replace and install with the original hydraulic 708625 |CCJT-CK28(A2-3) | 94| 370.6 |@53.975038|@38[102 | 24°@44.5/3-M10X25 Tt
h chuck of the machine tool, no needto change the size 708626 |CCJT-CK36(A24) @110 @82.6| @63.51/@56(@56/115 | 30°|@63.5/3M10X25 h
R R
ﬁ%ﬁ 708627 | CCJT-CK46(A2-5) |0135082.56 ©82.56|@65|@365/124 | 30°/@73.5 3-M10X25 ﬁ%ﬁ
[ 708628 | CCIT-CK52(A2-6) [071580133.401106.38070|@70]128 | 30°|0378.5 6:M12X28 G
o = Max Dia 5 . cRABRNATERIMRNU TEHES
I Siae | dedw | P |L|Dt| M |H RME gs | @S Pl RIS SRR TEE A B
or o O0 Order Wode! D D1 Dz D3 L D4 H D5 G |RMB DB LR IR B s Rk CBESRHERT REERERR oy
ma = i 4 . v g . o i
708620 |CCJT-CK28| @45 | 88 |@38|M32x1.5| 24°| @28 | H23|S18 708630 | CCJT-YS28(A2-3) (3110 @82.6| @63.51|@49|115|@75| 30°@58.5 3-M10X25 gggggffgﬁggﬁ)\xﬁ .ggﬁ]ﬂﬁﬁ%iég%%@ﬁ)\tw
CEENE, BKES [Rdicsil N v
IA 708621 |CCJT-CK36| @64 |102 | @56 |M44x2.0| 30°| @36 | H36|S27 708631 | CCJT-CK36(A2-4) @1280104.8 ©82.56/056| 115082 30°363.5 3M10X25 DI EEEHE, BEhRE <0.005mm | FREIERE, B <0. 005mm IAa
) : * Optimized with back pull work ize, ht
il jj 708622 |CCJT-CK46| @74 | 105 | @65 | M55x2.0| 30°| @46 | H40|S32 708632 | CCJT-YS46(A2-5) |@128@104.8 @82.56|@49(115@76| 30°|@58.5 3-M10X25 » Optimized with back pull working size, no excess weight . Aﬁgw;j;h g;ee;icng:as‘?‘; ‘snpgezleZoneosizfizsffse\gtec‘lgampingforce I jj
« Allow high speed, increase in speed does not affect clamping force « Quickly change the collet chuck with a special counter wrench
%E| 708623 |CCJT-CK52| @79 |105 @70 | M60x2.0| 30°| @52 | H46|S37 708633 | CCJT-CK52(A26) (31580 133.40106.38@65| 126 @95| 307@73.5|6-M12X28 * Quickly change the collet chuck with a special counter wrench  High wear resistance and long service life % E|
- * High wear resistance and long service life . -
@E 14-‘ =@ At ERL BRI R<TIT# MAEIEFRTIRRTITH * Rubber seal prevents iron filings and aluminum filings from entering the body . 2?;:2:::{55‘;?;:;(2{‘ ‘flohr:\gglsi%nd aluminum filings from entering the body EE 14-‘
" : i:g?:z:sﬁigj;:!;lr::nr:)%l‘;eccuracy <0.005mm * High rotation accuracy, runout accuracy <0.005mm
HLR : HLR
= = = =
=t 1:_ R L Ip s o RS NNT i éﬁdzr ,%,fd D D1 D2 D3 D4 L H RMB éﬁ;gr ,\%5’; D D1 D2 M L | D3 |L1 G RMB =t
—— O A HE TS Rk AIERNERE —
N . 708650 | CCJT-XJ25 | @4-@25 | @54 | @27 | @34 | @39 40 30° 708655 CCJT-XJ25(A2-3) | @95 | @70.6 |@53.975|M32X1.5| 76 | @68 | 40 |3-M10X25
Standard pull chuck Push-up inner support
iﬁ‘ﬁ 708651 CCJT-XJ35 | @4-035 | @66 | @37 | D44 | @49 42 30° 708656| CCJT-XJ35(A24) (@110 @826 | ¥6351 |M44X2.0| 83 | @82 | 44 |3-M10X25 ir;ﬁ
Sk = 73
B o 708652 | CCJT-XJM5 | 04045 | @83 | 046 | @55 | @66 | 53 30° 708657| CCJT-XJA5(A25) |0128/@104.5) @8256 | M55X2.0| 90 |@101] 43 |3M10X25 &
708653 | CCJT-XJ52 | ©4-052 | @93 | B54 \@62.5) 068 | 56 30° 708658 CCJT-XJ52(A2-6) |0165|0133.4| 3106.38|M60X2.0| 100 @114| 49 |6-M12X30
RS 1Y alh 1 IR TN ALh
ERRXAERE BERFRRANERE
Rear pull inner clamp Heavy-duty rear pull-type inner support fixture

i e Kk et

:

o BHES RSk R A AT HERUIRAE, SRF TS i E B )

AR JSL R S MAESEEEH163H,, 1738), 1858, 193RVHF RS J LA LAk FIERL
TERTEARERER, ERMEREMNM, FTHERZLRTIFRRHRBIRE * BIER IR AR SR TR BA2-38), A2-48), A2-6RIERIS ALK IAED
| AR, ERAHERICSER SR LEBRAEREEREE, TERTEX. ERATEEBITER, BRMSREANMN, aiERRERERTSRSHKBIRE

© AT, BEAHERSSEESIUR ERBRMEFEBRERE, TRERTEX.

¢ The push-on chuck uses a push-up operation that does not move axially when
clamping the workpiece

The model of the front push type chuck is complete with 163 type, 173 type, 185 type, * The model specifications of the front push type inner support clamp are complete with © FRIRMERAR SHMILTEBA2-38), A2-48), A2-6RIE R ST Uk A - ERERARERARSHIETEAA2-38), A2-43), A2-6BIZ RIS AL AILE
* 193 type and other types of chucks A2-3 type, A2-4 type, A2-6 type and so on. < ERTEREISER BRAENE A BTER AR AR SR TR < ERT & SHMISE R BHRAS L FIHLAL AR I S AR 51 @ R R
Applicabletoall kinds of CNC lathes .rindin machines and all kinds of special machine . Applicable to all kinds of CNC lathes, grinders and all kinds of special machinery,the Miggt SNKRESRHEFEERRE EFBERT. ML SMERBRAEFEERRE THERRT.
Ihpp' fihe frontpush huck 9 9 dingtothestandard Th P ification desi . size of the front push type internal clamps is designed according to the standard « The rear pull type inner support clamp model specifications are complete with * Heavy-duty rear pulltype inner clamp type specifications are available in A2-3 type,
: esgeo [.9 rontpush type chuck seriesaccordingto .esan .a‘ espem.\ca iondesign, specifications, and the front push type chuck can be replaced with the original hydraulic A2-3type, A2-4 type, A2-6 type and other models. A2-4type, A2-6 type, etc.
combined with the front push clamp, can be replaced with the original hydraulic chuck onthe chuck on the machine tool without dimension.modify. « Applicable to all kinds of CNC lathes, grinding machines and all kinds of special « Applicable to all kinds of CNC lathes, grinding machines and all kinds of special
machine without dimension modification. ’ ’ machinery. The size of the front push type internal clamp series is designed according machinery. The size of the front push type internal clamp series is designed according
to the standard specifications, and itis replaced with the original hydraulic chuck of the to the standard specifications, and itis replaced with the original hydraulic chuck of the
machine tool, no need to modify the size. machine tool, no need to modify the size.
g e |D| D1 L | D2 e Bre (RIS Be 72 e = e me
O O O Ord1e5r Mozl D D1 D2 M G RMB Order Model D D1 D2 M G RMB Order Model D D1 D2 M G RMB
708635 |CCJT-163E |@39| @49 | 80 | @35 | @30 | H27 | S22 708640 CCUT-A2-328 | go4 | 970.6 | ©53.975 |M32X1.5/3-M10X25 708660 CCJT-A2-3-28| @94 | @706 |@53.975|M32X1.5| 3M10X25 708665 CCJT-A2-3-28 @94 | @706 |@53.975|M32X1.5| 3M10X25
708636 |CCJT-173E |@50| @60 | 94 | @48 | @42 | H36 | S28 708641 CCJT-A2-4-36 | 110 | ©82.6 | ©63.51 |M44X2.03-M10X25 708661 CCJT-A2-4-36| @110 | @826 | @63.51 |M44X2.0| 3-M10X25 708666 CCJT-A2-4-36| @110 | @826 | @63.51 |M44X2.0| 3MI10X25
708637 CCJT-185E @73 @84 110 266 260 H50 | S40 708642 CCJT-A2-5-46 @128 | @104.8 282.56 |M55X2.0/3-M10X25 708662 CCJT-A2-5-46 @128 2104.8 | @82.56 |M55X2.0| 3-M10X25 708667 CCJT-A2-5-46) @128 2104.8 | ©82.56 |M55X2.0| 3-M10X25
708638 |CCJT-193E |©92| 0107 | 130 | @90 | ©80 | H6E6 | S50 708643 CCJT-A2652 | 158 | ©133.4 | ©106.38 [M60X2.0/6-M12X30 708663 CCJT-A2-6-52 @158 | @1334 |©106.38 |M60X2.0| 6-M12X30 708668 CCJT-A2-6-52 @158 | @133.4 |©106.38 |M60X2.0| 6-M12X30
L= @ ARAE Rk B IR AT R R IT M MABIERARRTITH A IEFR AT R R E M MAIERR AT R R E M




R FEEH

Lathe Chuck Accessories

ERMzN K E

ER shaft power unit

BA 2 LA o k) O

7], LFRMMITIR, LUK SR T & 7= 7 XHLARB N TEE

zs = dE = aE = A =2 = dE == o s

T ERMizIhRE ERMzh HEE ERHMINEE oo ER%HzEN K E X 52 T

" ER axis power unit ERAXIS POWER UNIT ER axis power unit ] ER shaft power unit bracket i

42 CCJT-ER20-111 CCJT-ER20-1if CCJT-ER20-4(2i#X21) i .

= 1 . =)

FE ERMHNEERRERBERNTELREUNNEE BB ETUREWK E : FE

— $7), L TZ AT TTR, LEHLGR SIS A 4L I T A 7=, 37 K HLBR 9 0 136 B : —

v o iE A E RSN TR S AL . - T

_E;;} The ER-axis power unitis equipped with a power unit on the turret of the CNC ® e _E;s}

o " lathe, and the unit can be equipped with a drill bit.Milling knives, wire tapping D" @ o
] and other processing tools, enabling machine tools to achieve diverse processing o ®

’—=\,£ [ and production, expanding the processing range of machine tools Applicable ]o ° ’_=\'£

_E;s} T " to all kinds of brand models at home and abroad. s @@@ o _E_F-}

- ] B []» 40y 4o ] .

/_j;l_m s 3 ey 4 @ 10 - ° + _é-u im
@ 53] i L — E e $

N h o @ = i _ | [H- all N
—rTTn — e 2] T[] S (S

if;‘ﬁ iin W = j; wsnifevgL A 1 En & i};ﬁ

NE = ‘ " Fossasail™ I

- ERMFNELEERRERIEFERNNNBLRRUDHEE KB LATUREHL i -

|
ERTEARMNSMRBESHK. o
The ER-axis power unit is equipped with a power unit on the turret of the CNC / T CCJT-ER20-8 CCJT-ER20-6 CCJT-ER20-6
lathe, and the unit can be equipped with a drill bit.Milling knives, wire tapping 3 (434D (33X3MM) (2iX2AT)

_ and other processing tools, enabling machine tools to achieve diverse processing p _
F and production, expanding the processing range of machine tools Applicable | L1 L2 L1 L2 L1 L2 Fa
+&= to all kinds of brand models at home and abroad. 24 &

: 450 328 390 268 330 268
T $t - " 4 . N 51 $t
— J+ =m — g+ oo — g+ oo - s+ o3 A o
- ERMIzI K E ERMIzI KR E ERMIzI &K E ERBIZINEEEIR .. ——
fﬁ[’; ER axis power unit ER axis power unit ER axis power unit ER axis power unit (with bracket) }i[’;
7 N N . 7
i CCJT-ER20-211 CCJT-ER20-2if CCJT-ER20-6 (3if X311) CCJT-ER20-6 (3 X3 1) e
— T AR MR
B T
A 14 E A
L ] Jda =~ ATRLTL
IE: ..L [ | IE:
ks | 1 ks
o LN A AT ; o
%% e 3
R | R
B | B
IR IR
ERMHNNEERREREERNTIE LREZUNNRE RE EATURESL
ZEIK Y7, LFEMMIIIE ARSI S HAM T A= 7 KHLKE M T5EE Z K
*#& EATEARMNEHRRESHK. T
I~ o The ER-axis power unitis equipped with a power unit on the turret of the CNC I~ o
lathe, and the unit can be equipped with a drill bit.Milling knives, wire tapping
and other processing tools, enabling machine tools to achieve diverse processing

and production, expanding the processing range of machine tools Applicable
to all kinds of brand models at home and abroad.

ERMIZN 1% &

ER axis power unit

CCJT-ER20-31 T

EREHNEERREREERNTIE ELRZXUNNEE KE EATREHSL
YT LWFEEMMIT) A ARSI S HEA M T E P, 7 KHLK N LseE
ERTEAMEMHRRESHK.

The ER-axis power unitis equipped with a power unit on the turret of the CNC
lathe, and the unit can be equipped with a drill bit.Milling knives, wire tapping
and other processing tools, enabling machine tools to achieve diverse processing
and production, expanding the processing range of machine tools Applicable
to all kinds of brand models at home and abroad.

ERMZN 1% &

ER axis power unit

CCJT-ER20-3i

ERMENEERBEREFRNTIE LRXUNHZE KE ETUREHL

$T) LWFEEMMITIA ARSI S HEU M T E P 7 KHLKRS M ISEE
ERTEAMEHREESHK.

The ER-axis power unit is equipped with a power unit on the turret of the CNC
lathe, and the unit can be equipped with a drill bit.Milling knives, wire tapping
and other processing tools, enabling machine tools to achieve diverse processing
and production, expanding the processing range of machine tools Applicable
to all kinds of brand models at home and abroad.

ERMZ 1% B g e

ER axis power unit

L2
CCJT-ER20-8 (45 X41M) itﬂt&f/@
= o

ERMANNELERRERRERNTIB LRRUDNRE KB EAURESL

Y7, L WEEMMMIIIA ARSI S HAM T E = 7 XK N ITEE
ERTERMEHREESHK.

The ER-axis power unit is equipped with a power unit on the turret of the CNC
lathe, and the unit can be equipped with a drill bit.Milling knives, wire tapping
and other processing tools, enabling machine tools to achieve diverse processing
and production, expanding the processing range of machine tools Applicable
to all kinds of brand models at home and abroad.

ER%ZN 113 B (& X 30

ER axis power unit (with bracket)
CCJT-ER20-8 (4umX4fl)

ALY L F-m
i =




R FEEH

Lathe Chuck Accessories

P — = 7 SEZEREH : s =]
jil_ _m _\’E%ﬁ Operation Example for rotary table : gijjg:uﬁgiu%* SUPER THIN CHUCK ij‘t}__
— 3-JAW AIR CHUCK FIXTURES 2 / BABERALEE: . —
. TIBFMBERKI0 M, REREEER. -
o 5k 2 BAGW, AEMERNIZAAKE. F 3t
& S PRk M4 S e
. VT RI 2% °
N | N
A2 A2
—F— L WS%EEﬁaTnT\Z‘ C"l_'hU;KaSngle of 30 degrees in much convenient —Eg
- . wi in mu veni
Ly “1_ 77777777 6 gl 3| < CNCU ol for operations
85 \ \ Y ] e = Operation Example for CNC Lathe 2.The"super thin thickness"design of chuck increase the 55
’°\ ﬂ,ﬁ/\/" . _:E__l_% i 1 "allowable distance"of machining operation. 5
—Eﬁ‘l - - = Ll { 3.Chuck flange makes loading and unloading operations —Em
\ 3:MBx1.25P T 1 simpler and mors convenlent. —
=1 PCD o104 a m 4.Hard jaws and Soft jaws can be used altematively. Unit:rim £
LE !
& I £ L Detail Drawing & I
_ AREE ARIEE [
R B 0o.D.C 1.D.C B4
k7S 0 OrderNO.| Model | A1|A2|B1|[B2| C | D |E|F G Hlolk|L|m] ? - o k7S
= p (kg) lamping lamping Price
% T8 = = 5 _
S T EEER | ier | AR, e | MXSEE | xmmE | A |, (mm) | (mm) -
= = Alelclplel F G | H|1]J]K|Piston Areal " ‘-E( [Jgiame?ere] AtAir  7kgflom® rMarﬁ-(?nﬁﬁid) Gripping | Weight )
J] EE S S MODELE (em?) il R il Range (kg) Pl 704100 | NBKO6 [220(170| 58 | 18 [130|147| 45 | 6 | 3-M10x1.5P | 68 | 26 | 40 | 10 | 13 | 10.6 | @8~@160 | G48~@150 J]EE
. 703800 | JMR-04 |117|60{20{3.5| 74 [100.7|26.7 [49.5[14{10| 23 57 9 3.8 [1100 (10.8) 3000 310~3117| 5.7 704102 NBKO8 270|210 65 | 20 | 155|172] 60 | & 3-M10x1.5P 82 | 28 | 43| 11| 13 18.1 @11~ @200 | @62 ~3190
B
o
Fk = — = 704104 NBK10 315|255| 73 | 20 (190 210| 80 | 6 | 3-M12x1.75P 93 | 32 | 52 | 12 | 16 27.9 | @12~@250 | @72~ D240
WRE=ZMSERE 3-JAWAIR CHUCK FIXTUES BULIT-IN 2 CYLINGERS ' :
= P = N 704106 NBK12 370|305| 80 | 22 |250|285|105| 5 | 3-M12x1.75P 118 40 | 59 | 14 | 18 429 | ©15~@300| @86~ @290
THE®E J = Eugn | EEOE (H\EGE) Gr{fﬁ?ﬁﬁe BEERE | skiEmmE BE sy
E Be Alelclol el G | 1 lilyl|K|Piston Area F;'t""?(e’ fsg‘;ﬁﬁga AtAir  7kgf/om® r"""&ﬁﬁﬁeﬂ Gripping | Weight ) . .
order Number | MODEL (cm?) (r;om)e p— P"ﬁ;?fe (Og(w)’a) {2 Range (kg) Price sl ﬂ E ;% 5'% 9: SUPER THIN SQUARE CHUCK
T 703850 |JMR-04S |117|60(20{3.5[99.7|126.4|26.7 [49.5(14{10| 23 114 9 3.8 2200 (21.6) 4500 @10~2117| 7.2 M
N - . . . . . . . ~ . 3 A TC
1TMCHAESTHESRX ; FAREMAEZ
s
& = % FEREWXY ZEIAZBELZKR0.05MMA
if?; =] % :_l'—t SE 9% ﬁ 2. MCHLIE S T B 4 T AEF AR 2 T,
= . . 3 RERPONABEARBLF, HE. f :
&# Rotary Air Check Fixtures sEnEExRzREiZROQMA. ]
R 43D FAT ) g T 0.05MMA
. #2414 bl T 5& ASuitable for light cutting 1E SQUARE CH:.CKS b .
%ﬁk @%K‘;\E*ﬁiﬁm?ﬁgﬁ ) Eﬁnﬁﬁgﬁimﬁ%;ﬂ% ) 3 H R &M 1.MC chucks are precisely ground,the tolerances m z %ﬁk
HE IoEAESBREEI. L e e i | A
—_— 1":\,Eﬂﬁi§ﬂf¥ Eﬁﬂﬁﬁlfﬁﬂiﬁﬁiw%b‘t B E\ﬂl’\]%ﬂéé[‘)‘iﬁ&k& i .spec\al shaped work pieces,to substitute for R ‘
IE $§$i§§£‘F§Eo 3_?'?@””@ and maklnga\olofjlgsfor(rl‘vlip%rpzse. . & =W z IE
g 2BAER. TERNGERVEETSEAREABONE  BR%E aws are within b.oomm oo e her N . 4
P 4 parallel grippin racy with hard jaws can b 5 <
e amsay MRXEMEEE BpETa% Eamied i cem st abaniia siiesof shucks. [T ———] ] |
% F| ’ Hljﬁé vovE BT h ! It's Ideal for diving or cutting work pieces bymounting the chuck on indexing table or rotarytable. I Irem | Unit:mm % F|
& ° The distinctive feaure is that the chuck rotates with the spindle of indexing table orrotary table.

@E 14: 1.Rustproof treated cylinder: %E}EE WE?EE EE 14:
—_— 2-PT1/4-19 The cylinder won't get rusty and seized even in wet or high moisture working environment. BE im’ —_—
WL ‘ 2.Dustand water proof cover: o , o OrderNO.| Model | A | B | C|D|E|F G Hiv|k|L|[M|[N|P|Q|R|Ss oL HD.E _ HLER
T B : ,,l,,_, L prevent metal chips or.coollz-mtfrom entering inside of chuck cylinder to maintain its accuracy (kg) lamping lamping Price T 19

& | S s ton sy 1 om | om) &
’/:’ / ' - ! 4 W | Conneclcr.lu.ckand built-in .cylinder‘toeach‘otherdirechly.:thu‘senablesoperationstability, 704200 MCO06 215| 57 18 | 130 40 55| 4-M10x1.5P 68 | 26 | 39 14 | 144 |165|144|165]| 66 18 11.4 @4~3128 @55~ @128
$ J_?‘E J B - Y ] . Moreover,it is more convenient for installation and operation since the use If draw tube and i J_?‘E
N / . < u
s AT I HE & 2 g e L draw bar are no longer necessary. _ 704202 MC08 |250| 65| 20 |160| 55 | 6 |4-M12x1.75P | 82 | 28 | 43 | 17 | 174 |200{174|200| 83 | 18 | 18.6 | @5~@162 | B62~ B162 5
A ‘[ ]_.E 704204 MC10 310| 72 | 22 |200]| 70 6 4-M14x2P 93|32 | 50| 21|218|250/218|250(104| 18 | 31.6 | @6~ @200 | @72~ @200
b 0 704206 MC12 380 85 | 25 (260100 7 4-M16%x2P 117| 40 | 56 | 23 | 274 |310(274|310(135| 22 | 56.6 | @10~ @265 | @90~ D265
@?1;25";_1’_.

o BEJkL THIN CHUCK
. . BHOBERRBZRHE:
Bl >> Operation Example 1.8, B, WO BRTIABNRR. oo of oo tinchuck _
S - = = 3 2. BEERDRE  STERARFEETS. 1. Light, thin and short dcswgn,.sultab\c for workpiece
O}IfN?m?er M%[;’EL A B C D E F G H I J K L M P Thlﬁﬁolggg?nn;t)er) ;E%SEFA(I%EZ) 3. g?{zﬁﬁsﬁgmﬁg%° BESE Z.Eiisrer?&egt:ﬁ%ﬂ?s,rgz‘\rr](gctly to avoid the interference of
4., ER MA&ItT o spanner rotation )

703900 | JRT-05 |[140| 85 | 16 [60| 6 |180| 33 |62|14|10| 25| 6-M8x1.25P | @118 27 16 74 5. 2B/ THRIF0.8mm. o camp the rain forward o
703902 | JRT-06 |170| 96 | 20 |80 7 |210{ 40 |73[20]12] 31| 6-M8x1.25P |@147| 27 20 120 52 mimum workplece campng 0 6mm
703904 JRT-08 215(112| 30 |110| 8 |250| 42 |95|25|14| 35| 6-M10x1.5P | D185 28 30 190
703906 JRT-10 255|120 | 43 [140| 8 |290| 46 [110/30| 16|40 | 6-M10x1.5P | ©@220| 30.5 43 280
703908 | JRT-05T |140| 85 | 16 |60| 6 |180| 33 [62|14|10| 25| 6-M8x1.25P | @118 | 27 16 74
703910 | JRT-06T |170| 93 | 20 [80| 7 |210| 40 |[73|20|12]| 31| 6-M8x1.25P | @147 | 27 20 120 K B Unit:mm

= T = 5 1 5 SUESR# H1Gripping Force S aE {& {258 EMax. Gripping Diameter

HEFTR(mm)| TR (EEmm) BEHEE | BRREED : RIFEE | B E(kg) RS pping
12 - Max.Speed| Max.Ri At Air P 7kgflcm2(0.7M T F ) BE Lo
B8 |Plunger Stroke | Jaw Stroke(Diameter) ,.p?,):,(m'?r?ﬁ) kg?/)émae?hsﬂlg:) 'Lgfressure < CZL,\&) P2)IGrippingRange| Weight Price Oreler (e, Bicce! Al Bl CH DI EF ¢ R M (kg nene AEIEE Price
JRT-05 10 4.6 51 7 (0.7) | 1340 (13.1) 04-0136 9.3 OD:Clamping M| MEB-Glamping
704300 SE02 63 | 28 | 118 | 100 | 16 | 4 | 4-M5x0.8P | 27 | 8 13 8 26 | 1.2 0.8~ @63 @23~ @58

JRT-06 13 5.5 41 7 (0.7) 2330 (22.8) @25-0166 15.5 °
JRT-08 16 6.8 33 7 0.7) 3730 (36.5) 333-0215 285 704302 SE03 85 | 37 | 143 | 116 | 20 | 4 4-M6x1P 35 | 11| 15 [105| 32 | 2.9 @1~ @81 @31~ @70
JRT-10 19 8.0 26 7 (0.7) 5480 (53.7) B43-0255 423 704304 SE04 110 | 39 | 168 | 140 | 26 5 4-M6x1P 42 | 14 | 19 | 10 | 40 | 43 @1~ @100 @36 ~ @90
JRT-05T 10 4.6 51 7 (0.7) 1340 (13.1) D4-0136 9.0 704306 SE05 130 | 45 | 202 | 168 | 32 6 |4-M8x1.25P | 50 | 16 | 21 |11.5| 49 | 6.2 | ©1.5~0116 @43~ 3106
JRT-06T 13 5.5 41 7 (0.7) 2330 (22.8) 025-0166 15.0 704308 SE06 160 | 52 | 248 | 208 | 50 8 |4-M10x1.5P | 65 | 19 | 26 15 | 70 [ 11.1| ©1.5~0160 @52~ @148

Em29 M307H



FZRFEBH Manual chuck

Lathe Chuck Accessories

th == . . 5@ b B = i3k FroniMoanting Rear Mou;’nting thzs
o HBBE=MEL @ g Tk L 3-JAWS giiqﬂ ENCELL P 8
g 3-JAWS REGULAR TYPE CHUCK 4-JAWS REGULAR TYPE CHUCK POWERFUL TYPE ‘T &1 | g
& Loy ofds *&
Front Mounting Rear Mounting me‘Mc“"“"g RearuMoﬁ,Jmmg "*‘__E
- . S N R 7"\% o =t
MR ,rgf ? ‘ Al VAo
& /fyﬁt«x i Unit:mm &
wm [CER n5m R =
* \%& 3 b5 IR Max.Gripping Diameter B i &
- R OrderNO.| Model |A|B|C|D|E | F G H[{J| K |L N, ) =
- - ( kg) Speed 5\ 24E420.D.Clamping | 423 $EI.D.Clamping Price i
1IN (mm) (mm)
s Unit:mm (r-p-m) N
P 705500 | SK06 |167|66|130[147| 45| 5 |3-M10x1.5P |68(26| 39 [10|8.6| 2000 @8-160 @55-150
- N Jl
EIK B E R S #
Pt orderNo. | Model | A lslclolelr s al o lwlL (\:i; HaxSoeet Max.Gripping Diameter ;F;-m 705502 | SKO7 [193| 76155172 58 | 5 |3-M10x1.5P [82(28| 43 [11|12.8| 2000 @8-1800 @62-170 A
(r.p.m) AELR HELE rice 705504 | SK08 |203|76|160[176| 58 | 5 |3-M10x1.5P |[82(28| 43 [11|14.1| 2000 @8-180 @62-170
7] e 0.D.Clamping| |.D.Clamping 7] FE
705100 | SC03 | 85 | 45 | 60 | 73 | 16 | 3.5 | 3-M6x1P 35 [11|15| 7 | 1.5 2500 ©2-70 024-64 705506 | SK09 |233|84(190[210| 70 | 5.5(3-M12x1.75P [93|32| 50 [12|20.4| 2000 @11-220 @70-210
£ £ 2
*;’%i 705102 | SC04 |112| 58 | 80 | 95 | 24 | 45| 3-M8x1.25P | 42|14 17| 8 | 3.3 2500 @3-90 @32-84 705508 | SK10 [273| 86 |230|250| 89 | 5.53-M12x1.75P [93(32| 50 [12(26.7| 1800 @12-260 ?80-250 gﬁ%i
< 705104 | SCO5 |[132| 60 |100|115| 32 | 4.5 | 3-M8x1.25P |50 |16 |20 | 8 | 4.6 2500 @3-110 ©35-110 N
705106 | scos 1167 66 11301471 a5 1 5 1 amioxisr Tos 19 123 T10 1 79 2000 24160 245150 705510 | SK12 |310| 96 |260[285(105| 7 |3-M12x1.75P [11840| 56 [14|39.3| 1800 @15-300 @90-290
705108 | SCO07 |[193| 76 |155[172| 58 | 5 | 3-M10x1.5P | 75|22 |28 | 11]12.0| 2000 04-180 256-170 705512 | SK16 |405/122|345[375(160| 8.5| 6-M14x2P  [150145(75.515(82.3| 1500 @30-400 @110-380
—_— 705110 | SC08 (103 | 76 |160|176| 58 | 5 | 3-M10x1.5P | 75|22 |28 | 11|13.3| 2000 04-180 @56-170 —_—
Ax ) — Sz B
T gt 705112 | SC09 |[133| 84 |190[210| 70 | 5.5 | 3-M12x1.75P | 85 | 24 (34.5| 12 | 19.3 | 2000 @5-220 @62-210 Bz = TRk 5 gt
. 705114 | sc10 |273] 86 [ 230|250 89 | 5.5 | 3-M12x1.75P | 98 | 28 | 39 | 12 | 26.2| 1800 @6-260 @70-250 3-JAWS A1 TYPE CHUCK IV = o
)8
fﬁgg 705116 | SC12 |[310| 96 | 260 |285|105| 7 | 3-M12x1.75P [110{ 30 | 44 | 14 | 37.6 | 1800 ©10-300 086-290 1 ;—gg
v w
B 705118 | SC16 |405|122|345(375|160| 8 3-M14x2P 146 40 | 56 | 15 [ 80.7 | 1500 ©14-400 ©100-380 i ﬁéﬁ
X 5 Iy S i 7T —_—
s HEMNRL 4-JAWS REGULAR TYPE CHUCK Unit:mm iﬁ B
Wi pamg | CECH i Unit:mm W&
s R _
~  |orderNO.| Model | A | B | C|D|E|F G | e || B s R PEwE N BEE B =
%ﬁ “O | rpm) AEIRE LR Frice OrderNO| Model |[A| B | c| D|E| F G il 1 fulk|L] e | wm|N[PE l\illl%a? Max.Gripping Diameter il %ﬁ
0O.D.Clamping| |.D.Clamping (kg) Speed NRIDIE MR Price
. 705200 | PS07 [193]| 76 | 155|172| 58 | 5 | 3-M10x1.5P | 75|22 |28 | 11| 12.1| 2000 04-180 056-170 (r.p.m)| 0.D.Clamping| 1.D.Clamping %3
fic ¢4 705202 PS09 233 | 84 | 190|210| 70 | 5.5 | 3-M12x1.75P 85| 24 [34.5| 12 | 19.4 2000 25-220 262-210 705600 | A,5-08" |200 | 83 [33.5 [61.9 |40|0104.8 | 3-M10x1.5P  |82(82.563|28(43[11|14.29| @16.3 |6.8[17.4| 2000 28-180 ©62-170 e 4
705204 | PS12 [310| 96 | 260 |285|105| 7 | 3-M12x1.75P [110{ 30 | 45 | 14 | 38.1| 1800 ©10-300 086-290
“‘LHE 705602 A,6-08" (200 | 83 [33.5 [82.6 56|@133.4 3-M12x1.75P 82 (106.375(28(43 [11[15.88| @19.3 | 6.8| 30 2000 211-220 @70-210 ULPF
= 705206 | PS16 |405|122|345(375|160| 8 3-M14x2P  |146| 40 | 56 | 15 [ 82.4| 1500 ©14-400 ©100-280 Z
I’\ 705604 A,6-10" |255 (91.5 [36.5 [82.6 56(@133.4 3-M12x1.75P 93 (106.375(32(50 [12|15.88| ©19.3 [ 6.8] 30.6 1800 @15-300 @90-290 I’\
o i B AYI B SRV P P — EFURN AR AR TR AT .
E zh B Y s, .
iy¥-9 6-JAWSAWL TYPE CHUCK 8-JAWS AWL 58 71 &) E FrontMounting ~ Rear Mounting +5&
POWERFUL LLES RS
TYPE CH K
crue 4-JAWS E T
Front Mounting Rear Mounting R LL TYPE [ e
BAE SCRO g [
Eg s Jﬁ
- e 3
=—- BEE BELE
iy Max.Gripping Diameter
(@‘ OrderNO.| Model |A|B|C|D|E | F G H[{J| K |L ii Max. _pp g - %{ﬁ
(kg) (Srppeﬁ% 4\#Z38#0.D.Clamping | A#Z3E#EI.D.Clamping Price
P (mm) (mm)
705700 PSK07 193| 76 | 155|172| 58 5 3-M10x1.5P 82 |28 43 | 11| 12.7 2000 @8-180 @62-170
e | BEEEE
;?E ilﬁjﬁlﬁﬁ Max Gripping Diameter im 705702 PSK09 233 84 [ 190|210 70 5 3-M12x1.75P 94 132| 50 [12]20.8 2000 @11-220 @70-210
OrderNO.|Model| A | B | C | D | E | F G H|J | K| L |, [MaxSpeed . ;
(kg) (r.p.m) AEEE Price 705704 PSK12 [310| 96 [260|285| 105 | 7 | 3-M12x1.75P  |118[40| 56 14| 49 | 1800 215-300 ©90-290
0O.D.Clamping
705300 AS04 112 58 80 95 32 45 3-M8x1.25P 45 14 46 8 38 1200 @2-32 705706 PSK16 405(122|345(375| 160 | 8.5 6-M14x2P 150(45|75.5(15| 86.7 1500 @30-400 @110-380
R A 5 5E BR AT nghn 0
705302 |AS06 | 167 | 65 | 130 | 147 | 60 | 5 | 3-M10x1.5P | 66 | 19 | 43 | 10| 8.4 | 1200 24-60 5 FJ4 JTU POWER SOFT JAWS ERATREE R AR
HEZ AT K 8-JAWS AWL TYPE CHUCK Unitmm oerno.| ms | | ol oo le | : . P T R I VN R ?f(k o
- MODEL eig g rice
BEEEE BT E 705800 |SO06Jaw | 73 37 26 | 38.1 | 12.68| 7.94 | M8x1.25P |17.45| 14 3.5 3 25 9 1.3
AE | Max.Gripping Diameter | & f} 705802 95 | 48 | 31 | 44.4 | 1268 7.94 | Mi0x1.5P | 253 | 17 | 3.8 | 3 34 | 1 2.6
OrderNO.|Model| A | B | C | D | E | F G H|J|K|L Max.Speed : S007 Jaw . . . . } , ,
(kg) (r.p.m) AREE Price 705804 |SO09dJaw | 110 | 48 37 54 |19.03 | 12.7 | M12x1.75P | 28 19 | 4.2 3 34 13 3.6
0.D.Clamping 705806 |SO12Jaw | 125 | 54 42 | 63.5 [19.03| 12.7 | M12x1.75P |30.75| 19 | 4.2 3 38 13 5.5
705400 [AE09 |233| 84 | 190|210 | 100 | 5.5 [4-M12x1.75P | 85 |24 | 60| 12| 21 1000 @7-100 705808 |SO16Jaw | 160 70 50 76.2 | 19.03 | 12.7 M16x2P 41.9 25 5.5 3 48 17 10.4




e T ST

Lathe Chuck Accessories Manual chuck

3 —_ == N N — — S 3
TE o WA ZMMRERK EREEY:: W F: ) € ESPPT i
> N m

2-JAW STEEL BODY CHUCKS 2-JAW POWERFUL TYPE ADJUSTMENT STEEL BODY CHUCKS

oh S — . oS
e 1TAERBERMEETREE, B G 5
> m a N N m

2MFTHEERRE , MAKSIHBE, %*
73 3AEMREMSCNCE FBE M4 . T IR
= = |

& ARREMTERERENR2MS  MEMR  EAFHK, B &

T SHIRFANRNMRERG. k —== .

=5 =5
£ ST e e s €5

s G -y |
£ - , . -wl F £
@————?‘: 1.Can be used as a “Forming plate” for mach soft jaws. T —- |
ﬁﬁm I\l 2.Hard jaws and soft jaws can be adjusted just like on a power Chuck to increase the gripping EE - / \ ﬁﬁm
\ 3.Hard jaws as well as Soft jaws are interchangeable with those of power chuck |
if?!? 4.Chuck Body is made of steel to enhance sa operations for high speed machining if?!?
T 5.The Chuck Handle can be operated easily smoothly L M/l
TNE ‘ TNE
e I BRI
71 EE 1 1 - THEE BEEEE EETE B E 71 e
s ] /N e T fidhss AlBlclbpl| E|F G HlglklL M Max.Speed Max. Gripping Diameter |~ 240

. Pt 2700 | 6 /" e Order Number | MODEL rpm(min)|  AEeE NERE eig Price e o
5 = EE,EEAD-{S R 3 _.’ Py 0.D.Clampi 1.D.Clamping(mm) | (kg) 55
\9_ 7:‘j3f‘\\ g . : . e 4 \9_
> r ‘;w g Y N k\ =2 706600 TKT-06 167(75.5{130[147| 45 | 12 | 3-M10x1.5P | 73 | 26 |40.5| 10 | 3-M12x1.75P | 4000 | @4~@160 248~0150 (10.4 >

1.5P,1Ll. PRI T3 A alEEERE BMEhERE ENMERERE EER 706602 TKT-07 193| 85 [155[172| 58 | 12 | 3-M10x1.5P | 95 | 31 |49.5| 11 | 3-M12x1.75P | 3500 | @4~3180 B56~D170 (14.46
J_| g A 3
e b MABE - MARBIHBE T someE L Optonal asssssory: 706604 TKT-09 | 233| 92 [190]210] 70 [12.5] 3-M12x1.75P | 110| 37 | 50 | 12 | 3-m12x1.75P | 2900 | @5~@220  @62~@210 |22.4
asa “Eorming pate " for back and forth easily, thus  with those of power chucks.  with those of power chucks. Mounting plate.

—_— machining sot jaws. increasing gripping range N —_ —_ N —_—
T4t prympre AliA XA h B = MNFE Rk —
N . = B & R = N

TR s AlB|c|D|E|F G H|J|K|L|M]| R |MaxSpeed ping Di BE 4 3-JAW POWERFUL TYPE ADJUSTMENT STEEL BODY CHUCKS
5 b
£ Order Number MODEL r.p.m(min"") . . Price P
IR - 0.D.Clamping(mm) |-D.Clamping(mm) | Weight(kg) B G . IR
R 706100 TNT-07 193| 78 [ 155(172| 58 | 5 | 3-M10x1.5P | 73 | 31|38 | 11| 20 | 12 3200 28~@235 266~0235 14.4 — R
Bo 706102 TNT-09 |233| 85 |190|210| 70 | 5.5 | 3-M12x1.75P | 95 | 35 | 40 | 12 | 25 | 14 2800 211~2280 285~2280 o ===]7h G
- \ [
—_ — > B |
i WR=ZMMFRK 3-JAWSTEEL BODY CHUCKS (| e B
i ; i
T | umss as s ot 5% 24 %}% L gl el s p—
T ,Et Order Number MODEL AlBlC|P|E F ¢ H y K LIMIR :\ﬂ:)r(n?rﬁlene'd) 9}‘%?@% WE;EE . Price “ T ,Et
FH s 0.D.Clamping(mm) |.D.Clamping(mm)|Weight(kg) . i
706200 NT-07 193| 78 (155|172 58 | 5 3-M10x1.5P 78 | 28 | 48 | 11 |20 12 3200 28~@235 266~0235 13.1 N F —
23 706202 NT-00  |233] 85 [190]210] 70 [5.5| 3-m12x1.75p |92 | 32| 52|12 [25]14] 2800 511~0280 385-2280 21.2 - TN % E|
Bic 4 706204 NT-10 273| 91 |230(250| 89 |5.5| 3-M12x1.75P [101.4 37 | 56 | 12 | 30| 16 2400 @12~3330 ?92~3330 30.5 y E e 4
— 706206 NT-12 310/104(260(285|105| 7 | 3-M12x1.75P |116| 47 | 67 | 14 [ 30|21 2100 @15~@370 3104~3370 46.1 L M _—
HUIR MUK
B Ny 3 —_ == > B
IR AMiAXFER=TMNFERL 3-JAWADJUSTMENT STEEL BODY SCROLL CHUCKS o . sy BESE . m LR
v zs AlBlc|D|E|F ® Hlu|k|L M MaxSpeed| ~ Max. Gripping Diameter |+ | 24
Order Number |  MODEL r.p.m(min’) AERE HEEE g Price
$ r?‘ﬁ 0.D.Clamping(mm) |..Clamping(mm) | (k@) $ FE
K& 701670 KT-06 167(75.5/ 130|147 | 45 | 12 | 3-M10x1.5P | 68 | 26 | 40 | 10 | 3-M12x1.75P | 4000 | @8~@160 @55~2150 | 9.7 K&
706702 KT-07 193| 85 |155|172| 58 | 12 | 3-M10x1.5P | 82 | 28 | 43 | 11 | 3-M12x1.75P | 3500 | @8~@180 @62~2170 [13.6
706704 KT-09 233| 92 |190|210| 70 [12.5| 3-M12x1.75P | 93 | 32 | 51 | 12 | 3-M12x1.75P | 2900 |@11~3220 @70~@210 [21.5
706706 KT-10 275| 98 | 230|250 89 |12.5| 3-M12x1.75P | 102| 35 | 54 | 12 | 3-M12x1.75P | 2500 |©12~@260 280~@250 |30.4
706708 KT-12 310/111]260[285|105| 14 | 3-M12x1.75P | 118| 40 | 58 | 14 | 3-M12x1.75P | 2200 |915~@300 @90~0290 | 45.4
S =
Al A= 58 0 B TN 553k 3k

4-JAW POWERFUL TYPE ADJUSTMENT STEEL BODY CHUCKS

B G
TR T5 ) B E%E EETE BE
S A B © D E F @ H J K L M Max.Speed Max. Gripping Diameter — $m
Order Number MODEL rp.m(min’) ABRE HEEE eig Price
0.D.Clampi 1.D.Clampi (kg)
706400 CT-06 167(75.5/ 130|147 | 45 | 12 | 3-M10x1.5P | 65 | 22 | 28 | 10 | 3-M12x1.75P | 4000 | @4~3160 @48~3150 [10.4
706402 CT-07 193| 85 |155(172| 58 | 12 | 3-M10x1.5P | 75 | 24 ({28.5| 11 | 3-M12x1.75P | 3500 D4~3180 ?56~3170 |12.9 < Sl §
706404 CT-09 233| 92 [190]210| 70 [12.5| 3-M12x1.75P | 85 | 28 | 33 | 12 | 3-M12x1.75P | 2900 | @5~@220 @62~3210 (20.4
706406 CT-10 275| 98 [230]250| 89 [12.5| 3-M12x1.75P | 98 | 30 | 38 | 12 | 3-M12x1.75P | 2500 | @6~@260 @70~3250 |29.3
706408 CT-12 310(111(260(285[105| 14 | 3-M12x1.75P | 110| 32 | 45 | 14 | 3-M12x1.75P | 2200 |@10~@300 @86~@290 | 43.7
N N = >
ARARNEBRMMANERKL 4-JAWADJUSTMENT STEEL BODY SCROLL CHUCKS
s
; . BEEE EETE BE ; . BEEHE BEEHE 5
1T 04 4R 55 e AlBlcl|lbol EI|lE G Hl J |l kK|L M Max.Speed Max. Gripping Diameter | %ﬁr 1T 1 4 89 BE AlB|lc|Dpl| E|F G H|J|K]|L M M:«'ngad Max. Gripping Diameter v>v$ i 240
Order Number MODEL r.p.m(min") AEIRE AERE 4 Price Order Number MODEL r.p.m(min") NERE HERE eight Price
0.D.Clamping(mm) |.D.Clamping(mm) | (k9) 0.D.Clamping(mm) |.D.Clamping(mm) | (kg)
706500 FCT-07 193| 85 [155|172| 58 | 12 | 3-M10x1.5P | 75 | 24 |28.5| 11 | 3-M12x1.75P | 3500 | @4~@180 256~0170 | 13.2 706800 FKT-07 193| 85 [155|172| 58 | 12 | 3-M10x1.5P | 82 | 28 | 43 | 11 | 3-M12x1.75P | 3500 @8~3180 262~3170 | 14.1
706502 FCT-09 233| 92 |190(210| 70 [12.5| 3-M12x1.75P | 85 | 28 | 33 | 12 | 3-M12x1.75P | 2900 | @5~@220 ?62~@210 |20.7 706802 FKT-09 233| 92 [190(210| 70 [12.5| 3-M12x1.75P | 93 | 32 | 51 | 12 | 3-M12x1.75P | 2900 |@11~@220 @70~@210 | 22
706504 FCT-10 275| 98 [230(250| 89 [12.5| 3-M12x1.75P | 98 | 30 | 38 | 12 | 3-M12x1.75P | 2500 | @6~@260 @70~0250 |29.8 706804 FKT-10 275| 98 [230|250| 89 [12.5 3-M12x1.75P | 102| 35 | 54 | 12 | 3-M12x1.75P | 2500 |@12~3260 ?80~@250 | 33.5
706506 FCT-12 310|111(260(285[105| 14 | 3-M12x1.75P | 110| 32 | 45 | 14 | 3-M12x1.75P | 2200 |@10~@300 ?86~0290 |44.4 706806 FKT-12 310|111|260(285|105| 14 | 3-M12x1.75P [118| 40 | 58 | 14 | 3-M12x1.75P | 2200 |@15~@300 @90~3290 | 46.1




&
B

ARk | A
e

A
o)

2 E
Be

HLE
TR

% [k
*R

BRI

R FEEH

Lathe Chuck Accessories

R I B 1R R BER KRR E

Unclamp Draw end position Swing point Unclamp position
Small K #EE Chuck Diameter Large
QE” 1S
S 2 R R R R R EE TR WTi-322 US-1524
K S LR R PR PP /J\iJ‘FE‘ ‘Fi‘ ol ’J\ij‘FE‘ ‘FE‘
E A R LR R e E:t E:j:
‘% 1 (Light Truck. Truck. *** (Light Truck. Truck. "
8 20" wriso " Us-1420 " LPs B "
£ " gx gmex U ogE smex O OBE AREE 0 2200m e
® % pacsengerCar.  (PassengerCar. | (PassengerCar.  MinAS' Max24.5%: Mini5' Max.24.5"
g Light Truck) " Light Truck) [ L)
O gpn  Camesm e e
(e Min1a Max20.5  Min.14" Max.20.5"  Min-19" Max:20
13" -
12" -
= 1"

& 10"
FREMBRE R

ARIAAOPESHFEERREARETR , WTI EATHESEMPMEF
THRE , AMEEE149F1209mm. FEMAFRERAEE T 24.597,
BERERNAMBHRELHRFEFT R,

BRCHUSRIIRKAIERERFa , FA IR N T E L E,
BRENFHMURGH=AZRELEFZAR , HEANRBNIFRERE
EWH, FREFENEFENTINANESTHS,

Standard and Lightweight Series

This chuck, available in four models. Does itall. The  Optional part detection system. consisting of three
WTi fits automobile and light truck wheels 149 to air-activated plungers, senses whether or not the
209. truck and bus wheels up to 24.59 workpiece is properly seated, an essential

M-RORFERY

Next-generation cam arm design

FLEE Weight
(Base Chuck Only)

Contact LMC Workholding for the optimum clamping  component for any automatic/robot loaded 450
solution. US Series chucks are lightweight for application. 400 m
increased spindle life and faster cycle times. 350 —
300 ]
Q20— ——
B—m 20— ——
150 [ [ | | Bl ]
100 [ | | | B
50 | | | N
A 0 US-1420 US-1524 Wti-310 Wti-322
BIRME (RL)
o ~ Rotationallnertia (Base Chuck Only)
— 5
> ] 4.5
AR c 4 —
Part — F 3.5 I _|
Detection — & —
E 25 | — .
2o — — —
‘ =~ B 15— M BN B B
g 1 e BN
ISR i SEEAE N | s
P Unclamp 0 US-1420 US-1524 Wti-310 Wti-322
& 123 —_ N = = =
e REAGEE  gauy HFN) HRTE L.,  XEER AR BR
Model C;Viac':y RPMs rg‘;"” ar Srfr"(‘)’k:" Spindle We:’g"ht ADia B Dia
Number ee i i
. Diameter (max) (Ibs) (in/mm) Mount (Ibs) (in/mm) (in/fmm)
WTi-310/US-1420 14 to 20 2800 7700 1.38/35 A2-8 264/160 21.50/546.2 5.90/149.7
WTi-322/US-1524 15t024.5 2200 7700 1.38/35 A2-11 410/240 26.00/660.0 7.85/199.5
bick = SS-3/4EX S-3/4EX L-3/4EX XL-3/4EX Z-3/4EX*
Model
Number E F E F E F E F E F
WTi-310/US-1420 21.5/547  22.4/570 21.5/547 23.0/584 22.0/559  24.1/611 23.1/587  25.0/634  24.3/618 26.2/665
WTi-322/US-1524  26.0/660 26.5/673  26.0/660 27.5/698 26.6/675 28.5/724  27.6/702 29.5/749  28.6/727 30.5/774

##% & >> Specifications

BEREHFE | Wheel hub chuck

RISl  >> Operation Example

2S RENETE BB T IR D MR
N'\:Il?nd:;r CapacityWheelDiameter ~RPM’s(max) DrawbarPull(lbs) DrawbarStroke(in/mm)
LPS-1520 15" to 20" 2800 7700 1.38/35
ng ET Y x&SE ARY BRY
Model SpindleMount ChuckWeight(lbs) A Dia(in/mm) B Dia(in/mm)
Number
LPS-1520 A2-8 300 29.45/748.0 7.32/186.0

B LT R

R~ B >>Dimensions

RNW 40

FEEADLEE TR R
Stroke Detection

KA HFER | MER

LMC Workholding$2 #t F N 57K K 455 R TR A FIZN 2 | X MUEE
HERERNMERSENRE  LRAUERERERBFHMBL , MEE ,
REMNRITERRERMBENERZE , kE VR ERE,

2RI20ANEFMER  ERTRETEFEROVHARES , ARBE PO
RNW ARSEHER , EEEHEFRIL PRI ZMRL , AAREBF

’t:\o
Chuck Actuators
LMC Workholding offers two chuck actuators specifi

cally designed for wheel chuck applications like yours.

These hydraulic cylinders offer optimum hydraulic
system pressure settings for the fastest clamping/
unclamping action available.

And their shorter lengths and lighter weights enhance

lathe acceleration and deceleration while improving
machine dynmics.

2R 120

M20 P1.5x30DP.
Recessed 66mm

Stroke Detection Clamping Cylinde /Mso P1.5x30DP.

Centering Cylinder

Model 2R 120 is a single-motion cylinder ideal for
applications that use solid mandrels or spring rings
for wheel centering. RNW is a dual-function cylinder
that is ideal for applications that actuate a collet or a
small three-jaw chuck for wheel centering.

(PU3i,)
Hydraulic
Oil Inlet

L ) )
TS f @5min)

TR B EEL
Stroke Detection Clamping Cylinder M2}P1 KRR
Lo |
% S o
g § ¢
L
T

(4 ngs) Drain Port B 42max|
-0 e 6-M10x95 ) 7min)
208 190 dia.B.C Dot 77.5 \Q]
269 6-M10x85
150 dia.B.C
A R>> Specifications
me kg S E /?%;fﬂiﬁﬁﬂ Clamping Cyligdglgﬁ*u
Model . T ’ n
Number Length ( mm) Stroke Time(sec) BorexStroke(mm) Piston Area(in’/cm?)
2R-120 269 1.6 120%35 15.8/102
RNW 40 293 2.3(0.4) 146x35 17.2/1111
me HEEEL Centering Cylinder BAEN BEREE HEHSE
Model O®x{712 EEER Max. oper. Pressure RPMs Cylinder Weight
Number BorexStroke(mm) Piston Area(in*/cm?) (b/in*-kgf/cm?) (Max) (Ibs)
2R-120 n/a n/a 568/40 5000 33
RNW 40 50%12 1.2/8 568/40 4000 50

A &
B H

B 4

- B

7 ik
B 2

A
2l

2 E
B

HLE
TR

% b
*5&




R FEEH

Z K B BE T F

Lathe tailstock thimble

Lathe Chuck Accessories

iz = N | s T )N iz
vy PEBEETAR  STANDARDLIVE CENTER RBERMK LARGE-DUTY LIVE CENTER s
2R 2R
& &
MR MR
& &
- %8 | RS | ool plp1| g L |ComE GW.EE B -
Ord Accurac 0 Weight kgs Pri
/_=" = rder Model Yy rice /_=" =
5 709100 BZ-MT3H | 39| 55| 86| 53| 30 | - |180| 0.005 | 60° | 1.28kgs i
| R . Ei) GRS By
i 709102 BZ-MT4H | 42| 62| 108| 63 | 32 208| 0.005 | 60° | 2.20kgs e s MTe6T | MTesT | MTe-toT | MsosT Mao10T | MeotaT | peh i
709104 BZ-MT5H | 49| 71 |136| 83 | 40 | - |256| 0.005 | 60° | 4.33kgs
fiE I & EER 709400 | RYPRET A (kg) 6000 8000 10000 8000 10000 12000 FEIIN
709106 BZ-MT.5H | 80 | 110| 189] 128| 70 | - |379| 0.008 | 60° | 14.2kgs PP YPe Rl R — T o o o o o
ig 709108 | BZMTAB | 17| 43| 70| 35| 15| - |120| 0.005 | 60° | 0.75kgs " A o e o P e P ig
7] 709110 BZMT2B | 24| 41| 80| 45| 20 | - |145| 0.005 | 60° | 0.95kgs 709406 B 140 160 180 160 180 200 %
T]EE 709112 BZ-MT.3B 39| 55| 8 | 53| 30 | - |180| 0.005 | 60° 1.28kgs 709408 D 60 70 80 70 80 85 7] &
L
= 5 - 709114 BZ-MT4B | 42| 62 |108| 63| 32 | - |208| 0.005 | 60° | 2.20kgs | #zufEde 709410 K 62 68 7 68 7 86
i > > N i
’;z j + T 709116 | BZ-MT5B | 49| 71|136| 83 | 40 | - |256| 0.005 | 60° | 4.33kgs 709412 0 60 60 60 60 60 60 ’;zji
N ) / , ~ 709118 BZ-MT6B | 80 | 110| 189| 128| 70 | - |379| 0.008 | 60° | 14.2kgs N
(<" > - - -
Fz e g> 709120 BZ-MT.3X | 45| 55| 86| 53| 30 | 10 | 186| 0.005 | 60° | 1.28kgs @ F 5
& 709122 BZ-MTA4X | 52| 62 |108| 63| 32 | 12 | 218| 0.005 | 60° | 2.20kgs o &
e [
709124 BZ-MT5X | 59 | 71| 136| 83| 40 | 14 | 266| 0.005 | 60° | 4.42kgs | 9“5% =] $§ Tﬁigé SIDES LIVE CENTER -
R
R
MEBREKINA B
/ = U4 STANDARD HEAVY-DUTY LIVE CENTER —_—
B IR
= = g
w5 HEES aAlslc!| boloi| g L |CorEE 0 GW.EE %ﬁ? 7k Y
Order Model Accuracy Weight kgs Price —
ITE 709500 | WX-MT3H | 39| 55|86 | 53| 45| - |180| 0.005 | 60° | 1.28kgs @ IA
ps 709502 | WX-MT4H | 42| 62 [108| 63| 53 | - |208| 0.005 | 60° | 2.20kgs ips
— Pas 71N
. 700504 | WX-MTSH | 49| 71|136| 83 | 68 | - | 256] 0.005 | 60° | 4.33kgs | TR .
Bic 14 709506 WX-MT.3B | 39| 55|86 | 53| 45| - |180| 0.005 | 60° | 1.28kgs [Ty
wm | wens | | ol o] plon| gL |conE| o [cwas P @

s . Order Model Accuracy Weight kgs Price 709508 | WXMT4B8 | 42| 62108 63| 53 | - |208| 0005 | 60° | 220kgs | \ LI
TH A B, c 709200 | ZXB-MT3H | 35| 65| 86| 64 | 25| - | 186] 0.005 | 60° | 1.9kgs 709510 | WX-MT5B | 49| 71 |136| 83| 68 | - |256| 0005 | 60° | 4.33kgs | PR TE
E— 709202 | ZXB-MTA4H | 41| 74 | 108| 73| 32 | - |223| 0.005 | 60° | 2.85kgs 709512 | WX-MT.3X | 45| 55| 86 | 53| 45 | 10 | 186| 0.005 | 60° | 1.28kgs —
%K 3 709204 | ZXB-MT.5H | 49 | 78 | 136 94 | 40 | - | 263| 0.005 | 60° 5.6kgs | AER 709514 |  WX-MT4X | 52| 62 [108| 63| 53 | 12 | 218| 0.005 | 60° | 2.20kgs @ %K
5 P 709206 | ZXB-MT.3B | 35| 65| 86 | 64 | 25 | - | 186| 0.005 | 60° | 1.9kgs 709516 | WX-MT5X | 59| 71 [136| 83| 68 | 14 | 266| 0.005 | 60° | 4.42kgs | KA &

ol 5| <F B . 709208 | ZXB-MT4B | 41| 74 | 108| 73| 32 | - |223| 0.005 | 60° | 2.85kgs
5 709210 | ZXB-MT5B | 49 | 78 | 136| 94 | 40 | - [263| 0.005 | 60° | 5.6kas | FRdEsk
o s
BESELEEMLK  HIGH-SPEED PRECISION LIVE CENTER
ABEEETRL SIDESLIVE CENTER
8 | WRRS | .| ol | p|pr| a| L |COME| o | CWER B
Order Model Accuracy Weight kgs Price
709300 | GS-MT3H | 38| 58| 86| 48 | 30 | - |182] 0.005 | 60° | 1.25kgs
709302 | GS-MTA4H | 45| 65| 108| 62 | 32 | - |215| 0.005 | 60° | 2.22kgs @
709304 | GS-MTSH | 50| 70 | 136| 72 | 40 | - |256| 0.005 | 60° | 3.60kgs | AER
L | 709306 | GS-MT.3B | 38| 58| 86| 48| 30 | - |182| 0.005 | 60° | 1.25kgs @
ALl B | c 709308 | GS-MT4B | 45| 65| 108| 62 | 32 | - |215| 0.005 | 60° | 2.22kgs
77777 ‘ 709310 | GS-MT5B | 50 | 70 | 136| 72| 40 | - |256| 0.005 | 60° | 3.60kgs R et MBS | g | p|p| g L | COME o |CWER B
lugg“_.éﬁ'ﬂ’flllﬁllliliiyliilA Order Model Accuracy Weight kgs Price
al 5 =] 709312 | GS-MT3C | 48| 58| 86| 48 | 30 | 10 | 192] 0.005 | 60° | 1.28kgs
\% @ 709600 |  WX-MT3C | 28| 55 | 86 | 60| - 169| 0.005 | 60° | 1.8kgs @
® 709314 | GS-MTAC | 52| 65| 108| 62 | 32 | 12 | 225| 0.005 | 60° | 2.26kgs 209602 | voemrac |30 | 62 l1osl 50| - 196] 0,005 | 60| 2.4k0s
s -
709316 | GS-MT5C | 60 | 70 | 136| 72 | 40 | 14 | 266| 0.005 |60° | 3.66kgs | KR 700604 | wxMTsC | 34 | 71 |136 | 120] - 266| 0005 | 60° | 5.0kgs | HFEER




® S
M Z G Latrffﬁu—ci %C%Eﬂ:ries

Bl # TR 3R 5
LIVE CENTER

< A »lB C >
A
A ~" |
N{ - :
]
‘ E

AR T BULL NOSE CENTER

ool AEES a8 c b oL || 0| et | P
709700 | SX63-MT2 | 46 17 | 69 60 12 | 132 0.005 | 60° 0.9kgs

709702 | SX63-MT3 | 46 17 | 86 60 12 | 149 0.005 | 60° 1.0kgs

709704 | SX 78-MT.3 52 18 | 86 80 15 | 156 0.005 | 70° 1.3kgs

709706 | SX 106-MT.3 | 59 16 | 8 | 100 | 25 | 161 0.008 | 70° 2.7kgs

709708 | SX63-MT4 | 46 17 | 108 | 60 12 | 171 0.005 | 60° 1.0kgs

709710 | SX 78-MTA4 52 18 | 108 | 80 15 | 178 0.005 | 70° 1.45kgs

709712 | SX106-MT4 | 59 16 | 108 | 100 | 25 | 183 0.008 | 70° 3.0kgs

709714 | SX128-MT4 | 73 12 | 108 | 130 | 40 | 193 0.008 | 70° 4.8kgs

709716 | SX 156-MT.4 | 88 12 | 108 | 150 | 45 | 208 0010 | 70° 7.6kgs

709718 | SX 206-MT4 | 98 12 | 108 | 200 | 81 | 218 0010 | 70° 17kgs

709720 | SX258-MT4 | 107 | 13 | 108 | 250 | 92 | 228 0015 | 80° 27kgs

709722 | SX128-MT5 | 73 12 | 136 | 130 | 40 | 221 0.008 | 70° 5.8kgs

709724 | SX 156-MT5 | 88 12 | 136 | 150 | 45 | 236 0010 | 70° 8.5kgs

709726 | SX 206-MT5 | 98 12 | 136 | 200 | 81 | 246 0015 | 70° 18kgs

709728 | SX258-MT5 | 107 | 13 | 136 | 250 | 92 | 256 0015 | 80° 28kgs

709730 | SX306-MT5 | 107 | 30 | 136 | 300 | 120 | 273 0020 | 90° 37.5kgs

709732 | SX206-MT6 | 98 12 | 190 | 200 | 81 | 300 0010 | 70° 20.6kgs

709734 | SX258-MT6 | 107 | 13 | 190 | 250 | 92 | 310 0015 | 80° 30.6kgs

709736 | SX306-MT.6 | 107 | 30 | 190 | 300 | 120 | 327 0020 | 90° 40kgs

Z K B BE T F

Lathe tailstock thimble

N g
ERIEE T2
DEAD CENTER .

SFEA
MR
&
=&
&
£

N /e
RN GEBRASE) CARBIDE HALF-NOTCHED CENTER I

EIK
MT.NO. P NE
—(L 1B
f YD S, Mg WES . o L BH
Order Model & Specification Taper ° Price Fz
L 709800 D142 MT.2 17.780 36 100 100 :
. 709802 D143 MT.3 23.825 44 125 125
1
709804 D144 MT.4 31.267 58 160 160
709806 D145 MT.5 44.399 70 200 200
E T4 DEAD CENTER 709808 D146 MT.6 63.348 % 280 280
MT.NO. RS, Mg
it Model & Specification o q D1 L1 B & PR
p =S (o] ) by
= Order | 5715 HER | 1apor Price | %
i D Ordinary Class Accurate Class TE
60° | B 709810 D114 D114 4 10 33 33 73—;5
i 709812 D116 D116 o0 6 15 47 47
l 709814 D11480 D11 ¢80 ) 80 119 315 315 % E|
kT 709816| D114100 D11 100 100 128 360 360 B
L1 709818 D110 D110 MT.0 9.045 20 70 70 WLEE
709820 D111 D111 MT.1 12.065 26 80 80 TE
709822 D112 D112 MT.2 17.780 36 100 100
709824 D113 D113 MT.3 | 23.825 44 125 125 %k
oo T 20N (438 A 709826 D114 D114 MT.4 31.267 58 160 160 +&=
ElE Tk GREERE &) 709828 D115 D115 MT5 | 44.399 70 200 200
CARBIDE DEAD CENTER 709830 D116 D116 MT.6 63.348 98 280 280
MT.NO.
/ (& IS, B HES B
| Qﬁ §;";\ I~ = )
|/I‘ Order Model & Specification Taper do D1 L1 Price
6% | Do ) 709840 D121 MT.1 12.065 26 80 80
< ' /{ |__ 709842 D122 MT.2 17.780 36 100 100
: 709844 D123 MT.3 23.825 44 125 125
‘ 709846 D124 MT.4 31.267 58 160 160
L= 709848 D125 MT.5 44.399 70 200 200
Ls 709850 D126 MT.6 63.348 98 280 280
R HRTR HALF-NOTCHED CENTER s o AR
MT.NO. #ES | 4o | D1 L | 2
Order LB KR Temer Price
Ordinary Class Accurate Class
<z J ! 60 709852 D130 DM130 MT.0 9.045 20 70 70
60° 1 | 709854 D131 DM131 MT.1 12.065 26 80 80
~ /‘ 709856 D132 DM132 MT.2 17.780 36 100 100
709858 D133 DM133 MT.3 23.825 44 125 125
RN AR 709860 D134 DM134 MT.4 31.267 58 160 160
L 709862 D135 DM135 MT.4 44.399 70 200 200
709864 D136 Dm136 MT.6 63.348 98 280 280




R FEEH

£ p - : :
Lathe Chuck Accessories fﬁlﬁ ﬁ }J:'E'L. "EH- | Milling machine vice

T L 5568 5760 ta
*& e / It B $% 7k REG Y 2% CEE —
7 3 E X /R # PRECISION ANGLE LOCK MACHINE VISE
o 5K i i i ELECTRICITY CONTROLS PERMANENT st
+= Universal Oil Vise &
MAGNETIC CHUCF
hVA-Y hVA-Y
& . \ . &
LR, SRERRORBHLEM A, IEHEEENKTIES L,
SIZ Y 3 = B | > 3z ! v >
55 AR et THEHAITHIRIN T SLINIRIR R X 5 RIRNTFF, Unitmm 5
STE 32! & :
& E.ﬁb'f%lﬂi;%%%jjklj\o e © e N.W &
Eig nEi : Order No.| Model (Ka)

T ) o _ f FD_D:Lh: . AT 5760-40 | LV40 20 H T
&K It is a random accessory of milling machine and . , Lt A = 5760-50 | LV50 29 -
- . L - _— = H e 5760-60 | LV60 41
drilling machlne, which is fixed on t.he Worktablle "ﬁ, )] TEEE| [EEE ;]'I ] .—h‘—‘_ 2 X o T tver T 500
EIR of the machine to clamp the workpiece for cutting. RI0E DT EEELEIEED - B 4 L . - [s760-120] Lvi20 | 125 K
NE Rapid clamping and quick release are achieved, and N | | I ] Al Model | A | Bl c | D | E|F || H |1 |J ]|k NE
7] e the clamping force can be ensured. ! : e | KR | B i |l Wa0_|Brisame o srior] 4oz 10172 654 14116 115|19/32| 16 | 581582022 7] &

LV50 | 9835321 1 [t10]4 14 Joe0 1e[210] 8174 15 [19/32] 1519132 16 | 518 [ 62 1932
. 160 [ffofe 1 [eot 1o 1[5 12 [see 3¢ [238] 938 [19] 34 [18] 314 |18 [ 314 |72 |a5uie .
A Lv80 _|136[5 271 512 316 [198]7 314 [122 3 305] 12 [19] 3/4 |24 15/16] 18 | 314 8435016 A
e sk w20 il |- |- Jeoese | - | | Jeosfistnel10] 34 [oafisre] - | - oo « | 15 F%k
%3 - 5765 52
+& - ; A
— { mieenoleoe i REXELEEAEH L
To £t Rl = FIFENEEEIELEEE LOCK-TIGHT PRECISION MACHINE VISE T gt
il | | _-. Ti= 1 =H=1l= = | 1| 2 H
'T - o_|| o: |l T ) * [ T]
e = 21t
¥ mlznuonm-.L-_J T B
R Unit:mm/kg
i & Order No. Model SRR E‘ = g g |Price Unit:mm
WILIS[stM|TIg|c|P|®|™|5 = OrderNo.| Model | A | B | ¢ | E | F | 6| H | 1 |N¥ Pprce
LA ® @ 5568-2540 | EPM2SIOW | 240450 - 18} L1eie? 20008 5765-40 | LG40 | 100 | 220 | 320| 133 65| 38 | 115 | 110 | 13kg| 3105 I8
ps 5568-2560 | EPM2S6OW | 240 590 1 30] |24] 24)68 96225 5765-50 | LG50 | 125 | 240 | 360| 146 70 | 38 [132 | 130 | 22kg]| 3280 77
_— O 5568-2580 | EPM2580W | 240|750 | 30| 130 | 30 | 84 45900 5765-60 LG60 150 | 290 | 430| 161 72 | 48 |170 | 150 | 37kg| 3450
& Z| A D 5568-2590 | EPM2590W | 240|870 | 30] |36 | |36|94 50025 5765-80 | LGB0 [ 200 [ 370] 600[ 193] 85 [ 58 [190 [210 |65kg] 6730 23|
Bic 4 K 5568-25100 | EPM25100W | 240 | 990 130] |42 | 40105 56100 g 4
_ OMNO) JH_ 5668-3030 | EPM3030W | 300|310 |- | |16 | |16]38 . 27750 5 7 6 6 Eai—
WLEE P 5568-3040 | EPM304OW | 300 430 |- | |24| |24]51 35250 > MUK
TR G j:]—]k I 5568-3060 | EPM306OW | 300|590 30/ [32] |28]76 44925 % El KE%ﬂPRECIS|ON ANGLE LOCK MACHINE VISE TE
E— B 5568-3080 | EPM308OW | 300|750 | 30] |40 | | 32102 58200 e
C 5668-3090 | EPM3090W | 300| 870 | 30] |48 | |40]115 62250 ;
o >
5568-30100 | EPMBO10OW | 300|990 | |, 130|256 ] O] 40127 70950
5568-4040 | EPMAO4OW | 420|430 |- | S 36| B 18]68 48000
J1 J 5668-4050 | EPM40SOW | 420| 480 |- | [42] <[26]84 54075
| ' | ' 5668-4060 | EPM406OW | 420|590 30 48 24 102 61725
%EEE 5568-4080 | EPM40BOW | 420| 750 |30/ |60 | |30]135 80250 'iﬁ*ﬁ[?'ﬁ
R 5568-4090 | EPM4090W | 420|870 | 30] |72 | | 36152 90000 Unit:mm R
5668-40100 | EPM40100W | 420 990 |30 |84] [40]168 102750 Order No. Model  |[JAW PLATE HEIGHT | JAW PLATE HEIGHT| JAW OPENING ?‘K';‘;' Price
5668-5060 | EPMS06OW | 480|590 | 30] |56 | | 28126 69375 5766.100 | HDV-100 e o = 6.6k | 1615
5568-5080 | EPMS080W | 480|750 | 30] |70 | | 35]168 94500 5766130 | HDV-130 o 130 % 8.2kg | 2280
5568-5090 | EPMS090W | 480|870 | 30] |84 | | 40189 102000
5568-50100 | EPMSO100W | 480 | 990 | 30| |98 | | 50]210] 1® {16250 5770
A ™t 5568-6060 | EPMBOSOW | 600 590 |30] |72 | | 36[152 89250 .
ssea-cos0 | epusosow | oo 50| | | a0 o] [aofzos| [memo| S TH I E R $H HYDRAULIC MACHINE VISE
5568-6090 | EPMBOSOW | 600|670 | 30] l108| |45 |227 127500
5668-60100 | EPMBO10OW | 600| 990 | 30] l126] | 50252 150000
5568-8080 | EPMBOSOW | 750| 780 30 120 45 |268 145500
>> Dimensions (mm) ] {51 #3 & $§ UNIVERSAL 3-WAY ANGLE VISE
TTIA4S LTHa4ES :
3F A C E E G H J J1 K | Max. Pressure | Weight
Order Number kgflcm*(Mpa) = > ]
JM-100A 709900 102 273 365 100 45 68 112 14 14 137 205 85 35(3.4) = 10600 ="
JM-130A 709902 130 365 457 128 50 80 135 18 18 205 285 100 40(3.9) - 12600
JM-160A 709904 160 455 550 158 55 86 145 18 18 283 369 110 40(3.9) - 15000 _ Unit:mm
Unit:mm OrderNo| Model | A | B [C|D|E|F |G |H| I|J]|K|L [CaminghWKNWK) b 00
Vertical | N.W. . Force | Body |Swivel Bast
OrderNo. | Model R e © H L |Height| (kg) | Price 5770-100] HVAO0 |100] 36 |170]525/430]130] 160] 94 | 60 | 78 [100]155] 2500 | 16 | 6 | 4600
5750-03 Vw3 90 30 | 80 [ 150 | 396 | 386 17| 4175 5770-125] HvA125 | 125] 46 |220]670[540]165] 185[118] 72 [ 97 [117]185] 3500 | 33 | 7 | 5960
5750-04 VW4 105 38 106 172 460 | 470 33 4885 5770-150| HVA150 | 150] 51 |300/800/620]200] 240,133| 82 |116]125/247| 4500 | 54 | 16 | 5160
5750-05 VWS 140 40 | 132 | 205 | 625 | 590 45 6815 5770-200] HvA200 | 200] 62 |300[900[700]225] 28[160]100]160[150[265] 8500 | 90 | 20 | 9810




= BTT75 5786 5810-5812 5865 s
N 3 e it g 31 Al &b N &8 AT 5[ Sy N
WESHERESE  TILTING HYDRAULIC MACHINE VISE FEHEEXEZLEEREH FEESE L FegETiRmRXAER

h s¢ . MECHANICAL POWER MACHINE VISE SEMI-UNIVERSAL CENTER (DIVIDING HEAD) ANGLE PLATE+CONNECTING PLATE+SWIVELBASE h s

=

& P li : L &

£ i f In

MR Ri2 - : N MR
R, |

& L ..Hom.i::'n‘ nli e

55 55

8 2

Unit:mm Unit:mm
E /M Unit:mm W OrderN T-SLOT | NW. | py £
ﬁﬁm NW.(K NW X OrderNoj Model |A|B |[C|D|E|F|G|H|I|J|K|IL|M/N|O|P|Q (Kg)| Price rder No. Model A B H A (Kg) rice ﬁﬁm
OrderNo| Model | A | B | C [ D|a |b|c|d|el|f|g]|n| NKINWK Do ;
=S Body |SwivelBas 578640 | HVQ100 |324] 85 |104]428130] 102| 32 |18 | 17 | 55 | 15 | 45 | 73865 140|345| 20 |30kg | 11385 5865-01 | HAP180S 265 220 135 12 12 5350
R 5775-100] HVW100 | 100 | 36 170 50{505]325| 65 [160]177[141] 80 [170] 23 | 4 | 565 s wvarzs Tooolooliorlsoalsaln o Too [0 Teo s B w865.02 | rAPs0s g P p. p I P %R
IS 5775-150] W50 | 150 | 51 [300 5nd775]410] 95 [240]237[186] 100]200] 60 | 10 [10420 i S el e - &=
5786.60 | HVQ160 | 485[115|161|605|168)1592] 49 [18 |20 | 63 | 18 Tikg| 15940 5865-03 | HAP380S 490 436 240 16 100 12075
5786-60L | HVQ160L | 515|115 |1671]|635[168159.2| 67 [18 |20 | 63 |18 5 | 76kg 20400 SEMI-UNIVERSAL INDEX CENTER B & S TYPE N0.0 . NO.1(HEAD-STOCK it
7] EE 5780 ( ) Unit:mm 7] ge
5786-60 | HVQ200 | 535[120(202|655|178)1005] 66 |18 | 20 | 73 | 18 100kg| 17080 ordertol woder | A 5 . 5 . . o W price 5 55

. f& R EsH MECHANICAL POWER MACHINE VISE 5786-60L | HVQ200L | 585120 202 713] 178] 200 | 84 |18 | 20 | 73 | 18 | 58 [ 101 31 [108kg| 20880 Q) 26 (7 & /N .

=kt 5810 |BSO 189 | 77116 [160 |6 315/16| 173 613116 16 | 5/8 | 91 |3a764| 140 53364 22 7420 k13 1&%—'-%’;:& =k

e sk 5788 5812 |BS1 293 [1111/32)210 |8 1764128 | 5364 | 220 | 53164 | 16 | 5/8 | 114 |4 3164 156 |6 96¢| 36 9750 UNIVERSALTILTING ROTARY TABLE Fe 3%

2 . SEMI-UNIVERSAL INDEX CENTER B & S TYPE N0.0 , NO.1(TAIL-STOCK)  Unit: - B

— % T SEONCH Bl SIS L E B 0 R 5 owdloonm i

aper of |Diameter of

<& MULTI-POWER CNC PRECISION FIXED ANGLE VISE et a b c d e £ | Center |spinde o i ! &

i e BSO 90 [335154{105 |49/64| 16 | 5/8 100 [315116| 166 [634e{ 127 | 5 |BasNo7| 18 1 S

T &t . ! :“ W_T_lfl—l BS1 108 | 4114 [134 |5032| 16 | 5/8 |128 |520032) 184 | 7114 | 150 |520132 B&S No8| 20 T gt

— ™ | ' = A -
" o S i STANDARD ACCESSORIES
1 | Dividing plate A,B,C.
o | Ll 3 Numbers of holes of dividing plate(worm gear reduction ratio 1:40) Unit: T 1
iy nit:mm .
= A — A - . PlateA 15 16 17 18 19 20
Lok W £ [} =] Numbers
_ ) | L e | fholes | PlateB 21 23 27 29 31 33 SPECIFIGATIONS.
FE;EF L i | SPECIFICATIONS(Material.FCD 60.Ductile Iron.Hardness HRC50 Unit:mm PlateC 37 39 41 43 47 49 . Unit:mm
7k A Unit:mm OrderNo| Model | A| B c2lca|p|E|F|c|H|1|J]|k| LMY Price Table | Table |Center )
o VA (K9) 58 20 OrderNo|  Model | piaones | Height | Height | Height | £ | ¢ |Gear|Center Direct ?‘KV\;

Te OrderNo| Model | A | B | C |D|E|F |G |H| I |J|M]| Kg) |Price 5768-130 | HPAC130 | 147 5 47558313119 | 15 | 55 |120[160| 47 | 13715 A [HorizotaB) Vertical(C ) Vertical(D ) Ratio| Hole | indexing (9 s
B - , - T = 300 . —
1 5780-50 [HMP50 |538 |118 | 185|130 | 15 |670|105 | 82 |117 | 46 | 220| 38kg | 8540 5788-160 | HPAC160 | 60 560|670 | 161 19 | 15 | 66 |120|165| 65 | 16390 BYEANER 5855 [HUT300 _ [9300mm| 185mm | 405mm | 228mm] 336] 444] 90:1] MTS |24-div] 93 5

h 5788-200 | HPAC200 |70 635|743 | 201| 19 | 18 | 63 |120|197| 95 | 21565 5

5780-60 |HMP60 | 620 |133 | 240|154 | 17 {800 (110 |140|132 | 54 | 300| 58kg | 9015 : : - S HORIZONTAL AND VERTICAL ROTARY TABLE Numbet Of Holes
| 5780-80 | HMP80 | 700|162 | 280|206 | 21 | 900|135 | 118 | 160 | 62 | 300 105kg | 16130 5792 s e \ 23
= 8 = Giional Accessoris: B Piatsi21 31 37 4483,
fic 4 = . . . x it O P et 4559 =14 fic
5782 WEEBREH  Two-dimensional vector vice [ s |

LR - N f - ey

= (3L -,

I8 SR E NI ENEEEH = IR

[ SUPER OPEN QUICKACTION VISE " - [ —
Unit:mm
i Center Height .
OrderNo.| Model | A B c D 9T_| NW.| price
— s Max min | (K9)
f - - 4= . ) OrderNo.|  Model Table Base Dimension |Bolt Slots| Center | ‘o 2T New- | Price 5855 |HUT300 200 | 196 190 | 16 230 | 113 | 23 | 27420
k| e =l =] Unit:mm D H A B K sleeve : (Kg)

’_E?EHE 3 Ratio ’_E%HE

= (e — OrderNo| Model | A |B | C|D|E|F|G|H|1|J|K|L|MIN|O|P| QN Price 5820-15 | HV150 150 | 92 | 220 | 160 | 18 | wmT2 1255 | 3880 e

= - - Unit:mm 5820-20 | HV200 200 120 310 225 18 MT-3 31.0 | 5450 e

5792-40| TLD40 |405 102063.5(17.5)33 | 38 | 69 | 15 | 55| 18 | 90 [143 |195|20kg | 11385
NW.[ 5 5820-25 250 | 120 | 320 18 | mT3 485 | 6790
OrderNo| Model | A |B | C|D|E|F |G |H|I | J|K|L|M|N| g Price 5792-60 | TLDBO |520 127.09152|98.4123.8/41.5|44.5/86.5] 15 | 66 | 18 125|193 |245|52kg | 13285 Hv250 280 90 1
5820-30 | HV300 300 | 140 | 410 325 18 MT-4 77.0 | 8660
5782 |HMPB0A |20018 |300| 77 [610[139|158| 82 |63 |200|240[190 [915| 18 | 58kg | 10265 5796 562035 | Hvas0 o o a0 oo | 18 s o | 1100
o . . . 5820-40 | HV400 400 | 140 | 510 | 435 18 | MT-5 130 | 16045
5785 MCHE FE 58 B0 8 75 33 15 $Hf
MERBEALTEREN  PRECISIONSUPER VISE MC PRECISION SUPER HI-PRESSURE RAPID VISCE 5821
B rE
TAIL STOCK
T L
2 =R
. LT
' g [
e E e e [ :
s Unit:mm it
[+ 3 - - -
= orderNo| Model | A | B | |D|E|F|G|H|1|u|u1|s|ss|k|L|um|x|#NWPrice =
Giipping (K9)
HVL100, 125, 160 is horizontal& vertical 2 way vise. Unit:mm 5796-01 | TPVE'150 520|380 | 140 130|157 160 | 86 45 |6000| 45 | 15830 Unit:mm
) 579602 | TPV6'160| 540[200| 140 160] 160 [ 163 | 86 45 | 6000| 47 Center Height )
OrderNo| Model |A B |c|D|E|F|G|H|[I|J|K|L|M|[N|O|P|Q [“K"‘; Price . 17680 OrderNo.| Model | Suitablefor| A B | C d (ky| Price
9 5796-03 | TPV6'250630[490| 140 160] 160 [ 163 | 86 45| 6000] 53 | 18720 Max. | Min. | (Ka
5785-40 | HVL100 [324]85 | 104|437 |130| 102 | 32| 18 | 17| 55| 15 |45 | 73 |66.5|140[3145 20 |27kg| 7780 796,08 | TPv7200 600950 [0 [0 70 173 90 Y e 5821-01 TS1 | Hv-200Hv-250| 230 | 247 | 210 | 190 | 110 | 13 | 1440
5785-50 | HVL125 |390[100| 127|480 (153 ]12¢7| 57| 18 | 20| 63| 15 | 53 | 78 |67.5|201|3615(225| 43kg | 9965 579605 | TPv&200| 6101270120 | 200|170 [173| 90 72| 9000| 70 | 21735 5821-02 | TS2 HV-300 230 | 280 | 210 | 220 | 140 | 15 | 1520
5785-60 | HVL160 |485[115| 161|625(1681592| 49| 18 | 20| 63| 18 |53 | 86| 80 295|479 | 25 |71kg| 12810 5796-06 | TPV&'300| 710[570[ 140] 200] 170|173 90 72 9000{ 79 | 22000 5821-03 | TS3 | HV-350/HV-400| 230 | 330 | 210 | 264 | 184 | 17 | 1900

R FEEH

Lathe Chuck Accessories

Milling machine vice /
Index plate




it
e S

R FEEH

MZG

5110

Lathe Chuck Accessories

5145

I o F R R S8 PUNCH FORMER TN PUNCH GRINDER
PFA TESY ) PGA

[ NNy —TIETIH 80~81Z: K

VEIERFER - 4~30F K

VE B

R EIGHE e oeere o 12 55K

DEBER, W 24, 15°45

BEWE R IEE *

EEBLET L TFEE
[ LI e

i
I 5150

I HFFE PUNCH GRINDER
" PGAS

PUNCH FORMERPFB
5115-01

LN Dl a5 &
PFB

BT E

M ,. b 4 S
¥6615 i
.- ] =
A
¥
| Qi
H ]
-4
| Order NO. Model Volts
5125-16 1. 2, 3, 4,6, 8
5125-32 PFD 4, 6, 8, 10, 12, 16, 20
5125-40 6. 8, 10, 12, 16, 20, 25

5120 5210

ZCHF R B ES 3-JAWS PUNCH FORMER T EERbE{E®ESE  UNIVERSAL WHEEL DRESSER
PFC WDI65

¥8280

¥4890

5125
5 R NERA F AR BY 27
PFD

Grkding wheel dressing application

b b B B |

ER COLLET PUNCH FORMER

5230
B R R 1EIB R
KT50

¥9200

G?qﬁ

VISUAL RADIUS ANGLE DRESSER

¥5750

a2

-
& [ I
i f
Order NO. Model Collet Size Price 2 e g
5125-16 1, 2, 3, 4, 6. 8 7765 sl :
b E— y
5125-32 PFD 4, 6. 8, 10, 12, 16, 20 7765 i a5
5125-40 6. 8. 10, 12, 16. 20, 25 8595 = =

5235
SERREEEER
DF60

PRECISION DUPLEX DRESSER

¥2300

5240

P AERESE  ANGLE SINEDRESSER

AP50
¥1130

5250

AT IEIESE  DIAMOND CBN FLAT WHEEL TRUER

DT100 o~

5255

A AR RIEIER
MOTORISED DIAMOND CBN FLAT
WHEEL TRUER
DTM100
= = 2 -
v | : W TR
L il 1 L 3
T 0l
) = L] (N
ezl e 1 E' um -
Order NO. Model Volts Price

5255-110 DTM100 110V 1Phase 3740

5255-220 | DTM100 220V 1Phase | 3740

5310

BRBMEEZ  FLANGE
F250 F250:= A TEEERTMER

¥145

Precision wheel dresser

ERB#®EZ FLANGE
F350 F3503% 2 A F KB B bR 3 U HLBK X 5 £ A

v

5410

Hi M IE 2
SB50

MAGNETIC SINE BAR

BE MR

FATEE: 0.002mmIL A
BAE: 0.005mmiLA
WG R : +0.002
ME: YK-30

BE: HRC56°~68°

¥1200

5415

EZ#  siNEBAR
S100
¥480 R -

5420

AR A ERREEEZAR
ADJUSTABLE ANGLE PLATES
AP25\30\46

[ =
j Y
- - -
Unit:mm
Order No. Model L w H h N.W.(Kg) | Price
5420-25 AP25 75 25 36 25 0.5 780
5420-30 AP30 102 30 49 30 1.0 900
5420-46 AP46 102 46 49 30 1.5 1020

2 E
B

HLE
TR

it
e S




ERFEEH M T HE/$HE | Magnetic tools

Lathe Chuck Accessories

s 5425 5462 5482-01 5491 e
< T —Eﬁ
IE= VP2 VEE BL =+ g 7 4= 3k 471 N o
BEI#E ZVE & OCKS BERHEFITEM  PRECISIONPARALLELS SET BRfEEE  HANDY TYPE DEMAGNETTIZER =R I
st A2-6 & A 5 P150 Unit:mm Unit:mm HD123 =) IR KL thsp
- S — <
& ) = > ¥1400 WXHXLXPCS WXHXLXPCS HIGH SPEED STEEL &
10X14X150X2 10X28X150X2
e 10X 16X 150X2 10X30X150%2 - L - - W PIN GAUGE Y
Jit 9 )X 18X 150X 2 10X32X150X2 ! ALEt
iy 1( 18X1 ) L1}
—Eﬁl + 10X20X150X2 10X35X150X2 UD 'Eﬁ
» 3 s 10X22X150X2 10X 40X 150X2 ® | l'
/ﬁ—,i} T T Unitmm 10X 24X 150X 2 10X 45X 1502 ! | | 55
> — (96X 150X 2 5 5 ) X L ==
& OrderNo.| Model A B c E F G | N.w. | Price L0050 070071507 B Unit:mm e *
5425-02 A2 50 19 24 24 17 13 | 0.26kg | 420 POWER DUTY EACH0.01mm FOR ONE STEP SIZE . R
)18 542503 | A3 75 | 24 | 35 | 37 | 24 | 16 | 08kg | 540 5 4 6 5 Order No. Model | souRce | SAPACTY| cveie| b | W | H | N-W. |Price untmm =18
Nominal Dimenson
K 5425-04 A4 100 33 52 50 30 20 2.5kg 780 SR AGNETIC INDUCTION BLOCK 5482-01-110 | HD123 AC 110V | 110VA 90% [128 |83 ] 83| 1.8kg [ 1095 Order No. Model EACH 0.01rmm FOR APcs. | TotalBlocks | Weight(kg) | Price SN
- 12 44 S 01- 0
5425-05 A5 5 69 63 37 26 5kg 1255 ~ 5482-01-220 | HD123 AC 220V | 110VA 90% [128 | 83| 83| 1.8kg |1095 5491-0510 | GBOS10E 050051 0 571 00 o v 3300
R 5425-06 A6 150 50 80 75 45 30 7.8kg | 1855 GT1 " %R
HE - - R 54 8 2 O 2 5491-1015 | GB1015E 1.00,1.01,1.02~1.50 51 113 | 2970
54 3 O ‘ * = 5491-1520 | GB1520E 1.50,1.51,1.52~2.00 51 1.15 | 2970 NE
7] e Wi < R APAIR OF V BLOCKS e - ‘ S]Zﬁﬁ;ﬁmgg STANDARD TYPE DEMAGNETIZER 5491-2025 | GB2025E 2.00,2.01,2.02~2.50 51 1.19 2970 7]
[fJevE & KEEE  02-020 "o, l HD200 5491-2530 | GB2530E 2.50,2.51,2.25~3.00 51 123 |2970
=3 PV100 e C -9 ¥ . . _ 5491-3035 | GB3035E 3.00,3.01,3.02~3.50 51 127 | 2970 B
e 3L hii . 5491-3540 | GB3540E 3.50,3.51,3.52~4.00 51 1.33 | 2970 e sk
I 5 il I:I it 5491-4045 | GB4045E 4.00,4.01,4.02~4.50 51 139 |2970
?; ‘ i 5491-4550 | GB4550E 4.50,4.51,4.52~5.00 51 147 | 2970 F3af
& I 3 1 : 5491-5055 | GB5055E 5.00,5.01,5.02~5.50 51 1.55 | 2970 ~&
— | $ Unit:mm 5491-5560 | GB5560E 5.50,5.51,5.52~6.00 51 163 | 2970 —
I 3 q POWER DUTY 1
\”,/ | ' i Order No. Model SOURCE CAPACITY | cycLE | L |W | H | N.W. | Price 5491-6065 | GB6065E 6.00,6.01,6.02~6.50 51 1.73 2970 7
0
- & - 09 o 5491-6570 | GB6570E 6.50,6.51,6.52~7.00 51 183 | 2970
K e—— rr— RS T 5482-02-110 | HD200 AC 110V | 330VA | 100% |150|200[100| 7.5kg| 2285 R
E i 5482-02-220 | HD200 AC 220V | 330VA | 100% |150|200|100| 7.5kg| 2285 5491-7075 | GB7075E 7.00,7.01,7.02~7.50 51 1.95 2970 EeH
g%# 5465-10 e e 22k | 680 5491-7580 | GB7580E 7.50,7.51,7.52~8.00 51 2.07 o
- 50,7.51,7.52~8. : 2970
e nad 5465-20 GT2 46x49x58-2PCS 2kg 765 ! @ 1EF
FERTIOEAR HARDENED STEEL SQUARES 5491-8085 | GBBOS5E 8.00,8.01,8.02~8.50 51 219 | 2970
H304, 306, 308. 310, 312 5470 54918590 | GBS5OOE 8.50,8.51,8.52~9.00 51 233 | 2070
i
5491-9095 | GB9095E 9.00,9.01,9.02~9.50 51 247 | 2970
._ MVBIES MAGNETIC  V-BLOCK
Gf"ﬁ?‘ ' GVH2  GVH1 5491-95100 | GB95100E 9.50,9.51,9.52-10.00 | 51 263 | 2970
- ) U - S—
==® - —_— . 5487
> o L L% 1 & N L
%) W . s ' =R R A “%2|
Unit: T
Bt nitmm _ STEEL METRIC GAUGE BLOCKS [
Order No. Model A B (o] D N.W. Price -
HLEE 5440-04 H304 100 70 5 22 0.2kg 325 | LK
TE 5440-06 H306 150 100 7 30 0.4kg 440 TE
5440-08 H308 200 130 8 33 0.6kg 525 Unitimm =
5440-10 H310 250 165 10 38 1.3kg 735 - - - : Unit:mm
Holding Power Dimension : -
5440-12 H312 300 200 10 40 1.6kg 855 Order No. | Model N.W. |Price -
Round Surface B H |[Length Order No. Model Total Class | . Nurplnal Steps | No.of N.W. [Price
5470-10 |GVH1 55kgf 70kgf 56 72 80 2kg 2015 blocks (mm) | blocks
54 5 5 5470-20 |GVH2 90kgf 110kgf 76 100 | 115 5.5kg  |3165 5487-87-0 | GB87B 87 0 | 1.001-1.009 | 0.001 | 9 3580
. 101149 | 0.01 | 49
F X 4= 5487-87-1 | GB87B 87 1 : 2.9 | 2895
BEEHEHFITEM  PRECISIONPARALLELS SET 5475 . 0595 | 05 | 19
P85 Unit:mm 5487-87-2 | GB87B, 87 2 10-100 10 10 1945
Model WxHxLxPCS FEMVBIE VAGNETIC  V-BLOCK 5487-103-0 | GB103B, 103 | o | rees T Ol 4790
¥820 — 5487-103-1 | GB103B, 103 1 e | o5 | 49 |36 | 3240
\ 85X 16X 150X2 = L & -8B 5487-103-2 | GB103B, 103 2 25-100 25 4 2245
8. 5X 20X 150X 2 » 1 1124 1.0005 - 1
*\\\?\\ 50 ) ﬂ ) 5487-112-0 | GB112B, 112 0 | 05 T osor | o 5310 R
(\\\ P85 _ _ : - q i 5487-112-1 | GB112B, 12 1 101149 | 001 | a9 |37 | 3930 i
N -~ 1 0.5-24.5 0.5 49
533231 g ' 5487-112-2 | GB112B, 112 2 e oo 25 h 2600
35X 36X 1502 § -
1 8.5X40X 150X 2 :
1 8.5X44X150X2 ) 5489
v
g Holding | Applicable Dimension q ﬁg%ﬂﬁ{ﬁ!
L Order No. Model Power | Diameter | B L H N.W. |Price
5475-30 | GVH30 T5kgf | 950 w0 | 70 | 50 | 2k | 3400 CARBIDE METRIC GAUGE BLOCKS
54 6 O 5475-40 | GVH40 20kgf 080 50 | 100 | 80 5kg | 6355
. = 5480
BEEMHTITEN
PRECISION PARALLELS SET FREMMESR MAGNETIC SQUARE & V-BLOCK
P’IOO BA1\ BA2 Unit:mm
¥1170 o ) Order No. Model Total |gag | Nominal | Steps | No.of |\ |price
—— Unit:mm Unit:mm blocks )| (mm) |blocks
Body Size Clamp Size 5489-87-0 | GB87C, 87 0 | 1.001-1.009 | 0.001 | 9 12505
1.01-1.49 0.01 | 49
AXBXLXPCS AXBXCXLXPCS 5489-87-1 GB87C, 87 1 0595 0.5 19 4.6 | 9800
.IH“I“ 5X16X100X2 15X31X2, 5X200X2 5489872 | GBBTC, - p e i I i
/ n Orlsnlooze 5489-103-0 | GB103C, 103 0 1.005 oo 1 13630
8X 24X 100X 54891031 | GB103C, 103 1 1.01-1.49 0 49 | 58 |10575
10X30X100X2 0.5-24.5 49
BRSO 5489-103-2 | GB103C, 103 2 25-100 25 4 9800
36 X 150X 2 Dimension . 5112 000 — T
i r 14X48X 1 f(]><g Order No. | Model B 1 H L2| P1P2IP3] alb N.W. |Price 5489-112-0 | G C, 112 0 10011009 | 0.001 5 14440
[ 10t li 18X60X150X2 5480-10 | BA1 100+0. 8100+0. 8]100+0. 8] 43| 17] 4 [12 [26+0. 5] 6.5kg [4040 5489-112-1 | GB112C, "2 1 Lortae oo b 6.1 J11540
e B —ad -8 - 22X362X150X2 5480-20 | BA2 150+1.2[150+1. 2150+ 1. 2| 56 [24.5 5 |19 |32+0. 8] 22kg |7555 5489-112-2 | GB112C, 112 2 25100 25 4 10825




% R+ R B —

Lathe Chuck Accessories Magnetic tools

e e
_Q _Q
TE garmBrmme AR & : tE
AT = SEEANBEEZHEAR EBERKHERE (THWN) 40 B Sk MR A
32 COMPOUND SINE LATE WITH MAGNETIC CHUCK COMPOUND SINE PLATE WITH FINE MAGNETIC CHUCK MICROPITCH PERMANENT MAGNETIC CHUCK SN
i CSPM SUPER THIN TYPE PERMANENT MAGNETIC CHUCK s
= e
CMSP MTS |
- s50h -
VAW S — " VAW
T TN : e, LT
! i 9 | I -
. 1 | ' L 8%
& &
W | FE : £0.005 Unit:mm
= .
“ig Nominal t N.W. .
==NI1N B - £0.005 BE : £0.005 i OrderNg. Model |y, onciod W | L | L1 P H | (kg Price £
& I Ot N Model A B c D E F INwW.| Price ‘% Order No. Model A B [¢] D E F (e ‘ N.W.| Price s 5548-02 407V 100175 | 100 | 175 | 145 20| 52 8kg | 2045 & I
S0 oo copam |1 | 004|122 [0 | 15— |l takg | 5885 B | oMsPass | g o o o g 0 | o] 20 | 9ska | 7020 KR - £0.005 & ~ Unit:mm 5548-04 606V 150x150 | 150 | 150 | 115 20| 52 | 8kg | 2525
if?ﬁ et B R U e et e g L Uy e RO P 1552247 a7t | CMSPATS 225 71150 122 175 1100 1757147 e skg| 9365 — — Nominal | Top plate [Pole pitch |Bottom plate — 5548-06 510V 125%x250 125 | 250 | 207 20| 52 13kg | 3190 iﬂ?
TIE [B51222 573 57| _GSPS10M_|220—70| 1255|122~ |20 [0 |*T ] aakg | 7605 P28 raet | OMsPess |0 |20 |1 22— [0S0 10147 o1 5kg | 10530 [REEI7 N, CLE Dimension| L | L1 P L2 .| Frice 5548-08 612V 150%300 | 150 | 300 | 257 23| 60 | 21kg | 4545 NE
SS90 o] cspotam [0 a| 1505 [ 22 P00 002 | o] s | 9365 B0 | omsPstos || 27 25 1007 P00 01T 17 28kg | 11700 5539-305 MT305S 70%130 130 | 77 | 1.4(0.4+1) 130 2.2kg| 5870 5548-10 614V 150x350 | 150 | 350 | 305 | o515 |23| 60 | 25kg | 5345
554811 616V 150<400 | 150 | 400 | 357 23| 60 | 28kg | 6130
5539-307 MT307S 70x175 175 | 122 | 1.4(0.4+1) 175 2.9kg | 6955
—7] & 5 5 1 5 5 5 3 5 - 5548-12 618V 150<450 | 150 | 450 | 405 23| 60 | 32kg | 6870 T EE
5548-14 816V 200x400 200 400 357 23 60 37kg 8080 —
. . N g s - w
Bk BRAEEZ#ES MAREZEA 5 5 4 O 5548-16 818V 200450 | 200 | 450 | 405 23| 60 | 43kg | 8980 e
;% 9: 5548-18 820V 200x500 200 | 500 457 23 60 53kg | 10130 9% 9:
SPS FINEADJUSTMENT SINE PLATE WITH MAGNETIC CHUCK " N
Ep ECONOMY SINE PLYATE WITH FINE MAGNETIC CHUCK #ﬂEika;%ﬁ PERMANENT MAGNETIC CHUCK 5550 Fx
b 5
& AY &
- Bk HAMB RE -
st |I POWERFUL MICROPITCH PERMANENT MAGNETIC CHUCK T &t
F
HEIR ' e = SR
£ = > = £
A g = IR
Li
Bt 8 : £0.005 ) . : = Wk ' =5 [ingts
Order No. Model A B | C D | E | Nw. | Price 5 i = | | - : [‘
SN0 —gmi]  spars | |07 | o | 0ok | 4975 - L p (53 : ! = |
551520 —czreoe|  spees | D07 | 00— |0 5| 00— | Lo toka | 5270 T | # -%—ﬁ - L — - = . | )
951522 —g5i507| sPstos  |Z00 [ F 0 A1 o] okg | 6435 = : = L a=l
SS1530 | spotzs || 001 |5 0% | Lo 2ok 8780 ¥R - +0.005 Unit:mm BE : +0.005 Unit:mm q.‘ -
; Nominal N.W.| 5 i i
5 5 1 6 Order No. Model A B C D E N.W. Price Order No.| Model DimEneien W | L L1| P L2 | e H (Kg) Price 4 = h LI
5535-35 MSP35SA 5 : 50 5.5k 8190
. e SPITSA 1:2 17[:0 2; — j: - r:; P 5540-02 1018AY 100x175 |100 | 175| 134 187 | 42 7 | 2560 3 t %
“%hE A N - 5 ke - ” ' sheE
b EE4NEEEZHE s SPOOSA p— P = o " ST et 5540-04 1025AY 100x250 | 100 | 250| 204 262 | 42 | 52| o | 3555 | Po= L o 7 i
COMPOUND SINE PLATE WITH FINE 5540-06 1030AY 100x300 | 100 300| 260 312 | 42 11 | 4260
—_— MAGNETIC CHUCK 5536 5540-08 1325AY 125x250 | 125|250| 204 262 | 40 12 | 4420 B - £0.005 Unit R
. 20, nit:mm
HLR CSPS 5540-10 1530AY 150x300 | 150 | 300 260 312 |32.5 16 | 6272 Nominai NW HLR
, = W o
I8 FEERKBRE 5540-12 |  1535AY | 150<350 |150|350| 316| %? [362 (385 19 | 6930 OrderNo;  Model |pimension| W | L | L1t P H | (Kqy Price I8
| . 5540-13 1540AY 150x400 | 150 | 400| 356|"1-6%6| 412 [38.5 22 | 7930 5550-02 407W 100x175 100 | 175 | 125 7 3415
= B00(h PERMANENT MAGNETIC CHUCK (VERTICALTYPE
T T ( ) 5540-14 1545AY 150x450 | 150 | 450| 414 452 (38.5| 60 | 24 | 8915 5550-04 606W 150x150 150 | 150 | 110 52 9 3985
) MWS 5540-16 2035AY 200x350 | 200 350| 302 362 | 36.5 25 | 9175 5550-06 510W 126250 | 125 | 250 | 205 12 | 4880
= I;-. i 5540-18 2040AY 200%400 200 400| 344 412 |36.5 29 10160 5550-08 612W 150x300 150 300 246 1 2 24 6235
! P =t = 5540-20 |  2045AY 200x450 | 200 | 450| 400 462 [36.5 32 | 11320 ::zgg ::x lfzjzg 1:2 jzz zzs a+ zj ;ijz
- 50 :
I I | ! 554022 2050AY 200x500 | 200] 500] 456 012 %65 36 | 11960 55650-14 816W 200x400 | 200 | 400 | 349 o T
| | -
‘ l ‘ E 5550-16 818W 200x450 200 450 390 41.5 12190
FBE : £0.005 I ‘ | = 5 54 5 5550-18 820W 200x500 | 200 | 500 | 446 46 | 13325
OrderNo. | Model A | B | c| D | E | F |NW| Price 2 o o o F| "
— — kY
SS16-10 gz ol copars | (o | 104|224 [0 | /o4 |1 lr7a) takg | 6435 - n — SRk LR E 5 553
Fi — =) 0 Fir'
£=] (551620 oo 5| cspees | 10— | 190|122 [00—5 [0 [T | fekg | 7020 = & = = % IR
W N T i e TN R : £0.002 _unitmm POWRFULANGULAR PERMANENT MAGNETIC CHUCK B % 48 [ 46 72 3k B R 5% ory
= - - Top pl B late] Thicki Height | &
D5 wstess| csperzs [P e[ [ ol T ] vk | 1050 OrderNo.|  Model |12 P e e e T N, Price A O £ ROUND MICROPTICH PERMANENT MAGNETIC CHUCK
2 O 5536-307 | MW307S 75 | 175 [ 130 | 180 | 65 | 67 | 20 | 111 | 30 | 1+1 | 10kg | 7805
5 5 5536-407 MW407S 100 | 175 | 130 | 180 65 67 20 136 30 1+1 13kg 10075 g " MCD
— S Za 5536-510 MW510S8 125 | 250 | 205 | 255 65 67 20 161 30 1+1 | 23kg 13000 I
B EIELHA )
i
SINE PLATE WITH FINE MAGNETIC CHUCK 5537 - L =
A e - at
MSP ) MSP812S BESERKERE ] p— 0 8
MSPEBS g PERMANENT MAGNETIC CHUCK J-'-‘.I' r
. - ool : by g
-] - R (FORHARD ALLOY MATERIAL ) 5] i L ¥
- '
- . - -
. MTH RE : £0.005 Unit:mm
P> = it - " Nominal N.Wig : it:
= t OrderNo| Model |pimoncen W | L | L1| P | L2|e| H | felPrice R : +0.005 L]
L X ; 5545-02 107A Toox175 | 100 | 175 | 125 187 . 75 | 2695 OrderNg. Model | D1| D2 | D3| K d P H t |E (Kq) Price
L . o ’ ‘ ’—‘ ’7 ; weie0s oo oeroes | 125 [ 250 | 200 20 P s 5553-080 | MCD80 s0 |50 [os |4 | 1.8 | 2085
- B 84506 | eiaa | tsouoo | 190 |00 |2 | o0 1516050 R RECEEE w0 |0 | [T e
. X g
D et R 3 elolzle luw #;0'005 5545-08 614A 150350 | 150 | 350 | 296 oo 1747540 5653-150 | MCD150 | 150 | 110 | 132 | 4 7 | 4930
rder No. ode WL rice ® L } il
5205 5 75— 177_—50_—140_—130 : 5545-09 616A 150x400 | 150 | 400 | 346 |y, | 412 |13 169 ] 8400 5553-160 | MCD160 | 100 | 120 | 10| 4 | " 8 | 5640
520-351 MSP35S 6.8 3 3 2 1.58 5| 6.5kg | 5560 = : = 5545-10 150 | 450 | 396 262 201 9440 0.5+1.5 8
552047 525 T02 37 75 77 175 - X 618A 150x450 +1.6+6 60 : 5553-200 | MCD200 200 | 160 | 180 | 5 12.5 | 8140
e 520471 | MSP47S 9 4 34 3 7.85 7] 11.5kg| 6435 FEE @ £0.005 Unit:mm 5545-12 S16A 200 | 200 | 346 212 26.0 [10770 S553.950 | eDa% =
- 200 152 87 100 47 150 n o n - 200x400 - 250 | 200 5 5 19.5 11240
520-661 MSP66S 8 [ 3.4] 5 185 6|14.8kg| 7020 Nominal Top plate Pole pitch |Height .
BSOS ol MsPsios |\, | 2oL 10— | e | 20k 000 Order No.| Model Dimension| W L K] p H N.W. | Price 5545-14 818A 200x450 | 200 | 450 | 390 462 30.1 {12000 5553-300 MCD300 300 {230 [ 260 | 5 "o 52 10 28.5 | 15555
o5 04121] Mspatzs |00 |12 157 7175 717 470 19kg | 9365 5537-404 | MT404H 105x105 | 105 105 | 69 |6(1+1)+(1+3) 60 | 5.2kg| 10800 5545-16 820A >aoxsaq | 200 | 500 | 446 512 35.7 [12700 5553-350 | MCD350 | 350 | 230 | 260 | & 39 | 23365
206121 Mspet2s |0 |2 1T 1T 00T 28ka | 10530 5537-407 | MT407H 105x180 | 105 | 180 | 145 |g(1+1)+(1+3)] 60 | 9.0kg| 19210 5545-18 1020A soxsng | 200 | 500 [ 446 512 45.6 |15575 5553-405 | MCD405 | 405 | 230 | 260 | 5 52 | 26690

!




Lathe Chuck Accessories

Z bRk BB EETER A | T

7= 7=
o 5555 5655 5669 5718 o
= B & T 5k b e £ VSBITEAH  VSBTOOLMAKERVISE BEZEIARAN VBLE A /]  TOOLMAKERVISE =

H st ROTARY PERMANENT MAGNETIC CHUCK VSB20-40 SUPER PRECISION TOOL MAKER VISE VB15-VB50 X
&2 &2

L)

g — = - ° - P =
SR T iAo
& = &

"
53 = o
£ . Al B £
= B - £0.005 Unit:mm Unit-mm 5 - skss ; - B
Nominal | Chuck Dimension|Pole Pich| _Length Rotary Base st n.w.| o, . - NW. - W : HRC58°~62° o b Unit:mm
I Joerte | Model g W L[ Lal | P2 [wi]11]12] & [n 2| Hz| (9 OleriVo. | (et A|B|C|D| E| F| & | (kg| Price RALE : -185°C ! S=H OrderNo.| Model | A | B | ¢ | b | E| F| & | N price el
N 5555-07 | 407U | 100x175 | 100] 175|125 283 175| 6970 5655-15 VSB15 105| 36 | 48 | 20 | 28 | 20 | 0-45 | 1kg 780 TEMEE : 100mm/0.002mme . T VBTs TR BT BTl BT e oy (ﬁg) e I
5555-10 | 510U | 125%250 | 125]250|200 368 24.5| 7565 5655-20 VSB20 150 | 48 | 53 | 25 | 28 25 | 0-75 | 2kg 960 EEBHE : 100mm/0.003mmA Unit:mm - J
K 78| 4(1+3) {215 ]100| 50 | 25 | 16 [103] 50 [ 145 1120 N 5718-20 VB20 150 50 53 25 28 30 | 0-80 | 1.8kg | 750 7
A 5585-12| 612U | 150x300 | 150/500)246 KEk] et el B ME | 272] 9010 5655-25 VSB25 176|163 | 59 | 30| 29 | 30 | 0-95|3.3kg Order No. Model A B © D E F G | (Kg)| Price 5718-25 VB25 175 | 63 | 63 | 32 | 31 | 35 | 0-90 | 3.3kg | 900 ~
NE 5555-14 | 614U | 150x350 | 150] 350|296 [468 30.4 | 11600 5655-30 VSB30 190 73|68 | 35| 33 | 35 |0-105|4.3kg| 1495 566930 V30 190 | 73 | 70 | 35 | 35 | 38 |0100| 4.6kg| 7335 5718-30 VB30 190 | 73 | 70 | 35 | 35 | 35 [0-100] 4.3kg | 1000 NE
5555-16 | 618U | 150%450 |150(450|396 568 35.4 | 15170 5655-40 VSB40 245| 98 | 90 | 45 45 45 0-135| 10kg 2335 5669-40 V40 230 98 80 20 20 46 | 0-125 [11.4kg| 11160 5718-35 VB35 235 88 80 40 40 40 | 0-130| 7.5k 1450
7] EE 5669-50 VV50 300 | 125 | 98 50 50 60 |0-160 [18.5kg| 21980 5718-40 VB40 245 | 100 | 90 45 45 45 [0-130| 10kg | 1800 T]
5 5 6 O 5 6 6 0 5669-60 VV60 350 | 150 | 100 | 50 | 50 | 60 |0-210 |24.9kg| 26210 5718-50 VB50 285 | 125 | 100| 50 | 50 | 45 |0-160| i5kg | 2610
B ., , =EBFH B
o EEETEE W ke = SUPER PRECISION TOOL MAKER VISE 5680 5710 o 3L
ROTARY MICROPITCH PERMANENT MAGNETIC CHUCK ) +
e 5560 { BEREMEIEZT N —<stTEAFFH  TOOLMAKER VISE(SMALL) EX0
- - [ ]
+#& ~ 1 — | PRECISION SINE VISE VS10 B : £0.003MMBLR &
L—— i Jin= S— L50 “
— ] - - _ N.W.0.3k
T §t | el | = —r— -t g T §t
g [ =g =7 -
Bl ; = o '@ | &) i
P E f—— . 1 £
IR \ ! MR : SKS3 c o
%Zk bt g: g B HRC58°~62° - ¥455 x %,.7'(
R 3 5E=u 1 AL - 185 it
= . AALE 1 -185°C ! = 1
Bo W - £0.005 - i - - FARBE : 100mm/0.002mmP - h - i Be
e Unit:mm FERBBE : 100mm/0.003mmH) unit:mm H
Nominal | Chuck Dimension|Pole Pitch Length Rotary Base _ |ttt N.w.| p ; & N.W. 7 . )
OrderNo.| Model | .- wl L1l a1 P Lolwil 111121 [halhel A2| (Ko Order No. Model A B © D B (Kg) Price 1
5560-07 | 407UW | 100x175 |100 | 175]125 |283| 17.5| 9265 5660-34 SV34 75 34 35 15 0-25 0.38kg 1975
5560-10 | 510UW | 125x250 [125 | 250|200 o |368] 24.5| 11475 5660-45 SV45 110 45 45 20 0-50 1.0kg 2770 Model i
556012 | 6120w | 150+300 [150 [500[246] 78 | o .. . [418]100| 5025 | 16103)50 145 [ 575 | 13505 | | 5660-70 SV70 160 | 70 | 62 | 30 | 080 | 3.3kg | 3485 ! AIB|CB[E[F[S]|H] I [MEsamgy e P
5560-14 | 614UW | 150350 |150 | 350|296 |468 | 30.4 | 15300 5660-90 SVa0 210 90 80 40 0-120 | 6.7kg 5585 L50 160 | 73 | 93 | 30 | 63 | 33 | 80 | 45 | M5 46° 6.5 6300
o 5560-16 | 618UN | 150450 |150 | 450|396 568 354/ 18570 5660-92 SV120 286 | 120 90 40 0-150 | 16.8kg 11445 5 72 )
23 0 43
#5610 5662 5735 B
FRTEZFH RETEAFH  TOOLMAKERVISE
WL —STAREWIBRA A EH/AH SUPERPRECISION TOOL MAKER VISE LR
~ TOOL MAKER SINE VISE ~
TE TOOL MAKER VISE(STAINLESS STEEL) SV200. 250. 300. 400 =t
= VI10 . . . o =
¥600 - -
1 3 ] =
. ;
1 - = = T
‘5 : T | :
“__ 1 == A | - | = & o
1 A R : SK2 = A - d
. )
5 6 2 5 B : HRC56°-58° ) g = il Unitenm
FATHBEE  100mm/0.003mmA ! - 4 Ui OrderNo.|  Model Al B | c|D| E| F| 6| x| Price
TFEWNITERA EEREE : 100mm/0.004mmpy Unit NI 5720-15 Vs15 100 | 36 | 48 | 20 | 28 | 25 | 0-40| 1kg | 655
n"\"cvm OrderNo | Model Al B C | D] E|F | G| (kg | Price 5720-20 VS20 150 | 50 | 53 | 25 | 28 | 30 | 0-80 | 1.8kg | 800 BER
TOOL MAKER VISE(STAINLESS STEEL) OrderNo. | Model | A | B | C | D | E|F |G | H|J | e Price 5735-200 | SV200 | 156 | 46 | 89 | 25 | 27 | 25 | 0-65 | 44kg | 2155 5720-25 VS25 175 | 63 | 63 | 32 | 31 | 35 | 0-90 ] 3.3kg | 1000 M
VL20 s 30 ¥ 5662-20 A20 140 48 55 30 25 | 25 0-75| M16| 30 |2.7kg 2655 5735-250 SV250 176 63 99 30 33 30 0-75 7kg 2455 5720-30 VS30 190 73 70 35 35 35 [0-100| 4.3kg 1100 dree
. u 5735-300 | SV300 | 190 | 73 | 110 | 35 | 38 | 35 | 079 | 9kg | 2750 5720-35 VS35 235 | 88 | 80 | 40 | 40 | 40 |0-130] 7.5kg | 1545
l o 5662-25 | A25 160) 63 | 69 | 39 | 30 | 30 |0-85| M16)| 30 |4.6kg| 3095 5735-400 SV400 | 255 | 98 | 121 | 45 | 42 | 45 |0-124] 16kg | 3890 5720-40 VS40 245 | 100 | 90 | 45 | 45 | 45 |0-130] 10kg | 1900
L - 5662-30 | A30 | 180| 73| 78| 43| 35| 35 |0-95|M24| 40 |6.4kg| 3760
" TS B 5662-40 | A40 | 230| 98| 92| 47 | 45 | 45 |0-120| M24| 40 | 13kg | 6650 5 7 4 5 5 74 0
(= L | .
' =3 M 5665 7B B IR FHRIRAN
| ——
E « | E*E""'I_E_Hjj TOOL MAKER VISE
Unit:men R L= VSD20, 25, 30, 40
N.W. [ . SUPER PRECISION TOOL MAKER VISE
OrderNo.| Model | A | B | Cc | D | E | F | 6 | o Price MESK2 , KFEE£0.003mm , EEE1£0.005mm.
5625-20 | VL20 140 | 50 | 53 | 25 | 28 | 25 | 0-7mm] 1.8kg] 3230 o " <
5625-30 | VL30 180 | 72 | 62 | 30 | 32 | 35 |0-100m/m| 3.8kg| 3830 [ g
5630 : -
rENMFETRERAA HIE : SKS3 s -
TOOL MAKER VISE(STAINLESS STEEL) R : HRC58°~62° T B e
VSU30 £ = i RALE : 185C F :l—l E:
) FATRBE : 100mm/0.002mmA -

FERFHE : 100mm/0.003mmMA Unit:mm GiNCHINZY — Ur:\:t.vrcm

N - 7}<SF @$§3600 ) EE{IFI#AS’ Order No. Model A B (0] D E F G (K'g)' Price
Order No. Model A B c D E (Kg) | Price W 5740-20 VSD20 156 | 48 | 52 | 25 | 27 | 25 | 065 2.5kg | 1200
5665-60 AS60 90 60 50 25 0-35 | 1.6kg | 3200 OrderNo.|  Model A|B|C|D|E|F |G |H|I | J K g Price 5740-25 VSD25 176 | 63 | 63 | 30 33 | 30 | 0-75 | 4.5kg | 1400
5665-70 AS70 160 70 62 30 0-80 | 4.3kg | 4190 5745-80 | CHM80 | 137| 75| 32 | 80 |160] 180[ 110 70 [12.5] 32 | 15 [14kg| 5000 5740-30 VSD30 190 | 73 | 73 | 35 | 38 | 35 | 0-79| 6kg | 1700
5665-90 AS90 210 90 80 40 | 0-120 | 8.4kg | 9190 5745-120 | CHM120 | 231] 128] 53 | 110 ] 270] 300[ 180]120] 18 [ 60 | 25 [43kg| 19635 5740-40 VSD40 255 | 98 | 82 | 40 | 42 | 40 |0-124] 12kg | 2600




ERFEREH 4% 4] 21| T 14 Wire cutting machine

Lathe Chuck Accessories Accessories

. 5615 5635 iE

—STREBWEBIRA N e XIE Vil
EP;E ELECTRODE HOLDER(STAINLESS STEEL) PRECISION VISE OF STAINLESS STEEL FOR EDM Epi
I~ VH20 WPV50 #F : 44PN s £0.002mmstm .
hvA:o . _Nesl hvA:o
& F 'EN Y &
| === L
S5 ¥2335 e} |, SE
8 = = S&E
IE=E=1EM -
e === SAudoaL W £
" 5620 i
%k 5640 -
TR st RBEmaREh O T VeE: o
ELECTRODE HOLDER(STAINLESS STEEL) e PRECISION VISE OF STAINLESS STEEL FOR EDM
T) EE VH50 - " = WPV100 # : TN FEEE © £0.002mmBLA =
%%}4‘:\ - : -.“ "q\-- \%234‘:‘
F | F
—Eﬁ"i i = W d i [T —Eﬁ
T4t 5645 TR
i ZYIEIR N .
f%g; 571 5 PRECISION VISE OF STAINLESS STEEL FOR EDM f%g;
[T —TJ' EE*&EjJ ELECTRODE HOLDER WPV150 *ZJE- . Z‘%fﬂﬂ FBE : £0.002mmBlR Bic 4
EHV20 ¥10765 _ = P
B bR = - F

g N.W.0.8kg

¥750 i
TH - o
5 -
&
ARAR&EIR A
—_— u:_l__ ADJUSTABLE PRECISION VISE FOR EDM
DIZS ] i WPV320 #R : THN
IR '
Material Sk2 L
Parallelism Within 0.003mm/100mm
Squareness Within 0.005mm/100mm
Harden treatment up to HRC56°~60°
‘;1-_ |- L ——
I i .
’ X
- ..| i &
22 K  oooo0o0000 i
% 1L < L \ J - :
Fc H: T o X .
...'."il.;. i P -_—ﬂr . . '_?
s =)
1 1 i ! i
i | R == —i




Mechanical tools

R FEEH M TR

Lathe Chuck Accessories

23 23
ji 6600 6605 66 1 O 6620 %RJIMQLTgI_:3SOXW320><H310mm ig
— RSETIRREEML =1 ] B A 58 71 =B A wHEEXEsN PR e ey
F = .
L ENDMILL RE-SHARPENER HIGH SPEED CUT-OFF MACHINE %'aES'\é”é‘KNG CHAMFERING MACHINE DISKESPER 377. 1HP.50~60Hz i
FE  MG413 TY280 CHANFERING AL : 500mm &
. ¥12420 ¥5230 _— MACHINE S : 3500R.P.M
- w8400 ' - 9 ¥6990 B ®E: 0~3mm -
IR ; WRERT a— Rt: L500xW320xH320 b hVAE:W
o OrderNo|  Model | ¥ IEEE| IMAZ 2= B, BAE110VI220V = 8220V/380Y GH300 BB R EEE: 45 ey
660510 |TY280-110 |20 1001 150mm| 1mm [19.05mm) 3 #: 1HP.50~60Hz
55 e Model 6600 6605-220 [TY280-220 |20 1000 (55) | 20%0.10m | 150mm| 1mm |19.05mm EE;:;??O&;["'\:I" 6 6 2 O - O 1 =5
& ﬂfiﬁ D;m?':mi‘er — JE8 & BIAREREEE: 15-45° l &
i ointAngle $EE - " =2 1| |
B Dresser | SPCSETRE#300 (T Anm-6mm) (OrderNoj  Model | 27, R E EfLR% (kg) E/ ?ﬁ Ee El‘ ﬁﬁ] % *ﬂ, ¥6210
D11 ~ SDCEEFRV4EH300/#120 (T Tnm-13mm) 6605-110 |TY280-110 | 3600 |1/2HP 110548 | 300mm | 86 : CHAMFERING MACHINE D11
I 5k Motor 3/4HP 450W 6605220 | TY280-220 | 3600 | 1/2HP 220248 | 300mm | 86 6 6 1 O O 1 =3 (SANDING WHEEL TYPE) & I
3R R.P.M 6000R.P.M - ¥7335 CM8320
=2 Power Supply AC110\AC220 (848) s 47 i}_._
7S : % 77 B =X 18 A 4L R
NE — — - 6608 CHAMFERING MACHINE TE
_— RS Model Vocts PEg ] b AR Order No. Model Blfgth | B%E | BE | $E | £E | ZHERT
71 EE 6600110 s Tov A% & ) i B BE AL (SIDE CUTTER TYPE) . 711
6600-220 2200 PRECISION CUTTING &MILLING MACHINE CMS500 8200110 | o oetmm oo en llZi S
6620-01-220 22 i 1
B 6602_01 TY300, 500, 600 £
*kk AR, . TEGE. EREEINEL ML OrderNo. |  Model | Eifsfe) | Efbi% | B | #& | 28 | RHART 6625 e sk
TR IR 5 LB EEHL Lo i, Wk, AR, AR
_ REHERAR, RIS HBRE 661001110 o -
Ff DRILL RESHARPENING MACHINE ™ ﬁgﬁg%gﬁﬁ%%m [ 6610-01-220 | CMS500 0~3mm  |3600RPM | 220V | 28kg | 30kg | 53x42x41cm FREAE AN ii]
F#  DG213 BENE, EAEE EARGL 5610.01360 380 PORTABLE REGULAR TYPE CHAMFERING MACHINE S
R~F: L430XW380 X H540mm GH32OC/R/S
T gt B OET BRE—MKBE LW 4055 0o T gt
. ¥9200 TIF##%: 9.525mm(SPMW090304)
FHAEART]
3] = £
%ﬁﬁ Order No Model DR | B DR AR B E Eﬁﬁ’&& R Price qzﬁ%tjjitﬁ!]%*ﬂ' gjjj_; ;‘%EEVVOVIZZOV Jf;ﬁ{*
R e Model 66002-01 : WE | BE | R |Rew (k) FLAT SURFACE MILLING CHAMFERING MACHINE B, BO0OR.P.M =
[ HEESEE Drill Diameter ®2mm~®13mm 6608-01 | TV-300110V S L S — GH500B B AIRARARE: 0-3mm Bo
- ﬁiﬁé%lﬁ PointAngle o135 6608-02 | TY-300x110V-CE | = | © 3/4HP 110-CE48 300mm | 87.5 ¥5920
- 3 6608-03 | TY-300x220V b + 3/4HP 220848 300mm | 87.5 22500 ~ F U - BE
3 iR wer Su \ #H S
J’%‘ 173 :i )’z Po Mrmsmpp\y AC1 11?3t<(;222500(\/v ) 6608-04 | TY-300x220V-CE s |8 3/4HP 220-CE¥ 48 300mm | 87.5 - R3F: L500xW320xH460 6 6 2 5 % ﬁ
W = " T 6608-05 | TY-300x380V g | & S/4HP 30818 300mm | 875 | 20000 ME: $48110V/220V,Z 8220V/380V - e L7
E B Weight 8.5kg 6608-06 | TY-300x380V-CE 34HP 380-CEMAE | S00mm | 875 | 57: 1HP.50~60Hz EAXFREEAN
TA 6608-07 | TY-500x110V . 3aHP 110848 500mm | 91.5 ‘EE;TOOR P.M TE
F A g Model Vocts 6608-08 | TY-500x110V-CE g S I 3/4HP 110-CEX48 500mm | 91.5 . }gzgiﬁ(;im a5 \C/Ei-l[/ll I(::EAI; IFI\{I%%NTDOOL F A
6602-01-110 G213 1oV 6608-09 | TY-500x220V Sl 2 19600[ gamp 22048 500mm | 91.5 | 23100 R
2| 6602-01-220 220V 6608-10 | TY-500x220V-CE { g 8 3/4HP 220-CE#48 500mm | 91.5 - . VHCT ¥4055 25|
- 6608-11 | TY-500x380V 218 | g 3/4HP 380840 500mm | 91.5 | 20600
_EE " 060812 | TV-S00x3%0v-CE : 3aHp3R0OCERM | S00mmn | 915 | - 6613-01 OrderN Model (A EssiE | B |HE |EE| LHRT | & —EE "
6608-13 | TY-600x110V 3/4HP 110248 600mm | 93.5 - . ¥8025 rder No. ode! & 3 D p
6 6 O 2 - O 2 6608-14 | TY-600<110V-CE | = | = 3/4HP 110-CE%43 600mm | 93.5 - FTEsTIENRE AN 6625-01-03HG-110 nov | - ‘
6608-15 | TY-600x220V H " 3/4HP 220%.48 600mm | 935 | 23700 eo25.01 0910220 | VHCT-03HG 3mm 1200k PMI———=) 2.5kg | 28kg [36X13.5X12.5en ZETLR)
_— 3 N X 600220V~ S 8 S . CHAMFERING MACHINE —
.R ]E %Jj ~7|_ ﬁﬁ J% 1:}1 6608-16 | TY-600x220V-CE 2 g 3/4HP 220-CE#48 600mm | 93.5
> 6608-17 | TY-600x380V g & 3/4HP 38048 600mm | 935 | 21200 (FACE MILLING CUTTER TYPE)
DRILL RESHARPENING MACHINE §606-16 | TV-600<380V-CE e e e CMC500N 60626 ¥4200 m oA
DG1226 h_ﬁﬁjﬁt‘ Rt: L360xW200xH260mm
BEHOFREAE AN BE: =1H220V/380V
. : Z#: 0.5HP
¥18395 Order No. Model Blagh | E#E | BE | RE | £E EFERT B : 200mm
6609 6613-01-110 110V STRONG PORTABLE ‘@éf ig/ﬂg(y)ﬁmooFs.P.‘;ws
| BEBETE: °~45°
Vﬂ:‘z@gﬁﬂ El\ﬁﬁu % *;L 6613-01-220 | CMC500N 0~3mm  [3600RPM | 220V | 29kg | 31kg | 53x42x41cm CHAMFERING MACHINE E\J%g%‘%iﬁﬁ:ﬁ;ﬂmm
1 B Model 66002-02 -01- 380V
o T Eer——— V SHAPED CHAMFERING MACHINE ¥8025 8613-01:360 GH320A
SR Point Angle 90°~135° (FACE MILLING CUTTERTYPE) 66 1 5 6627
=] B Power Supply AC110\AC220(## ) —
N ¥3925
3 %k Motor 1/2HP 450W il | = gy
it F R.P.M 2500R.P.M . E/Eﬁﬁﬁ]%*ﬂ, WE)JK%?E@J%M
= o OrderNo. [Model Bl g ) EI%iE |BE | 2E (£E | RERT BOWI WHEEL CHAMFERING MACHINE
A — - GH500C T AIR HAND CHAMFERING TOOL
) = Vocts S o 2 ¥5920° 554 | 500xW320xH320mm AHCT
25 Model 6609220 | 8 | o-amm|seoor P | 220V | 26kg | 28ka| B Rt 125%31.75xE50mm. #60(V6E! )
Zgg;g;';zg DG1226 ;?X/ 600-380 § 380V = BE: #48110V/220V,=#§220V/380V
= 57 1HP.50~60Hz OrderNo.| Model |BfEEn| EEE | RE | SE | TE | BERT
K : 500mm rerte oce ?
EE: 3500R.P.M 6627 AHCT-03 3mm  |1200R.P.M |90psi/63kg/cm| 2.5kg | 2.9kg [36X13.5X12.5cm
6603 ERSE: 0~3mm
Blf A REEE: 45°
TIHEEETIH 6609-01 6628
UNIVERSAL GRINDING CUTTER
m VELRL R BN Bl A AL ‘ AR FRXE AN
u2 .
RFRFER: 18mm ¥8025 E&‘E@ El\itﬁljﬁ *}l ¥7765
. . V SHAPED CHAMFERING MACHINE IRREGULAR TYPE
SRR, o (GRINDING WHEEL TYPR) CHAMPERING MACHINE CHAMFERING TOOL
HWRME: 0~180° ’ ' o (GRINDING WHEEL TYPE) (
BB 0~45° VEMW500 CMWS500N . et
s . 0~26° ~
SRR 0 G B G| 5% | EE | 2ERT
N Order No. [Model f#l & 5 /1| [E1%%3 3 E D
FEIEER: 3600rpm Order No. Model Bl B Ef®E | BE | BE | £F | MRS
MBBHLER: 100x50x20mm 6609-01-110 § 1oV § 1501110 oy Order No. Model |fElfgdeS) B4R | BE |SE | £E| %#ERYT | €3
Eﬁt; 1/3HP 220V/380V 50/60Hz 16609-01-220 § 0~3mm |3600R.P.M | 220V | 26kg | 28kg é e
3] = 6615-01-220 CMW500N 0~3mm 3600R.P.M | 220V 28kg 30kg | 53x42x41cm 6628-03HG-110 110v ) o .
¥16100 HART: L450xW400xH350mm 6609-01-380 | S 380V 2 IHCT-03HG 0~3mm [1200R.PM 2.2kg | 2.4kg [36X13.5%12. 5on |EHIEEAL
6615-01-380 380V 6628-03HG-220 220V




Th &t

HEIR
A
B

W

I&

2 E
Be

H=
mE

R FEEH

MZG

5485

A e UNIVERSALARM MAGNETIC BASE

Lathe Chuck Accessories

Unit:mm
Power ArmLength Base Dimension _
Order No.| Model , N.W. |Price
Holdingl 1] 2 “® L [ w | H
5485-08 | 320 80kgf 112 | 102 | 65| 60 50 55 | 1.4kg | 560
5485-09 340 80kgf 135 110 70 60 50 55 |1.6kg |1080
5485-10 360 100kgf 145 130 | 80 80 50 55 |2.1kg |1350

5486

el EE UNIVERSALARM MAGNETIC BASE
300A, 300AL. 300ALL
HERNFHR Fro

Precision ype hydraulic arm

;

GINI004 GIN-IOPAL  GIN-S00ALL Unit:mm

Arm Length Base Dimension
Power g L3 ' ' N.W.|Price

Holding| L1 L2 L w H

Order No., Model

5486-01 300A 100kgf | 120 118 | 70| 80 50 55 |2.3kg| 2245

5486-02 |300AL 100kgf | 168 166 | 70| 80 50 55 |2.5kg| 2768

5486-03 |300ALL 160kgf | 285 280 | 95| 120 50 55 |3.5kg| 5995

5

MmITA

]

=

3

Mechanical tools

AFRE EE R2FKE fKFEE _ _

mMEERX BEER kg mm mm mm

Maxx250 250 20 1500 I

Maxx500 500 25 2000 a

Maxx1000 1000 40 3000 h;‘-_-qw

Maxx1500 1500 45 3000 g |

Maxx2000 2000 55 3000

-E-
Maxx250 100 10 1500 300 “:‘_@L
Maxx500 200 15 2000 400
WE Maxx1000 400 25 3000 450 Qj

Maxx1500 600 30 3000 500 I A i

Maxx2000 800 35 3000 600
¥$E: £0.005 Unit:mm
OrderNo.|  Model A|l B | c|D| E| F| G ?‘K"é‘;' Price
5566-250 Max X250 189 185 79 79 63 35 43 6 7500
5566-500 Max X500 249 | 358 | 106 101 88 52 60 15 13200
5566-1000 MaxX 1000 342 316 | 133 131 88 52 60 34 19200
5566-1500 MaxX 1500 383 | 457 | 166 171 122 64 87 66 | 29550
5566-2000 MaxXx2000 457 457 | 166 171 122 64 87 80 35400

Th &t

LR
R
B

W

I&

2 E
B




